# EDUCATORS' PERCEPTIONS FOR LOW PERFORMANCE ON MATHEMATICS STATE ASSESSMENTS AMONG HIGH SCHOOL ALGEBRA STUDENTS WITH LEARNING DISABILITIES IN AN ALTERNATIVE EDUCATION PROGRAM IN CALIFORNIA: AN EXPLANATORY CASE STUDY

by

D. Sung Choe

Liberty University

A Dissertation Presented in Partial Fulfillment

Of the Requirements for the Degree

Doctor of Philosophy

Liberty University

2024

# EDUCATORS' PERCEPTIONS FOR LOW PERFORMANCE ON MATHEMATICS STATE ASSESSMENTS AMONG HIGH SCHOOL ALGEBRA STUDENTS WITH LEARNING DISABILITIES IN AN ALTERNATIVE EDUCATION PROGRAM IN CALIFORNIA: AN EXPLANATORY CASE STUDY

by D. Sung Choe

A Dissertation Presented in Partial Fulfillment

Of the Requirements for the Degree

Doctor of Philosophy

Liberty University, Lynchburg, VA

2024

APPROVED BY:

Dr. Traci Eshelman, Ph.D., Committee Chair

Dr. Craig Bailey, Ed.D., Committee Member

## Abstract

This case study addressed educators' perceptions regarding the low performance on state mathematics assessments among high school algebra students with learning disabilities in an alternative education program in a California school district. Vygotsky's theory on the zone of proximal development served as the overarching framework for mathematics content that students with learning disabilities in the alternative education environment should learn at various stages of chronological age. The central research question was: What are educators' perceptions of low performance on mathematics state assessments among high school algebra students with learning disabilities in an alternative education program in California? The methodology used was the qualitative intrinsic case study approach drawing from a sample of 60 educators at Alpha County School District in California. The data was collected from a survey, individual interviews, and archival records of student transcripts and state mathematics assessment results from 2016 to the present. A synthesis of this data analyzed generated a theme and two sub-themes for all educators in AE programs to consider when implementing math curricula and instructional strategies to support students with LD in AE settings to improve their performance on state mathematics assessments in algebra.

*Keywords:* alternative education, special education, mathematics assessments, educators, algebra

# **Copyright Page**

Copyright 2024, D. Sung Choe

# Dedication

I dedicate this dissertation to God, my creator, from whom all good things flow! His mercies and blessings never cease.

To my wife, who gave me space, time, and encouragement to keep writing.

To our children, may you always remain in the center of God's will.

To my colleagues at school who provided me with their time and insights.

To the loving memory of our Cosmo. One day, we will see each other again.

# Acknowledgments

I would like to acknowledge the support of my dissertation chair and committee. I thank the IRB and the School of Education for their support.

I would like to acknowledge the support of the school district, especially the Information Technology branch.

Abstract
Copyright Page
Dedication
Acknowledgments
List of Tables
List of Figures
List of Abbreviations
CHAPTER ONE: INTRODUCTION 17
Overview
Background
Historical Context
Social Context
Theoretical Context
Problem Statement
Purpose Statement
Significance of the Study
Theoretical
Empirical
Practical
Research Questions
Central Research Question27
Sub-Question One

Sub-Question Two
Sub-Question Three
Definitions
Summary
CHAPTER TWO: LITERATURE REVIEW
Overview
Theoretical Framework
Related Literature
Overview of AE
Characteristics of Students Enrolled in AE Programs
Instructional Settings and Foci of AE Programs
Special Education in AE Programs
Individual Education Program Implementation in AE Programs
AE Teacher Training and Students with Learning Disabilities
Potential Inappropriate Disability Identification of Students with Learning
Disabilities
Technology and Students with Learning Disabilities
Mathematics and Special Education in AE Environments
Mathematics Testing
Zone of Proximal Development and Mathematics in Special Education
Summary 60
CHAPTER THREE: METHODS
Overview

Research Design
Research Questions
Central Research Question
Sub-Question One
Sub-Question Two
Sub-Question Three
Setting and Participants
Setting
Participants
Recruitment Plan
Researcher's Positionality
Interpretive Framework
Philosophical Assumptions
Ontological Assumption71
Epistemological Assumption71
Axiological Assumption72
Researcher's Role
Procedures73
Data Collection Plan
Survey
Individual Interviews
Archival Records
Data Analysis

Trustworthiness	
Credibility	
Transferability	
Dependability	
Confirmability	
Ethical Considerations	
Permissions	
Other Participant Protections	
Summary	
CHAPTER FOUR: FINDINGS	
Overview	
Participants	
Anna	
Esther	
Matthew	
Thomas	
Candace	
Deborah	
Hope	
Mary	
Sophia	
Luke	
Results	

Themes and Sub-themes	106
Curriculum	107
Instruction and Technology	111
The Individualized Education Program	116
Outlier Data and Findings	119
Outlier Finding #1	119
Outlier Finding #2	119
Research Question Responses	120
Central Research Question	120
Sub-Question One	122
Sub-Question Two	123
Sub-Question Three	123
Summary	125
CHAPTER FIVE: CONCLUSION	126
Overview	126
Discussion	126
Summary of Thematic Findings	127
Interpretation of Findings	127
Special Education in Alternative Education Learning Environments	128
Mathematics and Special Education	131
Implications for Policy	
Empirical and Theoretical Implications	134
Empirical Implications	135

Theoretical Implications	137
Limitations and Delimitations	138
Limitations	138
Delimitations	138
Recommendations for Future Research	139
Conclusion	141
References	142
Appendix A	175
Appendix B	176
Appendix C	188
Appendix D	191
Appendix E	193
Appendix F	194
Appendix G	199
Appendix H	203
Appendix I	234
Appendix J	236
Appendix K	264
Appendix L	265
Appendix M	268
Appendix N	291
Appendix O	320
Appendix P	321

# List of Tables

Table 1. Survey Questions	70
Table 2. Interview Questions	80
Table 3. Participants	96
Table 4. Survey Result   20	04
Table 5. Student Archival Records (2016-17)    22	37
Table 6. Student Archival Records (2017-18)    22	37
Table 7. Student Archival Records (2018-19)    24	41
Table 8. Student Archival Records (2021-22)    24	45
Table 9. Student Archival Records (2022-23)    22	50
Table 10. Student Earning 5 Credits or More with Grade D- or Higher (2016-2023)	61
Table 11. Themes and Sub-themes    32	20

# List of Figures

Figure 1. Participants Working Divisions	91
Figure 2. Participants Possession of Mathematics Credential or Authorization	92
Figure 3. Participants Years of Teaching Experience	93
Figure 4. Participants Years of Experience in Alternative Education	94

# List of Abbreviations

Alpha County School District (ACSD)

Alternative Education (AE)

California Assessment of Student Performance and Progress (CAASPP)

California Commission on Teacher Credentialing (CA CTC)

California Department of Education (CA DOE)

Elementary and Secondary Education Act (ESEA)

Emotional Behavior Disorder (EBD)

Evidence-based Intervention (EBI)

Flipped Classroom (FC)

Free appropriate public education (FAPE)

Individual Educational Program (IEP)

Individuals with Disabilities Education Act (IDEA)

Learning Disabilities (LD)

Mathematics Learning Disability (MLD)

Multi-Tiered System of Supports (MTSS)

Positive Behavioral Interventions and Supports (PBIS)

School-wide Positive Behavior Interventions and Supports (SWPBIS)

Specialized Academic Instruction (SAI)

Science, technology, engineering, and mathematics (STEM)

Specific learning disability (SLD)

Student Programs and Services (SPS)

Students with disabilities (SWD)

Technological Pedagogical Content Knowledge (TPACK) Universal Design for Learning (UDL) Video-based Instruction (VBI) Virtual Manipulatives (VM) Zone of Proximal Development (ZPD)

#### **CHAPTER ONE: INTRODUCTION**

#### **Overview**

As a marginalized group of individuals, the lifetime earning capacity of students with learning disabilities (LD) in alternative education (AE) settings will continue to decline in a post-COVID-19 economy (binti Jamal & bin Mohd Rashid, 2023). High school students with LD may have difficulty obtaining employment (Taylor, 2016). These individuals may earn more than \$200,000 less in income during their adult lives than their counterparts in the general education setting (binti Jamal & bin Mohd Rashid, 2023; Taylor, 2016). With about 550,000 students enrolled in AE programs in the United States (Aspiranti et al., 2021), youth face barriers to employment after involvement with the juvenile justice system (House et al., 2018). To offset these income losses, these students should obtain, at minimum, a high school diploma. One potential measure of high school reading, writing, and arithmetic proficiency may be the state standards test administered toward the end of each academic year. High school students with LD in AE learning environments have generally struggled to achieve basic proficiency levels on the state mathematics standards test since the 1960s. Minimal research exists on special education and mathematics assessments in an AE setting (Ballard & Bender, 2022; Özdemir & Kılıç, 2023; Phillippi et al., 2021). More in-depth research could provide valuable insights into ways to help educators create a more effective learning environment for students with LD in AE settings. This chapter reviews Vygotsky's theory on child development and zones of proximal development (ZPD) as an overarching framework (Vygotsky, 1986; Vygotsky et al., 1979). This chapter provides an overview of AE's background, including historical, social, and theoretical contexts, the problem statement, the significance of this study, and research questions.

#### Background

Further research is required on state-level math assessments for students with learning disabilities in AE settings. The imperative to establish a clear definition of AE, the dynamic nature of AE in the United States, and the need to enhance mathematics instructions for students with LD have driven the development of AE (Ballard & Bender, 2022; Kumm et al., 2020). Foundational studies on AE (Lange & Sletten, 2002) paved the way for other research (Aron, 2006; Fortems et al., 2023; Zhang et al., 2011); however, there continue to be gaps in literature over the years the intersect the study of AE, special education, and mathematics. This section will delve into the historical, societal, and theoretical contexts of special education, AE, and mathematics.

# **Historical Context**

Since the 1960s, AE in the United States supported at-risk students from dropping out of school (Aron, 2006). There needs to be more consensus over a working definition of AE (Ballard & Bender, 2022; Grasley-Boy et al., 2021; Kumm et al., 2020; Schornack & Karlsson, 2021). A possible working definition of AE encompasses educational activities outside the scope of traditional K-12 school systems (Aron, 2006; Lehr et al., 2008; Young, 1990). AE programs remain public, provide nontraditional education, and cater to students' needs that regular public schools do not (Porowski et al., 2014; Sable et al., 2010). These AE programs remain outside the purview of regular, special, or vocational education (Sable et al., 2010). AE programs adapted to diverse student needs over time (Lange & Sletten, 2002; Sable et al., 2010). Students who are at risk of falling behind academically often attend AE programs. Traditional public-school settings fail to adequately address higher-risk students with learning disabilities or a higher likelihood of dropping out (Lange & Sletten, 2002).

AE programs serve multiple purposes despite different categorizations. AE programs address behavioral, counseling, special education, and credit-lacking students (Kumm et al., 2020; Modesto, 2018). Students with LD may also exhibit these characteristics with addiction concerns. Therefore, AE programs have evolved to the point where a single AE program can provide services that cross all three types of historical AE programs. This case study explores one American school district that offers juvenile detention centers, charter schools, credit recovery programs, special education services, and social-emotional counseling services to these different instructional settings for at-risk students.

The California Department of Education (CA DOE) establishes instructional guidelines for kindergarten through twelfth grade (CA DOE, 2021). Specifically, if seventh or eighth-grade students do not meet Algebra 1 requirements, they must pass the Algebra 1 requirement during their high school years. Schools assume that students have acquired the necessary knowledge in previous classes at an earlier age and should have maintained this knowledge when taking high school algebra classes. Students of different ages ranging from 14 to 18 compromise the same algebra class. To fulfill a graduation course requirement, the same algebra class often includes students with LD, regardless of their intellectual ability. While teachers may use various instructional strategies, such as Universal Design for Learning (UDL) methods, such instruction may only suit some students in a group setting.

# **Social Context**

The evolution of AE programs in the United States reflects an effort to meet the needs of students in a changing social landscape. Originally designed to cater to students with varying backgrounds, skills, and interests, AE programs attempted to provide a personalized learning experience. Students who failed in a traditional academic setting received negative stigmatization

19

because of AE program enrollment (Engelmann, 2022). The number of students identified as atrisk increased in the early 1970s (Lange & Sletten, 2002). These at-risk students had a more significant potential of dropping out of school due to academics, relationships with teachers and peers, and school size (Lange & Sletten, 2002). Students identified as special needs, specifically those with emotional disorders, chose AE programs over the traditional public school system. AE programs now provide educational services for juvenile detention, day reporting centers, teenage pregnancy centers, and rehabilitation facilities (Christian, 2022; Leone et al., 2002; Miller, 2019).

AE programs outside the public school system developed in two ways to reflect the changing educational landscape in the United States. First, to alleviate the substandard education minorities received in the United States, public schools were developed to provide better quality education. (Lange & Sletten, 2002). Second, non-public education opposed the existing educational system because the focus was on the community rather than the individual student. Finally, there was an overarching push for alternatives outside the standard public school system, which spurned a reform movement within the public school system (Lange & Sletten, 2002). Despite traditional AE programs focusing on incarcerated youth, students who dropped out of school, and students with emotional or behavioral issues, some AE programs were developed to meet the growing social needs of adolescent mothers (Aron, 2006; Cabral et al., 2023).

AE programs within the public school system pressed for change where educators designed other options to the conventional education available (Lange & Sletten, 2002; Young, 1990). Such schools maintained a child-centered approach involving parents, students, and teachers where there was autonomy in learning and pace, and evaluation focused on noncompetition. In the 1970s, public AE programs grew from 100 to over 10,000 nationwide (Lange & Sletten, 2002). In the 1980s, AE programs focused on children performing below-average achievement levels (Lange & Sletten, 2002). Some AE programs today have expanded into career and technical education for students traditionally identified as at-risk (Lea et al., 2022).

The changing learning environment reflected a social change that influenced teachers and students. The educational system from the 1960s evolved from an Industrial Age-based educational system (Reigeluth et al., 2017). This educational paradigm focused on a top-down approach where teachers were the sage on the stage, and students were given information to learn. As society developed into a more information-based economy, teachers were to step down from the academic stage to guide students to become creators of knowledge where learning is more student-centered (Reigeluth et al., 2017).

## **Theoretical Context**

The sociocultural theory of cognitive development provides the theoretical framework to understand the causes of low standardized math test scores among high school algebra students with LD (Fetler, 2001; Vygotsky, 1986; Vygotsky et al., 1979). Students develop cognition based on social interactions (Vygotsky, 1986; Vygotsky et al., 1979). The teacher-student interaction in the classroom would be the most significant social interaction in a school setting for students. The lessons teachers provide would influence the students' cognitive development (Arafah, 2015; Enders & Kostewicz, 2023; VanUitert et al., 2020). Teachers' professional development using culturally competent lessons for students in AE programs would be a constructivist model approach affecting students with LD academic achievement and assessments (Polleck & Yarwood, 2020). Teaching critical literacy should be a priority for student achievement (Polleck & Yarwood, 2020). Furthermore, a literature review of AE programs and the implementation of positive behavioral interventions and supports (PBIS) that improved academic outcomes for students with emotional behavior disorders (EBD) and LD in AE program placement due to behavioral issues in differing high school grade levels (Grasley-Boy et al., 2021; Welsh, 2022). The use of evidence-based algebraic instruction and interventions incorporating manipulatives and peer-assisted learning influences mathematics achievement among students with LD (Bone et al., 2021).

The application of the ZPD is evidenced in high school algebra students with LD in the classroom. Students with LD exhibit varying levels of intellectual abilities within the same grade level. For example, high school students with LD may be in different ZPDs while in the same Algebra 1 class; moreover, each student may possess different mastery levels of basic mathematics skills within the same course. For example, based on the ZPD principle, students aged 14 or 15 may not have acquired the mathematical foundation as a 17- or 18-year-old. Teachers may only sometimes provide the most appropriate scaffolding needed individually. Other classroom constraints include inadequate instructional time given a class period, a lack of appropriate educational technologies, and class size.

Vygotsky's theory on learning and development and ZPD offers insight into why high school students with LD demonstrate low levels of mathematics mastery. The developmental process does not take a linear path of attaining knowledge but rather a mixture of individual and interpersonal exchanges (Gindis, 1999). Moreover, this trend of inclusion appears to be a particular goal of most Western school systems like the United States (Hausstätter & Vik, 2021). Schools have consistently moved to include students with LD with the mainstream population of students without LD. In this practice of inclusion, high school students with LD may be in different ZPD while in the same Algebra 1 class as their mainstream counterparts and possess different mastery levels of basic mathematics skills within the same class. Furthermore, despite best intentions and efforts, teachers may not necessarily provide the most appropriate scaffolding needed individually because of a lack of understanding of the individual student's ZPD and sociocultural environment.

# **Problem Statement**

The problem is that high school algebra students with LD in AE programs perform below or far below basic levels on the California State mathematics standards test despite receiving passing grades in the related algebra course. Over the past 20 years, research has suggested that teacher preparation and credentialing standards, technology, poverty, and economics offer potential explanations for low test scores (Fetler, 1999). AE programs address the educational needs of students outside the traditional kindergarten to twelfth-grade academic environment (Aron, 2006). Students in these programs are often categorized as at-risk (Fortems et al., 2023). For example, students with LD in grades 3 through 8 demonstrated a decline in mathematics achievement (Brown et at., 2019). Students with LD have an individual education program (IEP), qualifying for special education services under the category of specific learning disability (SLD). However, specific descriptions of the learning disability are not specified within SLD. Developmental dyscalculia could be a qualifying factor for special education services, given that this cognitive disorder affects the brain to conduct mathematical calculations (Košč, 1974). The literature review revealed several themes based upon this theory that influenced this phenomenon: the quality of teacher preparation in mathematics, educational technologies (Bouck & Satsangi, 2020), and appropriate instructional strategies based on the ZPDs (Vygotsky, 1986; Vygotsky et al., 1979).

#### **Purpose Statement**

The purpose of this case study was to understand educators' perceptions regarding factors that influence high-school algebra students with LD in an AE setting to score below and far below basic proficiency levels on the California math standards test despite receiving credit for the algebra course. At this stage in the research, below and far below basic proficiency levels on the math standards test will be defined through the CA Dashboard. Performance levels are defined by five-colored segments of red, orange, yellow, green, and blue from lowest performance (red) to highest performance (blue) (CA Department of Education, 2024). No differentiation will be made on the specific types of learning disabilities among high school students in this study because no distinction is made in the mathematics course vis-à-vis learning disability because the designation of SLD encompasses a multitude of disabilities (Küpper, 2000; Yılmaz et al., 2022). No differentiation is made between Algebra 1 and the Integrated Mathematics 1 courses because both classes satisfy the California state math graduation requirement. A review of records and archives dating back to 2018 will analyze the final grades of high school students with LD who completed Algebra 1 or Integrated Math 1, as well as their performance on the California math standards assessment. On May 29, 2020, Governor Gavin Newsom (CA) suspended all state student assessments through Executive Order N66-20 (CA Commission on Teacher Credentialing (CA CTC) (CA CTC, 2023). Assessment results will be examined for 2018, 2019, 2021, and 2022 spring semesters. Data will be collected from one California school district.

#### Significance of the Study

This study could influence special education in supporting high school students with LD and mathematics learning in diverse learning settings. This study can potentially influence instructional methods, mathematics curriculum, and professional development opportunities for all teachers and administrators who work with students with LD (Enu, 2021; Nindiasari & Yuhana, 2020; Riyati & Suparman, 2019). Numerous factors influence high-school algebra students with LD during mathematics instruction and their state math standards test performance. Before, during, and after the COVID-19 pandemic, levels of teacher preparation, advances in educational technologies, and instructional strategies influenced how students with LD mastered algebra content in preparation for the California math standards test (Alabdulaziz, 2021; Averett, 2021; Choate et al., 2021). While incorporating various educational technologies, instructional strategies such as UDL and the flipped classroom influenced student mathematics learning (M.K. Kim et al., 2014). Furthermore, instructional time for students in AE programs has been sacrificed for other issues addressing social-emotional counseling, suspensions, and expulsions (Minkos et al., 2023; Phillippi et al., 2021).

# Theoretical

The theoretical significance of this study contributes to an understanding of Vygotsky's sociocultural theory of learning from the perspective of AE learning environments. Accordingly, students learn from social interactions. If students in AE environments spend more time addressing counseling issues, students may learn that academic learning may take a secondary position in the importance of a learning environment. AE programs focus on supporting students' social-emotional health through counseling services, especially in a post-COVID-19 environment (Minkos et al., 2023; Phillippi et al., 2021). This study could add to the theoretical literature in providing appropriate grade-level mathematics instructional support that correctly addresses the ZPD levels for students with LD in AE environments.

# Empirical

The empirical significance of this study will add to the literature on AE in general and fill the gap in the literature through a study on the performance of high school students with learning disabilities in AE settings on algebra assessments (Moh'd et al., 2021; Yamchi et al., 2021). Examining student grades and results from state math assessments will provide discussion areas for educators in examining the mathematics curriculum, instructional strategies, and specific mathematics skills students with LD should focus on in AE settings. This study fills the gap from the perspective of educators working with students with LD in the AE environment regarding why these students perform below or far below basic proficiency levels in the state mathematics tests.

## Practical

The practical significance of this study is to support students with learning disabilities, their families, teachers, and administrators in AE programs with knowledge to better address mathematics learning. Students with learning disabilities in AE settings are a marginalized group of students. Being categorized as an at-risk student has a stigma of being a problem child. This study has the potential to offer teachers and administrators working with students with LD in AE environments the additional skills to help these students overcome math anxiety and perform better on state math assessments (Ennis & Losinski, 2020; Mulcahy et al., 2023; Myung & Hough, 2020). Educators can reflect upon their teaching practices based on their fellow educators' perceptions without fear of reprimand or reprisal. At an organizational level, this study lays a foundation for future research into mathematics professional development. Regarding the field of special education, this study begins the discussion of the learning disability of dyscalculia in AE.

#### **Research Questions**

This qualitative explanatory case study aims to explore educators' experiences with highschool algebra students with LD in AE learning settings and performances on the CA state math California Assessment of Student Performance and Progress (CAASPP) (CA DOE, 2024). All students in California from grades three through twelve will take the Smarter Balanced Summative Assessments, California Alternate Assessments, California Science Test, and the California Spanish Assessment (CA DOE, 2024). This study will address the mathematics portion of the Smarter Balanced Summative Assessment that tests students' knowledge of Integrated Math 1 or Algebra 1 concepts. Tusing a co support student achievement on these types of assessments, educators have incorporated various educational technologies, instructional strategies like the UDL and the flipped classroom (FC) to support mathematics learning (Galindo-Dominguez, 2021; Howell, 2021; Jdaitawi, 2021). However, students with LD in AE programs often lack instructional time due to suspensions and expulsions from school (Fortems et al., 2023). This study could provide new insights into the ZPD of students with LD in AE learning environments for educators to use during math curriculum development and instructional strategies. This study attempts to answer the following central research question and sub-questions.

# **Central Research Question**

What are educators' perspectives on possible explanations for the low performance on mathematics state assessments among high school algebra students with learning disabilities in AE settings despite receiving graduation credit for Algebra 1?

# **Sub-Question One**

What are educators' perceptions of mathematics training and professional development addressing high school students with LD in an AE environment?

# **Sub-Question Two**

What are the attitudes of educators towards technology in the learning of algebraic concepts among high school students with learning disabilities in AE settings?

# **Sub-Question Three**

What are educators' experiences with the zone of proximal development math skills needed by students with learning disabilities to acquire algebraic knowledge in AE settings?

# Definitions

The terms used in this paper are commonly known. Below is a list of terms with abbreviations that remain broad and require clarification.

- Alternative education (AE) While the federal definition of AE remains broad, AE
  programs are intended to educate at-risk students within the traditional education system
  (Ballard & Bender, 2022).
- Computer-aided instruction (CAI) Using a computer to provide educational instruction (S.J. Kim & Xin, 2022).
- 3. *Dyscalculia* An inability to acquire knowledge of basic math facts, numerical quantities, and calculations (Mutlu et al., 2022).
- 4. Video-based intervention (VBI) Video modeling of instruction (Satsangi et al., 2021a).

#### Summary

The problem is that high school algebra students with LD in AE programs perform below and far below basic levels on the California state mathematics standards test despite receiving passing grades in the related algebra course. The purpose of this case study will be to understand educators' perceptions regarding factors that influence high-school algebra students with LD in an AE setting to score below and far below basic proficiency levels on the California math standards test despite receiving credit for the algebra course. This case study considers educators' perceptions of low-performance levels on state mathematics assessments among high school algebra students with LD in an AE academic setting. While AE provided services for at-risk students in the United States since the 1960s, further research on the intersection of AAE, special education, mathematics assessments, and educator perspectives is essential to stop the low performance on math assessments by students with LD. Since its inception, there has been no consensus definition of AE; moreover, given the growing diversity of students where the traditional public education system may not be suitable, AE programs have grown to reflect this diversity. Considering a social constructivist perspective, Vygotsky's ZDP offers insights into the learning environment and mathematics content instruction students with LD should be taught in AE settings. An examination of student records and interviews from administrators could provide further insight into better understanding low-performance levels of state math assessments of students with LD in an AE environment.

#### **CHAPTER TWO: LITERATURE REVIEW**

#### **Overview**

A literature review was conducted to explore low standardized math test scores among high school algebra students with LD in California from the perspectives of teachers and administrators responsible for special education services in an AE learning environment. Vygotsky's theory on ZPD and child development serves as the overarching framework during this literature review (Vygotsky, 1986; Vygotsky et al., 1979). Contemporary research on mathematics assessments and high school students with LD in AE settings is lacking. An analysis of recent literature is provided on AE, special education within AE learning environments, and mathematics and special education in AE settings.

# **Theoretical Framework**

Vygotsky's sociocultural theory of cognitive development provides the theoretical framework to understand the low performance on state standardized math tests among high school students with LD in an AE learning setting. Vygotsky's views on ZPD and the social interactions among students, teachers, staff, and family members (Probine & Perry, 2021) are fundamental to understanding how a child learns (Gindis, 1995). This theory provides the framework to explore the connection between mathematics academic content and skills possessed by high school algebra students with LD various issues (Vygotsky, 1986; Vygotsky et al., 1979). The ZPD describes the distance between actual development or achievement and where the student could achieve with adult support (Vygotsky et al., 1979). ZPD reveals a general gap between what high school students with LD enrolled in the Algebra 1 course should have learned and what prior knowledge was needed to acquire new knowledge successfully. The ZPD should guide the instructional aspects of mathematics learning in the AE environment.

As the widely accepted founder of the sociocultural theory of cognitive development, Lev Semenovich Vygotsky (1896-1934) believed that learning occurs through social interactions (Mahn, 1999). Despite growing up in a time of political and economic unrest, he believed the principles of historicism and social determination of behavior could transform the individual (Moll, 2013). Vygotsky viewed Pavlov's theory of conditioned reflexes as a foundational component of the sociocultural theory; however, Vygotsky qualified Pavlov in that social interactions influenced the development of the organism – the individual (Moll, 2013).

Vygotsky challenged the traditional belief that children with special needs should be treated through the lens of biology but through an understanding that disability influences social relationships (Vygodskaya, 1999). Special education should prevent, correct, and build up the skills which children lack (Gindis, 1995). The developmental process does not take a linear path of attaining knowledge but rather a mixture of individual and interpersonal exchanges (Gindis, 1999). Vygotsky believed that a comprehensive study of the child was crucial and that making a solid connection between the child and parents lays the foundation for providing the necessary support (Vygodskaya, 1999). The magnitude of ZDP reflects each child's learning potential (Gindis, 1995). Students with LD may achieve at different rates while in the same chronological age grouping of the ZDP. The causes of these differences vary from different types of learning disabilities and socioeconomic environments (Fetler, 1999).

High school students with LD taking Algebra 1 courses may receive the same academic content; however, these students may also be of different chronological ages. The math knowledge among these students would vary because older students would have been exposed to more math content than younger students. Students need to receive the appropriate instruction at each grade level. High school students with LD may be in different ZPDs while in the same

Algebra 1 class; moreover, each student may possess different mastery levels of basic mathematics skills within the same course. Based upon Vygotsky's ZPD, students aged 14 or 15 may not have acquired the mathematical foundation as a 17- or 18-year-old. Teachers may not necessarily provide the most appropriate scaffolding needed on an individual basis because of a lack of understanding of the individual student's ZPD, learning disability, and sociocultural environment.

Vygotsky's theory on learning and development and ZPD offers insight into why high school students with LD demonstrate low levels of mathematics mastery. The development of students with LD results from social learning and includes how the child has internalized cultural and social relationships (Gindis, 1995). This trend of inclusion appears to be a particular goal of most Western school systems like the United States (Hausstätter & Vik, 2021). Schools have consistently moved to include students with LD with the mainstream population of students without LD. In this practice of inclusion, high school students with LD may be in different ZPD while in the same Algebra 1 class as their mainstream counterparts and possess different mastery levels of basic mathematics skills within the same instructional setting.

## **Related Literature**

This section's purpose is to synthesize the existing literature on topics addressing low mathematics standardized test scores among high school algebra students with LD in AE settings in a California school district. This section addresses the existing literature on AE, special education in AE programs, and mastery on the state standards mathematics tests. With a growing focus on science, technology, engineering, and mathematics (STEM) in high school education, students with LD may be disadvantaged, given the academic focus on advanced curricular topics instead of necessary scaffolding in basic mathematics skills. Moreover, a greater emphasis on socio-emotional counseling encroaches on the finite number of instructional minutes available to students during the school day. Educational institutions and practices must focus on more significant student-focused learning in a rapidly changing economic system to meet the educational requirements of an information age-based economy (Reigeluth et al., 2017). If state assessments are benchmarks for future college and career preparation, students with LD in AE settings deserve the best possible educational services (CA Department of Education, 2024).

The California (CA) DOE sets academic standards in English, social science, mathematics, science, physical education, and electives for all public schools in California to address (CA DOE, 2021). CA high school students must pass the Algebra 1 requirement during secondary education (CA DOE, 2021). Schools assume that students have acquired the necessary knowledge in previous classes at an earlier age and should have maintained this knowledge when taking high school algebra classes. Students of different chronological ages (14 to 18) are grouped in the same algebra class regardless of the high school grade level the students are in if these students have not met the algebra graduation requirement. Furthermore, students with LD are generally grouped in the same algebra class regardless of intellectual ability to meet class scheduling purposes. While teachers may scaffold and use instructional strategies like UDL, such instruction may not necessarily be the most appropriate for individual students within a group setting.

Despite a general lack of research on mathematics assessments among high school students with LD in the AE learning environment (Ballard & Bender, 2022; Gersib & Mason, 2023), four themes emerge from this literature review: (1) there is an increasingly growing population of students with LD positively affecting the growth of AE program, (2) AE programs tend to focus on social and behavioral issues rather than academic learning (Ballard & Bender, 2022; Kumm et al., 2020; Minkos et al., 2023), (3) a general lack of teacher preparation in mathematics to support the academic content needs of students with LD (Patrick et al., 2023), and (4) appropriate implementation and incorporation of instructional techniques positively affect student achievement levels (Valdez & Maderal, 2021).

This literature review will address an overview of AE, special education in AE programs, and mathematics and special education in AE programs. The AE overview will include a discussion of the characteristics of AE students and the instructional setting and focus of AE programs. The section on special education in AE programs will address IEP implementation, AE teacher training and students with LD, the potential inappropriate disability identification of students with LD, and technology and special education. The section on mathematics and special education in AE programs will include a discussion of mathematics testing and the ZPD and mathematics in special education.

# **Overview of AE**

AE in the United States stems from the 1960s (Aron, 2006). While there is no universal definition of AE, an AE school is a public K-12 school that addresses student needs that are typically unmet in regular school (US DOE, 2017). AE programs provide educational services to students who were not successful in the general education setting of a public school because students were failing academically or having learning difficulties because of disabilities, behavioral challenges, or poor attendance (Azid et al., 2022; Fortems et al., 2023; Kumm et al., 2020; McGee & Lin, 2020). Many AE programs focus on students' behavior in these institutions (Aspiranti et al., 2021; House et al., 2018; Minkos et al., 2023). A large portion of AE history emphasizes the emotional and behavioral aspects of students over academics. AE programs have historically focused on three characteristics of students: dropout prevention, special education,

and at-risk challenges (Afacan & Wilkerson, 2024; Lange & Sletten, 2002; Moore et al., 2020). In this study, this school district provided AE services for students enrolled in juvenile detention centers, substance abuse day treatment centers, community schools, and a charter school (Christian, 2022). The following subsections will address the characteristics of students enrolled in AE programs and the instructional settings and focus of AE programs.

# **Characteristics of Students Enrolled in AE Programs**

Students enrolled in AE programs have historically been categorized as at-risk students. Many AE programs address at-risk students expelled from traditional public schools for disciplinary reasons (Engelmann, 2022; Ohrt et al., 2021). The characteristics of at-risk students have expanded to include school dropouts, students with disabilities, incarcerated youth, pregnant teens, and students with emotional, behavioral, and substance abuse challenges. AE schools have evolved from the 1970s to reflect the changing needs of society and are becoming more commonplace to address the educational needs of students who have needed more success in the traditional school setting (Aron, 2006; Meador, 2020; Pettit, 2023). The historical trend of AE programs expanded services that initially focused on school dropouts to students with disabilities and students with high-risk health behaviors (Lange & Sletten, 2002; Moore et al., 2020).

Additional characteristics of the AE population included those students disenfranchised with the school system because of social, economic, and political issues over social injustice (Aspiranti et al., 2021; J. These juveKim & Taylor, 2008). Students with special needs comprise a large AE environment population (Fortems et al., 2023; Mathur et al., 2021; Moran, 1991). AE programs later developed to disproportionately include a large segment of students from poor, disabled, bilingual, and minority groups (Guerin & Denti, 1999; Mallett et al., 2023; Welsh,

2022). Youths in the juvenile correctional system make up a significant minority number of students with learning disabilities (Leone et al., 2002; Moran, 1991; Ochoa et al., 2021). These juveniles exhibited poor academic abilities due to dropping out of school and delinquent behaviors (B. Kim et al., 2021; Leone et al.). Pregnant and teen parents make up a unique group of the AE student population (Brouwer et al., 2018; Jain et al., 2023).

There exists an overrepresentation of racial and ethnic minorities of incarcerated youth with disabilities. There has been a significant growth in the number of students enrolled in AE programs, with an overrepresentation of Black and Latino students (Dunning-Lozano, 2014; Mallett et al., 2023; Porowski et al., 2014; Schornack & Karlsson, 2021). Black and indigenous youths tend to exhibit higher rates of recidivism relative to other racial and ethnic groups (Strassfeld & Cherng, 2022). There is a rise in class-action lawsuits alleging that educational facilities for juveniles are not meeting federal law requirements under the special education law known as the Individuals with Disabilities Education Act (IDEA). Because officers in these secure juvenile facilities do not have the skill sets or training to provide legally mandated services to these incarcerated youths with disabilities, students with LD are being adequately serviced to meet their IEP needs (Miller, 2019; Noorman & Brancale, 2023). The focus of these facilities is to ensure security over academics, thus highlighting differences in philosophical beliefs in the approach to rehabilitating these youths.

## Instructional Settings and Foci of AE Programs

The instructional setting in AE is as diverse as AE programs that reflect the unique needs of its student population, with the relationships of students and teachers as a crucial element. The focus on fostering positive relationships is the foundational belief to students' success in AE programs. Some AE programs adopted an instructional model where the personal relationship
between teacher and student is focused (Venezia, 2021). Positive instructional environments created by teachers rank as the most significant in preventing at-risk students from dropping out of school (Shamrova et al., 2023; Venezia, 2021). Small classroom sizes, lower student-teacher ratios, a student-centered curriculum, flexible structures, and opportunities for student decision-making contribute to a positive learning environment, especially when at-risk students in juvenile detention centers have experienced very little in the decision-making processes (Fortems et al., 2023).

Instruction in AE programs tends to focus on at-risk, violent, and anti-social behaviors of students (Afacan & Wilkerson, 2024; Beqiraj et al., 2022; Leone et al., 2002; Miller, 2019; Tobin & Sprague, 2000). Building a positive learning environment that addresses student discipline and behavioral issues in AE environments is the building block of the instructional environment. In juvenile detention centers, incorporating school-wide PBIS Tier 1 interventions are designed to support a more positive experience for at-risk students (Smith et al., 2022; Griffiths et al., 2019; H. Kim et al., 2023). This holistic approach to mentoring students in AE contributes to a positive learning environment (Brouwer et al., 2018; Jain et al., 2023).

Student behaviors and other issues affect the instructional environment of AE programs (Azid et al., 2022; Phillippi et al., 2021). The lack of teacher preparation time, student documentation, and time spent addressing students' disruptive classroom behaviors influence the instructional environment (Phillippi et al., 2021). Teachers spent more time addressing student behaviors, contributing to less time spent on instructional practices and low assessment results. Tier 1 support for students with LD in an AE setting reduced behavior escalation (Minkos et al., 2023; Phillippi et al., 2021). Less time spent addressing behaviors could be used for instruction.

A positive relationship between the student and teacher is paramount to student success. The student-teacher relationship is most important to the educational success of students (Kennedy et al., 2022; Venezia, 2021; Xu et al., 2023). Teachers should have the ability to connect with their students to understand them better. For example, Vygotsky had the unique ability to connect with children who participated in his studies, resulting in a more thorough analysis of the child (Vygodskaya, 1999). This socio-cultural relationship provides an understanding of the student with LD to include support in improving academic achievement. Specific instructional strategies for the AE learning environment include games, student individuality, teamwork, and authentic connections with the learning materials to support student-teacher relationships (Kennedy et al., 2022). This constructivist framework provides the overarching framework for a thriving instructional environment for students with LD in AE academic programs.

The heavy emphasis on students' social-emotional well-being in AE programs appears to replace instructional time (Venezia, 2021). Social and emotional learning (SEL) is a growing aspect of AE instruction (Ohrt et al., 2021). The social interactions and dynamics of student interaction with all school aspects are a foundation for learning. Most instructional time is spent on social-emotional learning and other counseling services to help these students return to the community (Ochoa et al., 2021). Wholehearted teaching is about loving another human being enough to go above and beyond the teacher's classroom duties for a student's well-being (Venezia, 2021). Working above and beyond classroom duties reflects Maslow's belief that to meet the hierarchical needs of individuals, the lopsided emphasis on the social-emotional aspects of students competes with the limited resources of AE programs that must help these students return to the traditional school through credit recovery efforts. Moreover, AE schools may not

necessarily be using evidence-based intervention (EBI) approaches to address students' emotional and behavioral needs (Aspiranti et al., 2021).

## **Special Education in AE Programs**

The 1975 Education for all Handicapped Children Act called for all individuals under the age of 22 to receive a free and appropriate education (Christian, 2022; Moran, 1991). As part of IDEA, all students with disabilities, including incarcerated youth, must receive special education services, including transition services, as part of the IEP process (House et al., 2018; Strassfeld & Cherng, 2022). In California, school districts must form Special Education Local Plan Areas (SELPAs) to develop plans to deliver to students with special needs (Myung & Hough, 2020). Specialists do not always provide special education services. As part of the IEP process, transition services required to meet IEP requirements for youths with disabilities in the juvenile justice system rely on parole services due to limited resources (Mathur et al., 2021). Correctional officers in juvenile detention settings provide student support during instructional time and may not necessarily have been trained in special education instructional support techniques (Hester et al., 2024; Miller, 2019). The focus on physical safety and control over the students in the classroom remains central rather than the focus on academics due to at-risk behaviors (Leone et al., 2002; M. V. Young et al., 2010). AE schools are not necessarily focused on credit recovery and supporting students to return to comprehensive public school but instead became a receiving institution for students with emotional disturbance (ED) (Hoge & Rubinstein-Avila, 2014; Leone et al., 2002; M. V. Young et al., 2010).

Several themes emerge from the literature on AE programs and students with LD (Mathur et al., 2021; Strassfeld & Cherng, 2022). First, there needs to be more IEP implementation in AE environments. Second, AE teachers are not adequately trained to support

students with LD in supporting student achievement on standardized assessments in AE environments (Darling-Hammond, 2023; Hoge & Rubinstein-Avila, 2014; Koressel et al., 2022; Leone et al., 2002). Third, there may be an inappropriate identification of disability regarding mathematics among students with LD. Fourth, There appears to be a disconnect with the appropriate technology implementation to support student achievement (Serutla et al., 2024; Valdez & Maderal, 2021).

### Individual Education Program Implementation in AE Programs

The IEP is the legally binding document that guides special education services for students with LD among the student, parents (or educational rights holder), teachers, administrators, and related services personnel (Küpper, 2000). While highly individualized to meet the unique needs of students with LD, the IEP process contains universal components for all students with LD across the United States (McKenna et al., 2023). The IEP is an individualized document that contains the identification of disability, current levels of performance, annual goals, related services such as speech-language support, counseling, or adapted physical education, transition to adulthood needs, and participation in state and school district assessments (Beck & DeSutter, 2020; McKenna et al., 2023; Patti, 2015). The IEP follows the students to each school attended until age 22. The IEP contains timeframes for services to be provided to students with LD by school staff to meet instructional and noninstructional goals (Beck & DeSutter, 2020; Küpper, 2000; McKenna et al., 2023; Miller, 2019).

A lack of proper implementation of IEPs occurs (Wong & Rashid, 2022) because of a lack of training. The IEP requires transition services for students with LD to progress into postsecondary goals in career or continuing education (Christian, 2022; Miller, 2019). Personalized support, specifically for incarcerated youth, is required to implement IEP goals and support a successful social transition (Mathur et al., 2020, 2021; Zhang et al., 2011). Juvenile detention centers focus on facility security over academics (Miller, 2019). Students do not necessarily receive a differentiation of services (Miller, 2019), and such services are often provided by parole officers who are not necessarily trained in IEP transition support (Aspiranti et al., 2021; Mathur et al., 2021) because staff attention is spent on maintaining a secure environment. This lack of services represents potential non-compliance of the IEP, which can be interrupted as a violation of federal law (Beck & DeSutter, 2020; Küpper, 2000; McKenna et al., 2023).

Instruction in AE settings should consider the non-academic interventions of the IEP that incorporate academic standards and lessons relevant to students with LD to address mental health issues (Pérez-Ramírez et al., 2023). Providing cultural and inclusive lessons supports learning efforts among students with LD (Brown et al., 2019; Chang et al., 2022; Lindo, 2020). Culturally sensitive lessons also support the social-emotional and academic learning (SEL) of different types of learners (Donahue-Keegan et al., 2019; Yeh et al., 2022), especially with an overrepresentation of racial or ethnic minorities (Strassfeld & Cherng, 2022). These nonacademic interventions address issues that influence academic learning. In certain instances, addressing the mental health aspects of the IEP to reduce recidivism among students with LD in incarceration facilities and foster special education services (Pérez-Ramírez et al., 2023); however, instructional time is taken away from mathematics and other academic content areas.

### AE Teacher Training and Students with Learning Disabilities

The teacher plays a foundational role in the education of students. Teachers are perceived to be vital in promoting students to achieve the highest potential possible (Opper, 2019). Teacher credentialing and professional development are designed to provide a spectrum of training that prepares teachers to work with students. AE teacher credentialing requirements establish the foundational skills required by the state to provide instruction to students in AE learning environments. In California, AE teachers must possess a specialized academic instruction (SAI) to work with students enrolled in AE programs (California State Board of Education, 2023). The SAI credential incorporates two types of authorization: special education and a single subject or multiple subjects (elementary grade levels). SAI represents the most common educational service to support students with LD (Myung & Hough, 2020). An AE teacher working with high school students could possess a multiple-subject credential specializing in K-6th grade. In addition to credentialing requirements, teachers must be well-versed and trained in pedagogical strategies such as the FC model to support student achievement, engagement, learning targets, and student motivation (Howell, 2021; Jdaitawi, 2021; Strelan et al., 2020; Tang et al., 2023).

A highly qualified and trained teacher lays the instructional foundation for students with LD to acquire knowledge (Patrick et al., 2023; Phillippi et al., 2021). Teacher credentialing programs and n-the-job performance influence student achievement levels (Opper, 2019). However, AE settings must address high rates of staff turnover and inexperience working with students with LD (Minkos et al., 2023). Specifically, the characteristics of high school teaching staff influence the state math standards test (Darling-Hammond, 2023; Fetler, 1999). In particular, the quality of the teacher, namely how well the teachers are versed in mathematics concepts and instruction, influences student achievement on assessments (Fetler, 1999; Suhaini et al., 2020). One teaching skill is the use of various scaffolding techniques during instruction. Teachers' use of the reflecting thinking scaffolding technique supported student achievement in mathematics (Nindiasari & Yuhana, 2020). Another scaffolding technique is the use of blended learning strategies, which include collaboration among learners and positively influence student learning (Chen & Shin, 2022). Another instructional strategy teachers may use is the FC model,

which supports student improvement, where students take greater ownership of the learning process and are more socially interactive (Galindo-Dominguez, 2021; Öztürk & Çakıroğlu, 2021). Implementing an FC model supported student learning in mathematics in certain conditions when video instruction is integrated as part of student learning (Wei et al., 2020).

Professional development (PD) is a regular and ongoing process in learning from colleagues and working with curricula in teacher preparation (Çopur-Genctürk & Li, 2023). Often, however, the PD schedule of a typical school consists of many non-academic areas such as mental health, attendance, multi-tiered support services (MTSS), PBIS, and other human resources (HR) related topics. These PDs, while very pertinent to the running of schools, often compete with precious instructional time in the classroom. Over 25,000 domestic and international schools have implemented school-wide PBIS programs (Estrapala et al., 2021; Grasley-Boy et al., 2021). PBIS could be an effective training tool for educators working in day treatment programs, alternative schools, residential programs, and juvenile facilities (Minkos et al., 2023). AE teachers leaving the education profession due to student discipline and behavior issues influence student learning (Griffiths et al., 2019; Hester et al., 2020; Minkos et al., 2023).

A lack of teacher training to address such behaviors was addressed with PBIS Tier 1 interventions, which positively influenced the school climate, reduced disruptive behaviors, and improved teacher well-being (Griffiths et al., 2019; Marshall et al., 2022). A literature review of AE and PBIS strategies noted studies that focused on academic outcomes concerning the effect of PBIS Tier 1 interventions on improvements in grades and academic achievement on state reading and math tests (Estrapala et al., 2021; Grasley-Boy et al., 2021). More robust induction programs (Beagle, 2020; Helms-Lorenz et al., 2015) and ongoing academic-based PDs should occur to help teachers refresh their memories on math concepts that are directly applicable to

supporting students on state tests. Any change to teacher credentialing requirements must come from the state and may result in longer delays due to the length of the legislative process.

Professional development supporting teachers' understanding of assessment will improve teaching and learning. There are two types of assessments: formative and summative. These assessments have unique purposes but are essential in learning (Schellekens et al., 2021). Using incentives may influence on student performance (Rahimi et al., 2021). Teachers may need help understanding how to incorporate assessments into the classroom in high-stakes assessments at the state level. Teachers are aware of annual assessments by the state for high school students in all learning environments; moreover, class size, academic abilities of students, teacher training, and lesson development influence teachers' implementation of formative assessments in the classroom (Enu, 2021). This lack of teacher understanding of how to implement formative assessments in the classroom daily may contribute to a lack of exposure for students with LD and math anxiety for both students and teachers (Enu, 2021). Assessment itself becomes a learning activity for students (Gweon, 2021). Further research is recommended in the use of assessments and high school students with LD in AE settings, especially in mathematics.

## Potential Inappropriate Disability Identification of Students with Learning Disabilities

The United States Department of Education (US DOE) notes every IEP has a specific identification of disability for the student with LD. The Individuals with Disabilities Education Act (IDEA) identifies 13 categories of disabilities that could qualify students with LD for special education services (US DOE, 2017; Wilmshurst & Brue, 2018). *Dyscalculia* is an inability to acquire knowledge of basic math facts, numerical quantities, and calculations (Mutlu et al., 2022). *Dyscalculia* is a learning disability where an individual's ability to acquire knowledge of

basic math facts, numerical quantities, and calculations is impaired (Mutlu et al., 2022). Dyscalculia is a mathematics learning disability (MLD) whereby an individual cannot acquire and apply math skills and concepts to reason and solve math problems (Megawati & Sutarto, 2021; Yılmaz et al., 2022). MLD is not identified as a separate category of learning disabilities that qualifies students with LD for special education services; however, MLD could qualify under the SLD category (Milli et al., 2022). Students with MLD historically received less attention than reading education (Rivera, 1997). Effective teaching techniques to high school students with LD and low math performance should consider students' prior achievement, students' perceptions of self-efficacy, the content of instruction, management of instruction, educators' efforts to evaluate and improve instruction, and educators' beliefs about effective instruction were contributing factors to students experiencing repeated math failure (Hamukwaya & Haser, 2021).

A lack of understanding dyscalculia challenge teachers to fully support students with LD. Students with LD identified with dyscalculia have different levels of understanding of math concepts such as addition, subtraction, multiplication, and division. In general, dyscalculic students are about one year behind their peers without this disability in mathematics. Teachers should use concrete and direct instruction methods supported by appropriate technologies to provide effective math instruction. In the area of AE, AE teachers working with students with LD may already be in a setting where direct instruction is preferred to multimedia-based instruction where access to computer technology may be limited due to the security needs of certain AE facilities like juvenile detention centers (Stevens, 2021; Tolou-Shams et al., 2022). Students with MLD historically received less attention than reading education (Rivera, 1997). Effective teaching techniques to high school students with LD and low math performance should consider students' prior achievement, students' perceptions of self-efficacy, the content of instruction, management of instruction, educators' efforts to evaluate and improve instruction, and educators' beliefs about effective instruction were contributing factors to students experiencing repeated math failure (Hamukwaya & Haser, 2021). In addition to using worksheets, instructional practices should include an introduction, instructions, concept maps, and student activities based upon PBL strategies (Umriani et al., 2020). In contrast, student worksheets based on problem learning positively influence student understanding of math concepts in certain grade levels (Riyati & Suparman, 2019; Widodo et al., 2023). The lesson design framework should be based on a constructivist framework that supports student learning and the processing of new information and skills.

Students diagnosed with emotional and behavioral disorders (EBD) in AE learning environments struggle with math topics like fractions and algebra (Ennis & Losinski, 2020; Mulcahy et al., 2023). Fractions, percentages, order of operations, expressions, the number system, and the distributive property are foundational math topics incorporated in state math standards tests (Klute et al., 2020). Direct and explicit instruction followed up with daily reviews, structured and systematic presentation of math material, sufficient support at the early stages of learning, and opportunities for repeated practice are suggested practices to improve math learning (Myers et al., 2023). Using multiple means of representation and graphic organizers also supports positive learning outcomes (Ennis & Losinski, 2020; Mulcahy et al., 2023). Such direct instruction may result in the use of math worksheets at lower grade levels that are based upon multiple intelligences rather than solely using multimedia-based or hands-on, manipulative math activities (Umriani et al., 2020).

# Technology and Students with Learning Disabilities

Technology does not represent a cure-all for solving classroom curricular or instructional issues (McGeehan et al., 2018). Well-planned lessons and differentiated instruction support student success (Salinas & Mathur, 2022). Technology is essential to teacher planning, preparation, and student achievement levels (Valdez & Maderal, 2021). Mathematics assessments should be based upon continually reinforcing previously learned math concepts, which positively influences improved teaching practices and can be significantly streamlined using technology (Valdez & Maderal, 2021). While student motivation levels cannot be ignored, technology should be an intentional implication of teaching preparation and practice (Valdez & Maderal, 2021). Including technology represents the intentional practice of removing barriers to learning and connecting students' prior knowledge to current mathematics standardized test content. The use of multimedia technology can have a significant and desirable positive effect on learning (Yamchi et al., 2021). Further research should include self-efficacy levels of high school algebra students with LD from high-poverty areas and math assessment outcomes. Assistive technologies (AT) such as text-to-speech and speech-to-text support students with auditory and visual processing disorders (Bruno et al., 2020). These technologies are often outlined in the student's IEP.

Before and during the nationwide COVID-19 shutdown of American schools, teachers and students used various educational technologies as scaffolding measures to support student learning (Baykal et al., 2023). For special education, assistive technologies (AT) such as speechto-text, text-to-speech, and tablets are standard devices for students with (LD) that contribute to improved student achievement (Yamchi et al., 2021). Furthermore, other technologies, such as Google and Microsoft products, provide additional support for students with LD. Differentiating the use of no-tech, low-tech, and high-tech AT contributes to varying levels of student achievement (Bouck et al., 2020; Bouck & Satsangi, 2020). The appropriate use of technology reflects effective teaching, which, in turn, positively influences student math achievement (Fetler, 1999; Valdez & Maderal, 2021). Moreover, the appropriate use of technology should be reflected in students' IEPs (Myung & Hough, 2020). In the case of remote instruction, teachers should build upon presentation by incorporating synchronous feedback (Enders & Kostewicz, 2023). Future research should consider how the role of a teacher's physical voice influences learning in an online environment for students with LD, especially in AE settings (Liew et al., 2020).

Using multimedia technology in mathematics instruction offers insights into the potential achievement levels of students with LD. Multimedia is a type of communication that integrates text, audio, and visual representations within a computer (Abdulrahaman et al., 2020). The use of multimedia by teachers should be based on discretion and the needs of students. Such practices include using multimedia through an iPad with explicit instruction to improve students' fluency in basic mathematics skills, such as multiplication facts (Mulcahy et al., 2023). iPad technology is becoming a universal teaching technology; however, this multimedia support may be helpful at the elementary levels, such as fourth grade, in whole number multiplication and division (Mulcahy et al., 2023). Multimedia learning should be used with students engaged in study time, especially those with visual processing disorders like dyslexia (Knoop-Van Campen et al., 2020). Further research is needed for higher levels of secondary math courses that would be more relevant insofar as assessment data. Concerning students with LD in an AE learning environment lacking foundational math skills, using iPads and multimedia to review and relearn basic core mathematics skills like multiplication and division may be helpful. However, in some AE

environments, such as juvenile detention centers where technology is limited due to security protocols (Miller, 2019; Stevens, 2021), the traditional paper and pencil, in the case of AE, would be rubber pencils, and the method may be more suitable.

In the case of traditional paper and pencil, teachers may use direct instruction over computer technology for instructional purposes. Computer-aided instruction (CAI), in certain instances, had a positive effect on improving students' world problem-solving skills, and direct or guided instructional practices were less effective (S. J. Kim & Xin, 2022). CAI is defined as using a computer to provide educational instruction (S. J. Kim & Xin, 2022). Redesigned mathematics worksheets in an eWorkbook with enhanced digital interaction using an iPad may be difficult for students with visual processing disorders (Mulcahy et al., 2023). Multimedia instruction supports student memorization of materials read (Chuang & Jamiat, 2023). In the case of vocabulary building, direct instruction used in conjunction with multimedia-based technologies improved science vocabulary among students with LD (VanUitert et al., 2020). In AE learning environments, the use of CAIs may be limited due to security concerns, thus limiting the opportunity for students with LD to experience the potential positive benefits of CAI in mathematics instruction.

Video-based modeling is widely researched to teach students with severe disabilities; however, there is very little research on this strategy for students with LD and high school math (Brewer & Movahedazarhouligh, 2019; Mallidis-Malessas et al., 2021). In certain instances, video-based interventions (VBI) positively influenced high school students in learning basic algebraic concepts such as y = mx + b, slope, and the y-intercept (Satsangi et al., 2021b). VBI in AE settings where staff may have weak mathematics backgrounds in algebra may be used as a supplement. The question remains. However, the quality of the instructional design behind VBI still needs to be improved. Video instruction in Khan Academy improved students' mastery of mathematics (Vidergor & Ben-Amram, 2020). Students with LD in AE settings may not necessarily possess the foundational mathematics content knowledge to make sense of VBI and learn essential algebraic content. In certain instances, technology did make a positive influence on early childhood mathematics (Verbruggen et al., 2021).

An online learning environment of math content aligned to specific learning standards could provide remediation required for students to learn math content areas that require support (Fazal & Bryant, 2019). During the COVID-19 mandatory online instruction, teachers and students adjusted to a new learning environment. Online learning has served students for many years before the COVID-19 shutdown of schools through distance learning programs, especially at the university level. Virtual manipulatives (VM) and augmented reality (AR) represent education technologies that could be used during mathematics instruction with students with LD (Bouck et al., 2020a; Kellems et al., 2020). Specifically, students with LD in high school algebra acquired a greater understanding of equations through multistep solutions using a virtual algebraic balance scale (Bouck et al., 2020a). When teachers understand when and how to use AT and UDL principles, students with LD are supported in their learning process (Kellems et al., 2020). In addition, the appropriate incorporation of such technology also fulfills the requirements of IEPs. Further research should include an expansion of participants to high school students and several Algebra 1 classes and the use of VM (Bouck et al., 2020a; Kellems et al., 2020).

One area of research into teacher use of technology includes instruction in an online environment. Specifically, an analysis of students with LD from a social-constructive perspective in an online environment revealed teacher efficacy to include collaboration, personalization, and authenticity in virtual instruction for such learning to be effective (Porter et al., 2021). The use of calculators and online games support mathematics learning among students with LD (Long & Bouck, 2023). Modification of PowerPoint presentations supported students with LD (Naik, 2016). Moreover, students with LD from poverty-stricken environments face a greater risk of lower mathematics achievement (Porter et al., 2021). There is also a shortage of qualified special education teachers (Fetler, 1999; Porter et al., 2021). The COVID-19 pandemic has worsened the shortage of teachers (Porter et al., 2021).

More students with LD receive online instruction in high school mathematics (Enders & Kostewicz, 2023). A differentiation is made regarding online instruction: synchronous and asynchronous. Synchronous learning occurs in real-time, where both the teacher and student are online simultaneously. Asynchronous learning occurs when the student engages in video-based lessons that are often pre-recorded, and little interaction occurs between teacher and student. Online math instruction faces challenges obtaining student work and implementing IEP goals (Enders & Kostewicz, 2023). Using math worksheets is an effective strategy in synchronous and asynchronous environments (Enders & Kostewicz, 2023). For AE learning environments, the Emergency Conditions Provisions Plan within the IEP will be a crucial element in monitoring students with LD and their progress in the event online instruction becomes mandatory. Further research should include specific case studies on access and inclusion of students with LD in a high school setting and mathematics achievement levels in a post-pandemic environment.

### Mathematics and Special Education in AE Environments

A disconnect exists between mathematics curricula and the pedagogy used by special education teachers (Sheppard & Wieman, 2020). Special education and mathematics education often have different knowledge bases that should be intertwined to support students with LD (Sheppard & Wieman, 2020). The advances in internet technology call for a reinvention of collaboration among mathematics teachers to empower student learning. Special education teachers should use repetition of mathematics instruction to create confidence in students with LD in their mathematical abilities (Kadarisma & Juandi, 2021). Whereas math instruction used a constructivist approach, special education teachers relied on teacher-driven direct instruction (Şanal & Elmali, 2023). Special education teachers may have been relying on poorly designed math instruction, which could negatively influence the achievement of math understanding among students with LD (Sheppard & Wieman, 2020).

Students need mathematics knowledge for greater opportunities to earn higher incomes (binti Jamal & bin Mohd Rashid, 2023; House et al., 2018). Furthermore, without a better understanding of grade-aligned academic standards, mathematics instruction for students with developmental abilities would continue to suffer and limit these students' prospective futures in careers requiring a solid math background (Spooner et al., 2019). The successful completion of Algebra 1 leads to higher levels of math and post-secondary courses that may influence the future success of students with LD (Fazal & Bryant, 2019). This section will address the issues of mathematics testing, the ZPD of mathematics instruction, and the need for AE teachers to become better-trained instructors for students with LD in AE learning environments.

The challenge to providing effective mathematics instruction to students with LD in AE learning settings stems from the types of AE programs. The effectiveness of mathematics instruction stems from math teachers with sufficient knowledge and skills to teach math content through lesson plans and appropriate instructional strategies (Moh'd et al., 2021). Students enrolled in AE programs attend for varying lengths of time (Maccini & Gagnon, 2006). Generally, lengths of stay range from interim, short, and long term: one month up to 20 months. Safety, transitions, and mental health counseling compete with the students' instructional time. Unfortunately, 65% of youth diagnosed with ED and 38% of students with LD drop out of school (U.S. Department of Education, 2002). Multimedia-based, hands-on math instruction that reflects the direct relevance of math concepts to the students' lives suggests effective math instruction (Yamchi et al., 2021). Community day AE programs could incorporate multimedia-based, technology-driven instructional activities with a greater focus on rational number interventions to support students with LD as a foundational skill for algebra mastery (Rojo et al., 2023).

AE teachers should consider incorporating successful online teaching practices to support their students in the areas of math curricula, special education pedagogy, assessments, and online teacher practices (Enders & Kostewicz, 2023; Kellems et al., 2020; Kumar et al., 2019; Martin et al., 2019; Olakanmi et al., 2020). Educators should receive mathematics preservice training to better support students in math instruction (Theobald et al., 2021). The lack of teachers with special education and math backgrounds further compounds challenges to developing instruction and intervention strategies to support students with LD in mathematics assessment performance (Theobald et al., 2021). Teachers should increase their awareness of algebra's course design elements in the areas of digital resources, activities, academic and non-academic supports, and evaluation (Kumar et al., 2019). For students with LD, the incorporation of appropriate educational AT supports student learning (Olakanmi et al., 2020). Other online instructional practices should include teachers relying on more seasoned and award-winning faculty to design and deliver effective online instruction (Martin et al., 2019). To support direct instruction, teachers should also increase their instructional delivery skills in VBI and augmented reality (AR), which incorporates a mixture of physical and digital experiences of the learner and instructor (Kellems et al., 2020). Further research into the budgeting of AE programs should be

considered when adopting online professional development so teachers can become more trained.

Students diagnosed with emotional and behavioral disorders (EBD) in AE learning environments struggle with math topics like fractions and algebra (Ennis & Losinski, 2020; Mulcahy et al., 2023). Fractions and algebra are foundational math topics incorporated in state math standards tests. Direct and explicit instruction followed up with reviews requested by students, structured and systematic presentation of math material, sufficient support at the early stages of learning, and opportunities for repeated practice are suggested practices to improve math learning and address mathematics anxiety among students (Araya & Gormaz, 2021; Kusmaryono et al., 2022; Süren & Kandemir, 2020). Using multiple means of representation and graphic organizers also supports positive learning outcomes. Such direct instruction may result in the use of math worksheets rather than multimedia-based or hands-on manipulative math activities.

### Mathematics Testing

Students with LD tend to score lower on reading and math tests than their general education peers (Myung & Hough, 2020). Students with LD needed help acquiring and retaining algebraic reasoning skills to pass math assessments aligned with state academic content standards (Myung & Hough, 2020; Sheppard & Wieman, 2020). More research on math instruction is needed to identify instructional practices and assessment accommodations to support improved math achievement (Barr & Mavropoulou, 2021; Sheppard & Wieman, 2020). Specific accommodations such as using calculators and assignment modifications – reduced classwork problems – could not be validated as supportive of math achievement and embedded accommodations (Lee et al., 2021). However, there are instances where digital calculators

supported mathematics achievement among eighth graders (Long & Bouck, 2023). Special education teachers were less familiar with math knowledge than their counterpart general math teachers, affecting students with LD learning math content for math assessments (Sheppard & Wieman, 2020).

A mismatch exists between students' learning characteristics and teachers' instructional materials and strategies (Lee et al., 2021; Long & Bouck, 2023). Teachers should focus on big ideas, design appropriate direct instruction, use conscious strategies, utilize time efficiently, communicate explicitly, and offer students explicit instructional practice and review times, to support students with LD in mathematics achievement (Hughes et al., 2022; Twyman, 2021). Effective instruction should include explicit instruction, feedback, motivating incentives, cooperative learning experiences, and building student confidence by aligning tasks with students' abilities (Araya & Gormaz, 2021; Kusmaryono et al., 2022).

An examination of formative assessment and self-efficacy regarding mathematics helps better understand how to support students with LD for better performance on mathematics assessments and better achievement levels (Rakoczy et al., 2019). Given that mathematics is learned over an extended period, in large-scale assessments, many students need to develop strong math skills and concepts (Mahlambi et al., 2022). The formative assessment incorporates theory into action that affects learning outcomes (Rakoczy et al., 2019). Teachers should help students with their self-efficacy to master mathematics to enhance learning outcomes; however, little research is available demonstrating a positive effect of self-efficacy and learning outcomes (Rakoczy et al., 2019).

Project-based learning (PBL) may influence high school students' math achievement on standardized tests. The lack of research into PBL is unavailable; however, PBL instructional

strategies continue to spread despite the conventional use of teacher-directed, lecture-style approaches to math instruction (Craig & Marshall, 2019). There is no difference in math achievement levels of ninth to 11th-grade students using PBL versus conventional methods on their math assessment results (Craig & Marshall, 2019). Contrasting research suggests that PBL supports student understanding by connecting concepts to real-life experiences and supports student learning of mathematics concepts (Fisher et al., 2020; Lazić et al., 2021; Serin, 2019). Further research is required to understand how PBL mathematics instruction affects students with LD in mathematics assessment in AE learning environments, given the different uses of instructional strategies that may already be in place.

# Zone of Proximal Development and Mathematics in Special Education

Students with LD must learn basic mathematics concepts and skills (Özdemir & Kılıç, 2023). An understanding of fractions, decimals, and rational numbers supports student achievement in higher levels of mathematics like algebra (Flores et al., 2023;Rojo et al., 2023). To support students with LD in learning foundational algebra skills, video modeling and teacher-led modeling are two instructional strategies that offer positive results. Virtual manipulatives have been explored substantially with students with severe disabilities and are now being introduced to students with less severe disabilities (Long et al., 2023; Shin et al., 2021). Students with LD, especially with varying degrees of dyscalculia, in which they may not be diagnosed, benefit from highly structured instruction that includes multimedia and teacher-led direct instruction. Teacher-led modeling has resulted in higher levels of maintained attainment than VBI (Long et al., 2023). Teacher-led modeling may be more suitable in the AE environment, especially in secured detention facilities. Furthermore, teacher-led modeling offers a greater degree of social interaction with students, which could provide social-emotional support for

students with LD, given that learning algebra can lead to higher rates of anxiety (Rozgonjuk et al., 2020).

Understanding the concept of fractions remains a foundational concept for algebra and higher levels of mathematics (Bouck et al., 2020b; Fuchs et al., 2021; Fuchs et al., 2005). The concept of fractions is generally taught in grades 1 to 3. Concrete, visual, and explicit instructional strategies are standard practices to support students with LD in mathematics classes. Furthermore, incorporating digital visual manipulatives provides further support (Bouck et al., 2020b). For students with LD in AE environments, using concrete, visual, and explicit instructional strategies may be beneficial; however, further research is required. Students with LD need to develop an understanding of fractions to advance to more advanced mathematics concepts (Brafford et al., 2023; Hord et al., 2020).

One possible area of research addresses the issue of anxiety and high students with LD working with fractions and algebraic multi-step equations. Students with LD have a general tendency to struggle with mathematics. Teachers are crucial in making mathematics instruction more inclusive for all students (Tan et al., 2022; Vodičková et al., 2023). Evidence supports using manipulatives and visual diagrams to help elementary-aged students (VanUitert et al., 2020). The mathematics curriculum and these instructional tools appear well-matched with elementary school students. Manipulatives and algebraic multi-step problems are less helpful for high school students with LD than elementary school students with LD (Hord et al., 2020). Physical gestures by teachers appear to help high school students with LD during the algebraic learning process. Students with LD require more time on algebraic problems due to increased anxiety (Hord et al., 2020). Offloading information will help lower anxiety levels. Using notes like Cornell notes may reduce anxiety levels while high school students with LD solve fractions

in algebraic multi-step equations. Further research is required in notetaking and students with LD mastering mathematics concepts.

Students with LD had difficulty in mathematics because they lacked content and requisite math skills (Sönmez & Alptekin, 2020). The National Council of Teachers of Mathematics (NCTM) created a new set of standards focusing on applying mathematics over skills development (Sayeski & Paulsen, 2010; Tarr et al., 2013). Students had difficulties solving math-based word problems because of a lack of reading and comprehension skills (S. J. Kim & Xin, 2022). In other instances, students with LD used calculators to solve fractions that were part of mathematical equations (Hord et al., 2020). For special education teachers, the traditional emphasis on problem-solving based on practice and fluency in basic number combinations moved to the reform curricula based upon mastery of math content and carefully constructed activities for students to engage in to make meaning of math concepts for daily life skills (Sönmez & Alptekin, 2020). For the students with LD, while daily timed math drills helped, these students generally lacked self-regulation and required more explicit instruction; in contrast, the math reform curricula focused math assessments on a broader, conceptual understanding (Sönmez & Alptekin, 2020).

Certain instructional practices support high school students with LD in learning algebra: concrete-representational-abstract integration, virtual manipulatives, and gestures and diagrams (Strickland, 2022). Students with LD tend to perform lower on algebra assessments than their non-disabled peers. Students with LD in a traditional learning environment may have greater access to virtual manipulatives, whereas students with LD in AE environments such as juvenile detention centers may have limited access to technology due to security concerns (Miller, 2019). While the research on the use of computer technology remains sparse, educational trends suggest that the incorporation of virtual manipulatives may become more readily available in non-AE learning environments (Bouck et al., 2020b).

Other instructional practices, such as a response to intervention (RtI) approach and Tier 2 interventions, supported increased student performance on mathematics assessments (E. C. Bouck & Cosby, 2019; Ovadiya, 2023). RtI interventions include three tiered levels of support: Tier 1 focuses on classroom instruction, Tier 2 focuses on small group instruction, and Tier 3 provides intensive individual support. Tier 2 mathematics interventions specifically address students with mathematics difficulties (MD) (E. C. Bouck & Cosby, 2019; Jitendra et al., 2022;). Research results suggest that Tier 2 support is adequate for lower-grade students (Jitendra et al., 2022). Given that there is very little information regarding special education instruction and academic interventions for mathematics (Boyd & Bargerhuff, 2009; Freeman-Green et al., 2018; Gunasegar et al., 2021), for example, in juvenile correctional facilities (Maccini et al., 2006), high school students with and without disabilities require effective instructional techniques and approaches to pass rigorous state assessments. Interventions to improve fraction sense supports student learning of higher levels of math (Dyson et al., 2020). AE teachers in juvenile detention facilities rely on drill-based practice worksheets for essential math skills. State math assessments often require higher-level problem-solving skills and an understanding of algebraic and geometric concepts that need to be addressed in essential arithmetic topics. The use of direct instruction and technology and real-world problems is a practical and empirically based instructional approach. However, the use of paper and rubber pencils can only be used due to security protocols established by the prisons for safety reasons for the students and staff, thereby minimizing the potential positive benefits of incorporating higher levels of technology. Further

research is needed on how tiered levels of support influence students with LD in the mathematics content area at the secondary level in AE settings.

AE teachers need to develop mathematical skills and better understand interventions to support students with LD in AE settings to improve mathematics knowledge. Teacher effectiveness in designing instruction is based on a combination of skills in pedagogy, assessing learners, planning, and checking for understanding (Arafah, 2015; Mahlambi et al., 2022). Teachers may lack a clear understanding of dyscalculia concerning students' learning difficulties with mathematics. Students with LD identified with dyscalculia have different levels of understanding of math concepts such as addition, subtraction, multiplication, and division. In general, dyscalculic students are about one year behind their peers without this disability in mathematics. To provide effective math instruction, teachers should use concrete and direct instruction methods supported by appropriate technologies (Satsangi et al., 2021b; Stevens, 2021; Tolou-Shams et al., 2022). In addition to math instruction, teachers may not necessarily be familiar with the type of formative assessments that should be used to measure student learning in mathematics (Ambrosio et al., 2021). In certain types of AE settings, teachers working with students with LD may already be in a setting where direct instruction is preferred to multimediabased instruction

#### Summary

Additional research into social cognitive learning, teacher preparation, appropriate AT, and mathematics instruction in a post-COVID pandemic learning environment to support high school algebra students with LD in AE settings is warranted (Bouck et al., 2020b; Bouck & Satsangi, 2020). The need for teacher training and preparation and the negative influence of poverty on student learning are well-documented (Fetler, 1999; Porter et al., 2021). Small case

studies provide tangential support and are insufficient to sound an even giant alarm bell concerning high school students with LD (Bouck et al., 2020c; Kellems et al., 2020). The COVID-19 pandemic revealed opportunities for the educational system to enhance teacher and student training to adopt advances in AT in diverse learning environments to improve mathematics instruction, especially at the high school level. However, until a genuinely unified and updated pre-kindergarten to twelfth-grade mathematics curriculum is developed, teacher training must include better and more specific identification of learning disabilities, adoption of AT, and instructional practices in supporting high school algebra students with LD in AE settings to demonstrate essential mastery on state standardized tests (Bouck & Satsangi, 2020; Bouck et al., 2020c; Yeh et al., 2022).

A gap exists in the literature about appropriate and effective mathematical instructional practices related to high school algebra students with LD performance in the AE learning environment on standardized math tests. The literature supports incorporating instructional strategies with educational technologies in diverse learning environments for high school algebra students with LD to perform at higher levels of mastery on the state standards test. To fill this gap, teachers should use various instructional strategies, such as UDL (Kellems et al., 2020). Furthermore, teachers should incorporate educational technologies such as virtual manipulatives (VM) and other ATs (Bouck et al., 2020c; Bouck & Satsangi, 2020; Bruno et al., 2020). However, teachers should possess instructional skills to appropriately use technology to be effective teachers, which will positively influence student achievement on math assessment tests (Valdez & Maderal, 2021). Small case studies of students with LD in elementary and middle school describe low math achievement levels (Bouck et al., 2020b). Other research examines the

influence of the shortage of qualified special education teachers (Fetler, 1999; Porter et al., 2021).

The purpose of this research is to gain insight into the perspectives of educators on high school algebra students with LD who consistently perform below basic proficiency levels on California's standardized math tests. Teachers, administrators, and district-level managers work together to provide instructional support services to meet both state algebra graduation and IEP requirements in a variety of learning environments. These educators also utilize different educational technologies to offer additional assistance to these students. The COVID-19 pandemic and subsequent school closures have highlighted areas where instruction requires further development. This literature review, grounded in sociocultural theory of cognitive development, delves into special education topics relevant to state math assessments, instructional techniques, educational technologies, and diverse learning environments.

### **CHAPTER THREE: METHODS**

### **Overview**

The purpose of this case study was to understand educators' perceptions regarding factors that influence high-school algebra students with LD in an AE setting to score below and far below basic proficiency levels on the California math standards test despite receiving credit for the algebra course. Data was collected from a California school district in this single holistic case study (Yin, 2018). The pseudonym Alpha County School District (ACSD) was used to refer to the school district in this research. At this stage in the research, no differentiation was made on the specific types of learning disabilities among high school students in this case study. The records review and archival research since 2018 examined final grades for students with LD completing high school Algebra 1 and their respective mathematics scores on the state math standards assessment. Furthermore, no differentiation was made between Algebra 1 and the Integrated Math 1 courses because both classes satisfy California's state Algebra 1 graduation requirement. In 2020, the California governor suspended all state assessments for all K-12 students (CA CTC, 2020). therefore, assessment results will be examining the spring semesters of 2018, 2019, 2021, and 2022 (RELP, 2023).

### **Research Design**

A qualitative research design for this study was appropriate to examine educators' perceptions in an AE learning environment. The qualitative approach was suited to encompass attitudes and offers participants opportunities for deeper explanations during the interview stage of data collection, especially when, for example, archival data may necessitate such explanations (Yin, 2018). Various professions and academic disciplines utilized a qualitative research approach (Yin, 2018). The following section provides an overview and rationale of the research design used in this study.

This qualitative research approach examined a bounded system of specific parameters of the case study examining teacher perceptions of low math assessment scores of students with LD in AE programs (Stake, 1995). The case study approach explores, describes, and explains phenomena (Yin, 2018). In this intrinsic approach, data collection and analysis stemmed from interviews, documents, and analysis of archival information to develop themes for further study (Yin, 2009, 2018). Furthermore, explanatory case studies offer possible explanations of causal relationships (Mills et al., 2017). For example, an outline offers a logical flow that prioritizes patterns to investigate while maintaining an iterative process to minimize research bias. (Mills et al., 2017). "How" and "why" based questions in explanatory case research models offer more excellent explanations that describe processes and just frequencies or incidences (Yin, 2018).

For the past five years, students with LD in ACSD have generally scored below and far below basic levels on the California mathematics standards tests (CA DOE, 2024, April). There are five major components of research design: questions, propositions, the case itself, the linkage of the data to the propositions, and the criteria for analyzing findings (Yin, 2018). In the case of ACSD, high school algebra students with LD have historically performed below and far below basic proficiency levels on the state mathematics assessments (CA DOE, 2024, April). A study investigating the reasons for low performance in algebra among high school students with learning disabilities from the perspective of educators has yet to be conducted. The explanatory case study design offers an iterative process to consider multiple sources of data while limiting potential bias as an employee of ACSD.

# **Research Questions**

The primary goal of this case study addressed educators' perceptions of high-school algebra students with LD in an AE setting and their performance on the CA state mathematics test. Research questions can be quantitative and qualitative and should focus on explaining, exploring, describing, and understanding the concepts addressed in the case study (Hatch, 2002). This qualitative study used one central research question followed by three sub-questions. Additional survey and interview questions provided information to address the central research question.

# **Central Research Question**

What are educators' perspectives on possible explanations for the low performance on mathematics state assessments among high school algebra students with learning disabilities in AE settings despite receiving graduation credit for Algebra 1?

# **Sub-Question One**

What are educators' perceptions of mathematics training and professional development addressing high school students with LD in an AE environment?

# **Sub-Question Two**

What are the attitudes of educators towards technology in the learning of algebraic concepts among high school students with learning disabilities in AE settings?

### **Sub-Question Three**

What are educators' experiences with the zone of proximal development math skills needed by students with learning disabilities to acquire algebraic knowledge in AE settings?

#### **Setting and Participants**

The setting and participants of this study were from an AE program of a California public school district. This section provides an overview of the school district and the teachers and administrators who work with students enrolled in the AE program. The AE program of this school district consisted of juvenile detention centers, community schools, day reporting centers, teen pregnancy programs, an adult education program, and a charter school.

# Setting

ACSD was chosen for its long-standing history, extensive program for students with LD, and easy data access. Initially founded in 1893 as the Office of the ACSD, ACSD is in California (RELP, 2023). The county covers 7,000 square miles and supports over 430,000 students in grades K-12 (RELP, 2023). Roughly the size of New Jersey, ACSD employed over 19,000 teachers (RELP, 2023). As of December 2020, ACSD supports 23 other independent school districts and over 500 schools (RELP, 2023). ACSD services 96 continuation, alternative, adult, charter, online, and special education schools. Organizationally, there are nine departments under the ACSD Superintendent: deputy superintendent of schools, administration and business services, early education services, educational services, governmental relations, information technology services, leadership, wellness and student services, personnel services, and student programs and services (SPS) (RELP, 2023).

The Student Programs and Services (SPS) department supports over 34,000 students annually through several division programs: AE, career technical education, pupil and administrative services, special education, and translation services (Regional Educational Laboratory Program, 2023). The AE program includes one charter school, nine community schools, three court schools, and a program for teen parents. While the AE program can service students as early as 1st grade, this study will focus on AE students with LD entering the 9th grade based on high school graduation credits in the community, court, and charter schools. The teacher cadre remains stable, with an average of over ten years with the district, while senior administrative leadership experiences change every two to three years. Middle-level administrative management remains stable.

# **Participants**

This case study drew from 10 to 15 administrators and about 50 teachers from the court, community, and charter schools of the AE division of ACSD that have provided algebra instruction to students with LD in the past five years. While there is no minimum number of participants in a case study, five to twenty-five participants are manageable (Yin, 2018). Within the AE program of ACSD, there is one executive director with four administrators and nine principals. All administrators possess administrative credentials and experience working with students with LD. In this case study, no differentiation will be made insofar as the ranking of administrators, despite principals holding the lowest rank of administrators have supervisorial authority. There are no assistant principals in ACSD. All administrators have supervisorial positions over teachers, with principals with the most immediate contact with teaching staff and students.

The ACSD AE program has about 50 teachers possessing an SAI credential to teach students with LD. The CA CTC outlines specific licensing requirements for the education specialist, including multiple-subject and single-subject credentials (CA CTC, 2023). SAI instruction requires a teacher to possess a valid California multiple-subject or single-subject teaching credential and a valid California mild/moderate special education credential (CA CTC, 2023). Each credential begins with a preliminary or level one status, and within five years of receiving preliminary or level one status, the teacher must clear the credential – earning professional or level two status (CA CTC, 2023).

# **Recruitment Plan**

The following recruitment plan ooutlined the steps to garner educator participation for this study. Liberty University's Institutional Review Board (IRB) (Appendix A) and ACSD Research Request (Appendix B) approvals were received before contact was made with the participants. Ten to 15 administrators and 50 to 60 ACSD AE Program teachers served as the participant pool. Each participant received the recruitment email (Appendix D) with a screening survey (Appendix E) and an attached consent form (Appendix F). Participants who respond to the screening email were asked to complete the survey via Google Forms (Appendix G). Participants returned the signed consent form before the individual interview (Appendix H). Participants received a transcription of the interviews (Appendix I). Upon completion of the data analysis, a final report was given to the ACSD Executive Director (Appendix P).

### **Researcher's Positionality**

As an educator with nearly twenty-five years' experience working with students with LD, I observed that these students passing high school Algebra 1 and scoring below or far below proficiency levels on the California standardized math test administered in the spring semester of the school year. I wanted to better understand this phenomenon. Conversations with veteran and novice teachers suggested many different reasons stemming from the students' socioeconomic background, personalities, and a lack of fundamental math skills. Research relies on participants' views of a phenomenon in search of understanding in the social context (Moustakas, 1994). The world of special education and high school algebra is no exception, especially from the perspective of educators and from an AE setting. I currently possess CA credentials in social science, special education, autism spectrum disorder, English Language Learners, and administrative authorization.

### **Interpretive Framework**

The interpretative framework for this study stemmed from a social constructivist perspective where individuals gain knowledge and develop understanding through experiences (Rana, 2022). Constructivist researchers must address interaction processes and the specific context of peoples' lives and develop a greater understanding of the historical and cultural settings of the participants (Lincoln & Guba, 1985). As an educator, I believe that the teacher serves the most important role of helping students gain knowledge through the social interaction of teaching and learning. A teacher be able to balance the sage-on-the-stage role with being a guide-by-the-side of students (Reigeluth et al., 2017). This instructional balance should be built upon the teacher's thorough understanding of the student's academic, social, emotional, and cultural experiences. For students with LD in an AE setting, the role of the teacher could be arguably even more substantial given the constraints of the classroom (Stevens, 2021; Tolou-Shams et al., 2022).

#### **Philosophical Assumptions**

Philosophical assumptions articulate the values and belief systems of the researcher. My core belief is that the Christian biblical God is the source and center of all knowledge, and through God's grace, I can better understand the world around me. I take comfort and encouragement from the words in the Book of Jeremiah, 'Call to me and I will answer you and tell you great and unsearchable things you do not know' (Bible Gateway, 2023). For nearly twenty-five years of teaching and working in special education, I have continued to wonder why

students with LD struggle so much with mathematics. After all these years of working with students with LD, I have yet to see dyscalculia or MLD identified as the reason students qualify for special education services in IEPs. Students often qualify for special education services under the category of specific learning disability under mild disabilities (Myung & Hough, 2020). In California, students receiving special education services fall into two categories: speech impairments and specific learning disorders (Myung & Hough, 2020). Specific learning disorders include dyslexia and visual and audio processing disorders. The offer of free appropriate public education (FAPE) aims to align present levels of performance, which should be based upon a clinical analysis of students' academic strengths and needs, academic goals based upon the areas of academic need, and academic services to provide scaffolded support. I wonder if the qualifying reasons for special education services are aligned with the necessary and appropriate support services with a broad category of specific learning disability (SLD) instead of being more specific in naming the actual disability. For example, if students with LD are struggling with mathematics, I wonder why they would not qualify for special education services under dyscalculia or MLD and not the SLD category.

If scriptures clearly label and identify characteristics of the world around us, we should use more specific descriptions of LD to support our students. The art of asking questions and interacting with others leads to a better understanding of the world around me, especially when all my goals are aligned and focused on shared goals. I accept that the American public education system often considers politics and economics over the interests of student-centered learning. I will make dedicated efforts to keep my personal biases in asking questions and analyzing the results of the data. A clear articulation of assumptions regarding ontology, epistemology, and axiology provides readers with a better understanding of the lens in which this research has been conducted.

## **Ontological Assumption**

Ontology addresses the issue of the nature of reality (Lawson, 2019). In this respect, ontological research embraces a single or multiple set of realities based on individual perspectives. I believe there is only one reality: God's truth written in the bible. However, in our imperfect world, multiple forms of thematic evidence are used to explain reality. Social ontological research attempts to understand better the underlying structures of individuals and groups (Löfgren et al., 2015). As a special education teacher of over twenty years, I have observed a diverse set of beliefs and attitudes toward students with learning disabilities and the instruction of mathematics at the high school level. There exist numerous factors that interact and intersect that should be studied so that students with (LD) gain a stronger academic foundation in mathematics to make a positive difference in an ever-increasingly complex information-based economy: learning environments, different learning disabilities, levels of teacher preparation, strength of instruction, appropriate scaffolding of mathematics curriculum, and elimination of barriers to mathematics content and appropriate technologies.

## **Epistemological Assumption**

The epistemological assumption means researchers attempt to get as close as possible to those being studied (Chamberlain, 2015). Thus, in a case study approach, knowledge potentially becomes very subjective based on the participants' experiences and researcher interpretations and biases. During this study, my 20-plus years of experience as a special education teacher afforded me a unique insight into the intricacies of curriculum and instruction insofar as the mathematics content, teaching pedagogies, and students with learning disabilities. For example, the instructional accommodations and modifications outlined in an IEP influence the day-to-day

learning of students with learning disabilities, and such accommodations and modifications are played out on a potentially daily basis throughout the academic year, especially in an in-person, traditional brick-and-mortar environment. Moreover, my background will help facilitate deeper questioning during the individual interview process. Furthermore, my observations and interpretations based on my experiences as a special education teacher should offer unique insights during the data analysis. I will maintain an iterative process of analysis to keep researcher bias to a minimum as much as possible.

### **Axiological** Assumption

An axiological assumption makes the researcher's values clear, admits to the value-laden nature, and actively reports their values and biases during the research process (Klenke, 2016). As a Christian working in a public-school setting, I often discover that my dearly held values and opinions have been marginalized and, at times, discriminated against. Jesus said in the Gospel of Matthew, "I am sending you out like sheep among wolves. Therefore, be as shrewd as snakes and as innocent as doves" (Bible Gateway, 2023). We have yet to discover the appropriate technology and instructional strategies to fully support the unique needs of students with learning disabilities when mastering mathematics content in an AE learning environment. I believe when we have a humble and yearning heart, the words in the Book of Jeremiah ring loud, "Call to me and I will answer you and tell you great and unsearchable things you do not know." (Bible Gateway, 2023).

# **Researcher's Role**

I am a human instrument in this study. My objective will be to remain as neutral as possible in collecting, analyzing, and presenting the data. To maintain as much objectivity as possible, I will use Otter.ai to transcribe the video-recorded interviews, followed by participant
verification of the transcript. I work primarily with the teachers in the charter school and participate in faculty meetings that include all teachers of the AE program. I maintain no supervisory position over any of the participants. I have minimal teaching contact with teachers in the community and court schools of the AE program. I am familiar with the administrators when students transfer between and among the court, community, and charter schools. I have been employed with ACSD for the past nine years, hold tenure, participate in the teachers' union, and intend to retire from this school district. I have been elected as the president of the teachers' union.

## **Procedures**

The following procedure plan outlines the steps to obtain the target sample pool of 10 to 15 participants for this case study. Liberty University's IRB must approve the commission of this study (Appendix A). First, ACSD approval must be received (Appendix B). ACSD has a twostep process that the Office of the Chief Academic Officer requires of all research requests. An initial screener must be submitted. If the initial screener is accepted, the researcher is invited to submit a full research proposal (Appendix C). Third, after these approvals are received, a screening/recruitment email will be sent to all ACSD educators (Appendix D) using my ACSD email with a link to the screening questions through Google Form with a copy of the informed consent form (Appendix E). Fourth, those participants responding to the screening/recruitment email will be invited to participate in a survey (Appendix F). Fifth, participants responding to the survey will be contacted to participate in an individual interview (Appendix G). A final report will be provided to the ACSD Executive Director on the results of this case study (Appendix H).

## **Data Collection Plan**

This section provides an overview of the data collection approaches for this explanatory case study qualitative design regarding administrators' perceptions of low-performance levels of high school algebra students with LD in the AE program of ACSD. The first set of data will come from a survey. The second data set will be generated from semi-structured individual interviews (Jamshed, 2014; Yin, 2018). No additional questions will be asked during the interview portion of this case study to maintain consistency throughout the interview process for all participants. The third data set will come from archival records of students with LD of the final transcripts and state math assessment scores. Coding methods can be used during the analysis of data collection (Saldaña, 2021). The data synthesis of the survey, interviews, and archival records will generate various themes and sub-themes. The triangulation of data from these sources results in increased reliability of this case study (Yin, 2018). A synthesis of these data themes should yield a single set of themes that provides an overview of administrator and teacher perceptions of the low performance of students with LD in an AE environment on the state math assessments. Appropriate codes will be developed and should be triangulated to strengthen the validity of the research findings (Saldaña, 2021).

#### Survey

Surveys provide potential themes to participants' views on the research topic. One survey will be sent to all participants using Likert-scale questions (Appendix D) to gather descriptive statistics on participant perspectives. Survey questions will reveal participant perspectives and attitudes (Eftenaru, 2023; Yin, 2018). Likert-scale statements and questions are closed-ended and could reveal feedback from educators' views on educating students (Abed & Abu-Ali, 2022; Summers et al., 2019). The five Likert measurements used in this survey include strongly agree,

agree, neutral, disagree, and strongly disagree (Rumary et al., 2023). A Google Form will be given to participants as a survey (Appendix G). Codes represent symbolic interpretations of information using labels. The survey will be used to generate themes during the first and second coding cycles (Saldaña, 2021). Structural coding should be used to provide an overview of survey results (Saldaña, 2021). After the first cycle of descriptive coding, the second cycle of pattern coding will be used (Saldaña, 2021) to generate broader themes.

# Table 1 (Appendix G)

#### Survey: Likert-scale Questions

Participants will select one response to each statement with (a) Strongly agree, (b) Agree, (c) Neutral, (d) Disagree, or (e) Strongly disagree. Please complete all parts of this survey.

- 1. Which division do you work in (court, community, or charter)? Basic information
- 2. Students with learning disabilities in AE do well on the math portion of the CAASPP assessment test. CRQ
- 3. Students with learning disabilities in AE score proficient or above in the math portion of the CAASPP assessment. CRQ
- Students with learning disabilities in AE score below proficient on the math portion of the CAASPP assessment. CRQ
- Students with learning disabilities in AE score far below proficient on the math portion of the CAASPP assessment. CRQ
- Students with learning disabilities entering AE have foundational skills to acquire CAASPP math content. CRQ
- Students with learning disabilities in AE have adequate instructional time to prepare for the CAASPP math assessment. CRQ

- Students with learning disabilities should receive at least one hour of dedicated instructional time daily to learn foundational skills for the CAASPP math assessment. CRQ
- Students with learning disabilities should receive at least two hours of dedicated instructional time daily to learn foundational skills for the CAASPP math assessment. CRQ
- 10. Students with learning disabilities in AE come prepared with Algebra 1 concepts addressed in the CAASPP assessment. CRQ
- 11. Students with learning disabilities in AE understand how to access mathematics instructional material independently. CRQ
- 12. Teachers need a mathematics credential to provide mathematics instruction to support students with learning disabilities in AE. SQ1
- 13. Teachers need a background in mathematics to provide mathematics instruction to support students with learning disabilities in AE. SQ1
- 14. Teachers receive high-quality professional development in administering the CAASPP test. SQ1
- 15. Teachers receive adequate algebra content training to support students with learning disabilities in AE. SQ1
- 16. Teachers receive adequate professional development time to collaborate with others on mathematics topics. SQ1
- 17. Teachers receive regular training on mathematics curricula throughout the academic year.SQ1
- 18. Teachers should receive mathematics training during the summer break. SQ1

- Students with learning disabilities in AE have access to technology to support mathematics learning. SQ2
- 20. Students with learning disabilities in AE understand how to use technology in learning mathematics. SQ2
- 21. Students with learning disabilities in AE prefer paper and pencil over the computer when working on mathematics problems. SQ2
- 22. Students with learning disabilities in AE prefer direct instruction when learning mathematics. SQ2
- 23. Technology hinders the mathematics learning of students with learning disabilities in AE. SQ2
- Instructional math videos provide additional support for students with learning disabilities in AE. SQ2
- 25. Students with learning disabilities enter the AE setting with foundational math skills to learn algebra concepts. SQ3
- 26. Students with learning disabilities in AE possess a proficient understanding of addition.SQ3
- Students with learning disabilities in AE possess a proficient understanding of subtraction. SQ3
- Students with learning disabilities in AE possess a proficient understanding of multiplication. SQ3
- 29. Students with learning disabilities in AE possess a proficient understanding of division.SQ3

- 30. Students with learning disabilities in AE possess a proficient understanding of orders of operations. SQ3
- 31. Students with learning disabilities in AE possess a proficient understanding of ratios and proportions (fractions). SQ3
- 32. Students with learning disabilities in AE possess a proficient understanding of percentages. SQ3
- 33. Students with learning disabilities in AE possess a proficient understanding of decimals. SQ3
- 34. Students with learning disabilities in AE possess a proficient understanding of the number system. SQ3
- 35. Students with learning disabilities in AE possess a proficient understanding of geometry (perimeter and area of a square, rectangle, and triangle). SQ3
- 36. Students with learning disabilities in AE possess a proficient understanding of solving basic expressions (2x + 1=7). SQ3
- 37. Students with learning disabilities in AE possess a proficient understanding of the distributive property (a[b+c] = ab + ac). SQ3
- 38. Students with learning disabilities in AE should have two consecutive years of mathematics preparation before taking the CAASPP math assessment. CRQ
- 39. Students with learning disabilities in AE do not remain enrolled long enough to access mathematics instruction to reach proficiency levels. CRQ
- 40. Students with learning disabilities in AE should be able to demonstrate algebra proficiency through an alternative measure to the CAASPP. CRQ

- 41. The IEP's specific learning disability (SLD) designation is adequate to provide math instructional guidance for students with learning disabilities in AE settings. CRQ
- 42. Thank you for your participation in this survey. I will contact you to schedule an individual interview for this study.

## **Individual Interviews**

The interview provides a crucial source of information in a case study (Yin, 2018). The interview data provides insight into participants' perspectives and experiences (Smith et al., 2022). Building upon a central research question (CRQ), sub-question questions (SQ) will provide further clarification and depth to participants' responses during the interview. The interview should be more of a guided conversation, not a rigid question-answer interview (Yin, 2018). Furthermore, open-ended questions leading with why and how will facilitate and generate better responses. I will use Zoom videoconferencing to record interviews (Appendix H) and Otter.ai and manual transcription of the recording within one week of the recorded interview (De Voto & Thomas, 2020). Interviews are expected to last about 30 minutes. Participants will be given a written transcription of their individual interview to confirm the accuracy of the transcription. The data from interviews is designed to generate subsequent codes and themes that support the overarching themes generated by the survey (Giesen & Roeser, 2020). Video recordings will be secured on my ACSD-assigned desktop computer in the classroom at a secure learning facility. I will be the only person listening to the participants' responses as I conduct the interviews from my home office using headphones. Zoom has been set up on my home computer through my ACSD login.

Each interview question sought educators' perceptions in detail based on the central research and sub-questions. Questions one and two were asked to gather basic information on the

participants to help organize participants' responses during the analysis. Questions three, four, five, and 18 focused on the central research question of students with LD and their performance on the state math assessment. Questions six, seven, and eight addressed sub-question one on educators' perceptions of mathematics training and professional development. These series of questions were designed to understand the relationship of the type of teacher training received on mathematics topics over the recent years. Questions nine, 10, and 11 addressed sub-question two. These questions were designed to understand the role technology played in mathematics instruction. Questions 12, 13, 14, 15, 16, and 17 addressed sub-question three. These questions were designed to understand educators' experiences with the pedagogical practices of implementing the IEP math goals. Furthermore, these questions were designed to lay future research opportunities into the concepts of dyscalculia and MLD in the AE learning environments.

Educators participated in an individual videoconference meeting (Zoom) with the researcher. Questions or statements will be open-ended so participants can provide their responses. Participants will not be interrupted once they begin a response to a question. There is no time limit restriction on their response. The researcher will read the following statement before the interview begins: "Thank you for your voluntary participation in this study. Please respond to the best of your ability based on your personal experiences."

#### Table 2 (Appendix H)

### Individual Interview Questions

- 1. Which division do you work in (community, court, or charter)? Basic information
- 2. Describe your background in mathematics. Basic information

- 3. Describe how your students with learning disabilities perform on the CAASSP math assessment. CRQ
- 4. Describe the foundational math skills your students with learning disabilities have when they enter your program? CRQ
- 5. Describe the instructional day for your students with learning disabilities. CRQ
- 6. Describe the mathematics curricula and instructional materials you have access to. SQ1
- 7. What type of training or professional development on mathematics have you received to support the performance on the CAASPP math test by your students with learning disabilities? SQ1
- 8. What type of training or professional development do you think teachers should receive to support mathematics instruction for their students with learning disabilities? SQ1
- What type of math instruction do your students with learning disabilities receive daily?
  SQ2
- 10. How does technology support your math instruction? SQ2
- 11. What type of technology do your students with learning disabilities use in their mathematics learning? SQ2
- 12. Describe the level of mathematics competency your students with learning disabilities have when they come to your academic program. SQ3
- 13. What foundational math skills do your students with learning disabilities need for the CAASPP math test? SQ3
- 14. Describe how the IEP disability designation supports math learning for your students with learning disabilities? SQ3

- 15. Describe how classroom math instruction competes with other needs of your students with learning disabilities. SQ3
- 16. What has been your experience with mathematics learning disability? SQ3
- 17. What has been your experience with dyscalculia? SQ3
- 18. Why do you feel students with learning disabilities in AE perform below proficiency levels on the math portion of the CAASPP? CRQ

# **Archival Records**

Archival records can enhance and validate information gathered through surveys and interviews. (Yin, 2018). Analysis of these documents provides specific information such as student names, records, birth dates, and other identifying factors (Yin, 2018); however, schools may limit access given restrictions governed by the Family Educational Rights and Privacy (FERPA) Act (US DOE, 2017). Moreover, obtaining copies of transcripts, teacher grade books, and related lesson plans may take longer. A public record search of the California Dashboard will be used to collect state assessment results on mathematics proficiency at the school level (CA DOE, 2021). For ACSD, document analysis for state math proficiency results would focus on the 2018 to 2023 school years. In this research, student transcripts from 2018 to 2023 and student mathematic assessment results from the CAASPP website will be used.

#### **Data Analysis**

This section describes the process of analyzing data obtained from surveys, individual interviews, and archival records. Descriptive statistics will be used to analyze the data. Descriptive statistics in qualitative research are collected through questionnaires using Likert-scale responses like strongly agree, agree, neutral, disagree, and strongly disagree to understand participant perceptions and experiences (Rahmania & Mandasari, 2021). The tabulation and

summary of the research data gathered from the questionnaire would include tables and percentages of Likert-scale responses to each question in the questionnaire (Rahamania & Mandasari, 2021). By coding the participants' responses, themes will be identified to verify survey results. Themes and sub-themes will be determined through data analysis and questionnaires. This compilation of themes will provide a more comprehensive level of generalization for future research. The combination of surveys, interviews, and archival records will be strengthened by synthesizing the compiled themes. This case study's evidence is derived from student transcripts, state math assessment results, surveys, and interviews (Yin, 2018).

Pattern matching, explanation building, time series, and logic models are several different analytical models used to synthesize data from research (Yin, 2018). Codes in qualitative research are interpreted meanings of data (Saldaña, 2021). The synthesis of codes from the surveys, interviews, and document analyses should reveal patterns regarding educators' perceptions of low mastery performance on math standards assessments of high school algebra students with LD. The steps in analyzing the data collected progress from compiling, disassembling, reassembling, interpreting, and developing conclusions (Yin, 2018). Codes are used to analyze qualitative data (Saldaña, 2021; Yin, 2018). After initial coding, themes will be generated for the survey, interviews, and archival records. While not as precise as other quantitative data, using precise pattern-matching measures strengthens a case study's internal validity (Yin, 2018). The synthesis of the data may result in a trinity of concepts (Saldaña, 2021) that would reveal further areas of research in supporting students with LD in AE learning settings.

Individual interviews will be video recorded using Zoom videoconferencing software. Videorecorded interviews will be analyzed through Otter.ai and then manually confirmed by the researcher for accuracy. I will use brackets, capitalization, italicization, bolding, and thematic codes to provide initial analysis during the interview process (Saldaña, 2021). These codes provide insight into educators' perceptions and low mastery levels of students with LD. Initial themes will then be grouped into three or four more generalized themes for analysis. A manual transcription review will take place to verify the automated transcription. A written draft and audio recording will be sent to the corresponding participant through email for verification and accuracy of their statements. An Excel spreadsheet will be used to code the participants' videorecorded interviews. Coding the participants' responses will generate themes to validate survey results. Two cycles of coding methods for individual interview data analysis will be value coding followed by pattern coding (Saldaña, 2021). The first cycle of coding methods will examine grammatical, elemental, affective, literary, language, exploratory, procedural, and methods of theming (Saldaña, 2021). The second cycle of coding will examine the results of cycle one (Saldaña, 2021). Initial themes will then be grouped into three or four more generalized themes for analysis. Specifically, descriptive coding is often the default method (Saldaña, 2021). Descriptive coding provides insight into educators' perceptions and low mastery levels of students with LD.

Archival records used in this analysis phase will be final semester grades in Algebra 1 and Integrated Math 1 classes for high school students with LD in ACSD AE programs and mathematics scores from the California Assessment of Student Performance and Progress (CAASPP) since 2018 (CA DOE, 2024). Theming of the data may be more suitable for document analysis. An Excel spreadsheet will analyze documents (Saldaña, 2021). NVivo or Atlas.ti are helpful automation tools; however, this type of coding is not a substitute for manual coding (Saldaña, 2021). Interpreting the data will include examining teachers' final records and state math assessment information. Where applicable, analytic memo writing will provide opportunities to critically analyze and challenge my assumptions during the document analysis phase (Saldaña, 2021). All identifying information, such as names, birth dates, gender, home addresses, and parental information, will be requested to be removed before ACSD provides these documents to the research. In the event I receive identifying information on archival records, I will create pseudonyms for each record.

# Trustworthiness

My study will consider the following trustworthiness issues: credibility, transferability, dependability, and confirmability (Lincoln & Guba, 1985). Ethical considerations remain of utmost importance to protect the confidentiality of participants. Protecting student privacy will be a priority in keeping FERPA regulations. Moreover, ethical considerations will be considered. To promote the trustworthiness of this study, steps have been taken to be transparent so that this study can be replicated among different AE programs throughout the state of California. Questionnaires, interview questions, and disclosure letters will be included.

# Credibility

*Credibility* is defined as the level of confidence in the data collected in a research study and is crucial to the trustworthiness of a study (Shenton, 2004). Fourteen aspects of a research study promote credibility (Lincoln & Guba, 1985; Shenton, 2004). Specifically, familiarity with participant culture, random sampling, triangulation, promotion of honesty among participants, reflective commentary, member checks, investigator background, a thick description of the issue, and examination of past research findings contribute to this study (Shenton, 2004). As a researcher, I have been and remain employed by ACSD in the AE program for the past nine years and have been involved in teaching special education for over twenty years in California. Member checks are the most critical aspect of bolstering this study's credibility (Lincoln & Guba, 1985). Thus, participants will be given a video-recorded interview transcript and asked to sign verification forms. Moreover, bolstering a thick description of methods, data triangulation will rest with interviews supported by documents from ACSD, CA state assessment records, and participant-transcribed video recordings. Finally, the literature review of this study will suggest further examination of related research into AE programs and special education insofar as state assessments are concerned.

## Transferability

The transferability of research is the level at which a study's findings can be transferred to other contexts or settings (Maxwell, 2021). As a case study examining educators' perceptions of low mastery achievement on state assessments of students with LD, this study aims to serve as a model for other AE programs throughout the United States. A detailed description of this study's research context and procedures leads to greater transferability (Shenton, 2004). For example, participants in this study all hold an SAI credential (CA CTC; 2020). A SAI credential

means that the teacher must be dual credentialed—special education and single subject or multiple subject credentials. Two distinct special education credentials exist in California to work with students with mild/moderate or moderate/severe disabilities in K-12 settings (CA CTC, 2023). Single-subject credentials focus on middle and high school students in specific academic subjects like English, mathematics, science, social sciences, physical education, and the arts (CA CTC, 2023). The multiple-subject credential permits teachers to work with students in elementary grade levels (CA CTC, 2023).

## Dependability

The dependability of qualitative research aims to establish the study's findings as consistent and repeatable by other potential researchers. While dependability is difficult to satisfy, a detailed description of procedures provides future investigations to repeat the study in different situations (Shenton, 2004). This study aims to fill the literature gap regarding educators' perceptions and low mastery assessment scores among students with LD in an AE setting. A researcher enhances the dependability of a study by taking steps to describe the research design and implementation, explain the details of data gathering, and reflect on the overall process of this study (Shenton, 2004). For this study, I will maintain a log of data collection and reflections on the process throughout the study.

## Confirmability

The confirmability of research reflects the researcher taking steps to allow the findings to emerge from that data (Shenton, 2004). Data triangulation in this research will foster greater confirmability and neutrality of the findings through audit trials and maintaining accurate records of notes from interviews (O' Kane et al., 2021). Furthermore, my research positionality will contribute to substantiating confirmability given my experiences as a special education teacher and employee of the ACSD. To further promote confirmability, an audit trail will be available. The purpose of the audit trail will be data-oriented to demonstrate that the findings of the study are based upon the data and the process in which the data was collected (O'Kane et al., 2021; Shenton, 2004). Reflexivity is used to determine confirmability of researchers admitting their roles in research (Lemon & Hayes, 2020). I acknowledge that my personal beliefs as an educator and experiences in special education and AE play a role in this research study.

## **Ethical Considerations**

Permission from participants to work with educators will be obtained from ACSD (Appendix E). Students will not be interviewed. ACSD provides an application document that must be approved before research data can be collected (Appendix B). The senior leadership and several administrators know my dissertation topic and proposal to work with educators and their perceptions of low math test scores among students with LD. I have taken the initial steps in filling out the initial screener for the research form. All identifying information will be removed from the final publication.

#### **Permissions**

Permission from the IRB (Appendix A) and ACSD (Appendix C) must be received before data can be gathered for this cases study. The steps to receive ACSD approval for research begin with an initial screening questionnaire and once approved, the completion of the research request. The links to these forms can be obtained from the Office of the Chief Academic Officer (Appendix B). The request to research ACSD includes a description of this research study and procedures. After receiving ACSD approval, IRB approval is required (Appendix A). As part of ACSD approval for research (Appendix B), I will provide the ACSD leadership with my findings through an executive summary after completion of my doctorate program at Liberty University (Appendix H).

#### **Other Participant Protections**

Additional steps will be taken to protect the privacy of all involved. All participants will be given a consent letter explaining the voluntary nature of this study, which will include a consent section for their signatures (Appendix E). During this study's data collection and analysis steps, all identifying biographical and demographic information on gradebooks, math assessment results, work samples, and lessons will be blacked out. All the names of teachers and students will be blacked out. During the questionnaire/survey part of this study, the names of educators will be deleted. Data collected will be stored on encrypted and secured school computer files and locked cabinets. The executive summary will be delivered within four weeks after I defend this study with Liberty University's School of Education. After delivering the executive summary to ACSD, I will destroy all data through electronic deleting and the physical shredding of physical documents after three years.

#### Summary

This case study examines educators' perceptions of low performance on mathematics state assessments among high school algebra students with LD in an AE program in California. Research positionality centered on a social constructivist perspective. Data collection methods will employ a survey, individual interviews, and document collection of student transcripts and assessment results. Data analyses included triangulation and various coding cycles to enhance the data's credibility, transferability, dependability, and confirmability. The researcher will receive approvals to conduct this research from the IRB and the ACSD. Measures will be taken to protect participants' confidentiality.

## **CHAPTER FOUR: FINDINGS**

#### **Overview**

This chapter describes the findings of this qualitative case study to understand educators' perceptions regarding factors that influence high-school algebra students with LD in an AE setting to score below and far below basic proficiency levels on the California math standards test despite receiving credit for the algebra course. The problem is that high school algebra students with LD in AE programs perform below or far below basic levels on the California State mathematics standards test despite receiving passing grades in the related algebra course. Using a qualitative method provides insight into the experiences of teachers and administrators working with students with LD in AE settings (Yin, 2018). Surveys and individual interviews from educators and archival student records provided data for this study. This chapter includes participants' demographics, themes, and subthemes to better understand the central research question on possible explanations for the low performance on mathematics state assessments among high school algebra students with learning disabilities in AE settings despite receiving graduation credit for Algebra 1. During this data collection phase, I intended to gather the views of administrators and teachers from surveys and individual interviews and to gather student archival records. This research study was intended to lay the foundation for future research in the areas of mathematics learning disabilities, teacher professional development, and instructional strategies for high school algebra and students with LD.

#### **Participants**

The participant pool in this study consisted of 60 educators from the ACSD AE division from the court, community, and charter programs. Multiple recruitment emails were sent to a pool of 60 participants, followed by recruitment phone calls. Fourteen participants, consisting of six administrators and eight teachers, responded to the screening survey (Appendix E). Among the fourteen participants, there were twelve female and two male educators. Of the fourteen participants from the screening survey, eleven continued their participation in the survey and ten in the individual interviews. Participants that completed the surveys and interviews were included in the data collection. No students or their families were contacted during the data collection phase of this study. Figures 1 through 4 provide general demographic information on the participants based on the screening questionnaire.

Figure 1 describes the AE learning environment of the participants. Each AE learning environment is unique for ACSD. Court schools tend to have the most restrictive environments for students and teachers, given the safety protocols in place. Specifically, the Department of Probation outlines the classroom's physical security measures for students, including all restrictions on the use of technology. In this case study, ACSD must receive approval from the Department of Probation to use laptops, Internet access, and other classroom technologies. Court school operates a typical 8:30 a.m. to 3:30 p.m. daily schedule with schedule breaks for nutrition and lunch in a completely self-contained classroom. A probation officer is inside the classroom to ensure the physical safety of the students and staff. Like the court school, community school programs have fewer restrictions than court schools. ACSD community schools have full access to computers, digital media, the Internet, ACSD-permitted software such as Canvas, and the suite of Google and Microsoft products. ACSD community schools operate a typical 8:30 a.m. to 3:00 p.m. daily schedule whereby students stay in the same classroom with the same teacher for all academic subjects. The charter program is an independent studies program of ACSD whereby students are placed on individual learning contracts and meet with their respective once a week for about an hour. Students can access the regular classroom and work on the classes at home or

school. In all three learning environments, students with LD are provided with accommodations and modifications as outlined by the student's IEP.

# Figure 1

Participants' Working Divisions



Figure 2 describes the participants' possession of a mathematics credential or mathematics authorization added to current credentials. A specific mathematics credential or authorization is not required to teach in the AE programs. AE teachers must possess an education specialist credential (special education mild/moderate credential) and single or multiple subject credentials. A single subject credential can be from any academic content subject such as English, social science, science, art, or physical science. The multiple subject credential is designed for teachers working with the K-5 grade level. Figure 2 notes that over 70% of participants did not possess a mathematics credential or mathematics authorization added to their existing credentials. This figure does not indicate whether participants acquired mathematics knowledge from on-the-job training, professional development, or self-acquired mathematics knowledge. This information will be elaborated upon in the analysis of the individual interviews.

## Figure 2

## Participants' Possession of Mathematics Credentials or Authorizations



Do you possess a mathematics credential or mathematics-added authorization? 14 responses Figure 3 provides an overview of the participants' years of teaching experience. All participants had over six years of teaching experience. Over 57% of participants had more than 20 years of teaching experience. Over 35% of participants noted 16 to 20 years of teaching experience. Teachers with over 15 years of teaching experience may be eligible for retirement. Therefore, ACSD faces a potential shortage of AE teachers soon, with over 90% of teachers eligible for retirement in the next few years.

# Figure 3

Participants' Years of Teaching Experience



Figure 4 provides the number of years of specific AE experience of the participants. In the case of ACSD, the AE programs have generally experienced a stable teaching cadre. Over 14% of ACSD AE teachers have over 20 years of experience specific to AE programs. The second largest group of ACSD AE teachers has six to 10 years of experience. Over 20% of the ACSD teachers have less than five years of AE teaching experience. Over 50% of participants have less than ten years of experience working in AE programs. In this case, ACSD will face a potential wave of retirement of nearly half of its teaching cadre, assuming an educator is eligible to retire after 15 years of service.

# Figure 4

Participants Years of Experience in AE

How long have you worked in alternative education? 14 responses



The following descriptions of participants come from the individual interviews.

Participants were offered directions before the interview began (Appendix I). The interview included open-ended questions and statements for participants to respond to. Each interview lasted 15 to 30 minutes. In addition to gathering codes, intonations, inflections, pitch, and the speaking rate were observed of each participant. Areas of participants' interests and behaviors during the interview were noted. Each participant was assigned a pseudonym to maintain anonymity and confidentiality.

# Table 3

# The Participants

Participant	Teacher or Administrator	Single subject credential	Mathematics credential or mathematics- added authorization	Multiple subject credential	Years in the teaching profession	Years in AE
Anna	Administrator	Yes	Yes	No	20+	1-5
Esther	Teacher	Yes	No	No	20+	11-15
Matthew	Administrator	No	No	Yes	20+	1-5
Thomas	Teacher	Yes	No	No	6-10	6-10
Candace	Teacher	No	No	Yes	16-20	6-10
Deborah	Teacher	No	No	Yes	16-20	11-15
Норе	Teacher	Yes	No	Yes	16-20	6-10
Mary	Teacher	Yes	Yes	No	20+	11-15
Sophia	Teacher	No	No	Yes	20+	20+
Luke	Administrator	Yes	No	Yes	20+	6-10

#### Anna

Anna indicated over 20 years of teaching experience in mathematics but had the fewest years of experience in AE. Anna holds advanced degrees and credentials in education and mathematics. Anna described her extensive background in mathematics and working with students in grades seven to 12. Anna described her experiences teaching in various educational settings, including public, private, and charter schools. Anna was hired as an administrator from a neighboring school district with years of experience working with at-risk students. Although Anna had the fewest years of experience working with the AE population, Anna expressed a passion for helping children from the socio-economic margins and having their voices heard in the education process. Anna emphasized that learning mathematics allowed these students to escape their depressed socio-economic situation. Anna highlighted insufficient foundational math skills among students with LD, a need for more professional development for teachers in mathematics content, and how technology can support instruction. Anna is currently an administrator.

## Esther

Esther indicated over twenty years of teaching experience and 11 to 15 years of AE experience and did not possess a mathematics credential. Esther recently completed her doctorate in special education, specifically studying the transition plans of students with LD in an AE learning environment. Esther described her limited mathematics background and courses taken to earn her university degrees. Esther's soft and pleasant demeanor masked her deep frustrations over being unable to offer adequate support for her students, especially those with LD. Esther emphasized the challenges of students with LD acquiring foundational math skills needed for the CAASPP math assessment. The participant identified teachers' need for professional development because of the heavy reliance on instructional videos rather than direct instruction. Esther expressed a hurtful concern over her students with LD because she felt she did not have enough instructional time and expertise to provide the scaffolded and differentiated instruction needed to help her students truly. Esther expressed her frustrations and need for more training. Esther wants to observe master teachers of mathematics in action so she can learn how to be a better math teacher for her students. Esther was frustrated because her administration would not provide what she requested and would place more administrative duties on top of her overwhelming caseload. Esther felt that her caseload did not provide the time to provide the support needed to meet the instructional goals of the IEP for her students.

## Matthew

Matthew indicated an elementary school background with over 20 years of teaching experience and one to five years of experience in AE. Matthew expressed quiet composure throughout the interview but appeared to be on the verge of explosive indignation that the entire process of mathematics curriculum and instruction was rife with the blind leading the blind. Matthew noted that a teacher's mathematics background, structured instructional approach, and students' foundational math skills contribute to student success. Matthew emphasized that a lack of foundational math skills at the elementary grade level and explicit understanding of math vocabulary influence student math achievement. Matthew felt that teachers were not prepared to provide effective instruction because the teachers were not adequately trained. Matthew expressed frustration that there was a lack of overall mathematics PD provided. Matthew also described the role technology played as an integral role in facilitating learning. Matthew mathematics vocabulary as a significant obstacle to student achievement in math. Matthew is currently an administrator.

#### Thomas

Thomas was the youngest of all participants. He maintained the fewest years of teaching experience; however, all his teaching experience was in an AE environment. Thomas did not have a mathematics credential. Thomas described feelings of a lack of confidence because of a minimal mathematics teaching experience. Thomas also noted students' weak foundational math skills. Moreover, this participant described a need for more focused mathematics professional development for teachers. Thomas highlighted that students' high absenteeism rate prevented them from receiving mathematics instruction in-person or through instructional videos offered through digital platforms such as Canvas or YouTube. Thomas expressed hope for his students and believed he needed more training, especially in special education services, to meet the needs of his students. Thomas expressed his lack of understanding of special education issues, such as dyscalculia, that hinder his ability to offer differentiated instruction to his students.

#### Candace

Candace indicated 16 of 20 years of elementary teaching experience with 11 to 15 years of AE experience. While Candace did not have a mathematics credential, Candace emphasized that she met the basic teaching qualifications by passing the state-required tests for teachers, which included mathematics. Candace emphasized that the shift in teaching responsibilities over the years to more significant administrative duties hindered her ability to meet her students' needs. Candace felt the paperwork was overwhelming and took away precious instructional time. Candace highlighted an inadequacy of foundational math skills at the elementary level for both the teacher and students, an over-reliance on technology to offer students instruction, and an unmet need for professional development on math topics for teachers. Candace also noted that the IEP does not provide adequate guidance for teachers to support students with LD and their math goals. When Candace spoke about her students and math, she paused many times to gather her thoughts and responded very softly.

## Deborah

Deborah indicated the same demographics as Candace. Deborah noted her limitations in math education, especially in foundational math skills. Deborah is the only participant who noted their struggle with dyscalculia. Deborah also emphasized the importance and need for professional development in math content and instruction. Deborah highlighted the need for more detailed IEPs with math support and a more thoughtful math curriculum planning process that addresses the foundational math gaps of students. Deborah shared her personal experiences with dyscalculia and math learning disabilities when growing up as a younger student. Deborah connected with her students' frustrations because she had experienced the same feelings of frustration, anxiety, and defeat when learning math. Deborah hoped to share her success strategies with her students when overcoming math. She called for more math training for teachers by the school district. Deborah exuded an attitude that if she could conquer math, so could her students.

# Hope

Hope exuded confidence and was a no-nonsense teacher. Hope indicated the possession of secondary and elementary school credentials but no mathematics credentials. Hope talked about her 16 to 20 years of teaching experience with six to 10 years of experience in AE. Hope noted that despite having a non-mathematics background, she had been teaching mathematics for five years. Hope noted her students' inadequacy of foundational math skills, a lack of targeted professional development, and a heavy reliance on technology to provide math instruction. Hope also highlighted the low motivation levels of students, especially regarding mathematics. Hope manifested a stern demeanor but a willingness to support her students. Hope believed the IEP, despite all its inadequacies, remained a solid blueprint to meet the needs of her students with LD.

# Mary

Mary possessed a secondary mathematics credential with over twenty years of teaching experience and eleven to fifteen years of AE experience. Mary noted her strength in understanding mathematics. Mary highlighted gaps in students' elementary math content knowledge, a need for more focused professional development for teachers, and discrepancies in standardized test preparedness by students and teachers. Mary described students receiving limited direct instruction in mathematics and using technology as a substitute for students to pursue self-study of math topics. Mary noted that professional development should address the use of technology in mathematics instruction. During the interview, Mary discussed her thoughts in responding to questions and statements. Mary believed she was more of a student guide than a teacher. Mary served on multiple ACSD committees to develop the math curriculum for the Canvas platform.

## Sophia

Sophia had the most years of teaching experience and experience in AE among all the participants in this study. Sophia was known as a strict, no-nonsense teacher who expected the best from her students. Sophia only possessed an elementary-level credential and no mathematics credential. Sophia provided the most extended interview, whose responses often overlapped or repeated the same information from other interview questions. Sophia highlighted recurring and systemic issues faced by teachers and students. Sophia noted a need for her students to have

foundational math skills to be successful on the math assessment test. Professional development could have improved the teacher's effectiveness in mathematics instruction. Moreover, Sophia believed an over-reliance on standardized math curricula offered mixed results because of the highly individualized needs of students with LD. Sophia believed that teachers should expect much from their students and provide abundant support; however, students should ask for support. Sophia believed that teachers and students must communicate well with each other. Sophia emphasized that she could not read students' minds and that students needed to speak up for themselves. Sophia also served on multiple PD committees addressing literacy and math curricula for the school district.

## Luke

Luke indicated over twenty years of teaching experience with six to ten years of AE experience. Luke possessed a secondary and an elementary credential and no mathematics credential. Luke maintained a dry sense of humor filled with sarcasm. Luke noted students' low proficiency in fundamental math skills, a lack of specialized teacher training, and the need for differentiated math instruction. Luke highlighted some advantages of incorporating technology into math instruction; however, the allocated instructional time competes with mathematics instruction. Luke demonstrated frustration with the administration because he felt the administration did not offer the needed support to address the mathematics issue in the AE programs. Instead, Luke felt that teachers and students were set up to fail because of a lack of dedicated support in mathematics. Luke is currently an administrator.

#### **Results**

The purpose of this qualitative study was to understand educators' perceptions regarding factors that influence high-school algebra students with LD in an AE setting to score below and far below basic proficiency levels on the California math standards test despite receiving credit for the algebra course. A survey, individual interviews, and archival records were used to triangulate the data results. This section provides the results gathered from the survey, interviews, and student archival records. The results from this study include three themes and several sub-themes. The triangulation of data resulted in three themes and six subthemes. Three outlier findings resulted from the analysis.

The survey was developed using Google Forms and incorporated 41 Likert-scale statements. Likert-scale statements or closed-ended questions could reveal feedback from educators' views on educating students (Abed & Abu-Ali, 2022; Summers et al., 2019). The five Likert measurements used in this survey include strongly agree, agree, neutral, disagree, and strongly disagree (Rumary et al., 2023). The survey results are listed in Table 4 (Appendix H). The participants were asked to identify the division of AE they worked in to highlight the uniqueness of each AE program (court, community, and charter). Participants' responses to the survey questions generally leaned towards agree/strongly agree and disagree/strongly disagree. Very few responses were in the neutral category. These bipolar responses offer clear guidance on future curricular and pedagogical strategies for educators to help students with LD potentially improve mathematics assessment performance. Appendix H summarizes each participant's responses to all survey questions or statements.

Individual interviews (Appendix I) provide invaluable information for case studies (Yin, 2018). This research studied the insights provided by participants and their experiences while

working with students with LD in an AE setting (Smith et al., 2022). The individual interviews were conducted via Zoom videoconferencing and were based on 18 open-ended statements or questions. During the interview, when the participant requested, the prompt was repeated. Once the participant began responding to each prompt, I did not interrupt the participant. I waited for a distinct end to each statement to each prompt before proceeding to the next question or comment. Many responses were repeated or rephrased while addressing different interview prompts due to the overlapping nature of the topics. For example, participants described technology while discussing curriculum, student foundational math skills, and teacher PDs. Direct quotes from participants will be provided in each discussion of interview question responses to highlight the educators' perceptions of their students with LD performance on the state math assessment.

The ACSD data team provided archival math semester grades and state math assessment records of students with LD. This archival information consisted of student transcripts and test scores on the math portion of the CAASPP assessment (Appendix N). Student numbers were randomized by ACSD when these records were provided. From the 2016-17 to the 2022-23 school years (excluding the 2020-21 school year due to COVID-19), 1288 student enrollments in ACSD took an Algebra 1 or equivalent course. Among the 1288 student enrollments in ACSD, 641 students received direct math instruction over this same period by an ACSD teacher. All students in this archival research were identified as students with LD. Appendix N consists of several tables separated by the academic school year.

An analysis of student archival records provided further information on student performance on math state testing. Appendix N consists of six tables that describe student archival records of course information, credits attempted, credits earned, semester final grades, and the students' corresponding scores on the CA math state assessment (proficiency levels). Student names and their corresponding student identification numbers were masked and randomized by the ACSD information technology office. In certain instances, the masked ID numbers repeated, which meant the same student enrolled in different algebra courses or repeated the same course. The course titles of Int Math 1, Int Math 1 CP, Int Math 1 CP P, Int Math 1S1, Int Math 1S2 Algebra 1, Algebra 1 S1, and Algebra 1 S2 refer to the same algebra content required to meet the CA high school algebra equivalency for graduation. Students earning five credits in each math course earned a minimum D- grade, which met the minimum passing grade to satisfy the CA high school algebra graduation requirement. Students enrolled in ACSD could have taken the algebra course while attending ACSD or at another school. However, this archival analysis consisted of students who received mathematics instruction from an ACSD teacher. Student data was limited to those students who took the algebra course while enrolled in ACSD. No data was provided for the 2020-21 school year due to a pause in testing because of the COVID-19 school closure. The performance levels are divided into four categories: 1 means "not met," 2 means "nearly met," 3 means "met," and 4 means "exceeded."

The ACSD data team provided archival math semester grades and state math assessment records of students with LD. This archival information consisted of student transcripts and test scores on the math portion of the CAASPP assessment (Appendix N). Student numbers were randomized by ACSD when these records were provided. From the 2016-17 to the 2022-23 school years (excluding the 2020-21 school year due to COVID-19), there were 1288 student enrollments in ACSD that took at an Algebra 1 or equivalent course. Among the 1288 student enrollments in ACSD, 641 students received direct math instruction over this same period by an ACSD teacher. All students in this archival research were identified as students with LD.

## **Themes and Sub-themes**

Several themes and subthemes were identified based on the analysis of the survey results, interviews, and student archival records. These data collection methods were used to ensure triangulation. Google Forms was used for the survey. Zoom videoconferencing was used for the individual interviews. Microsoft Excel was used to organize and analyze student archival records provided by the ACSD information technology branch, with all identifying student information masked with randomized numbers for each student. Three themes emerged from the data collection (Table 11): (a) Curriculum, (b) Instruction and technology, and (c) the IEP. Two subthemes were identified under curriculum: (a) Teachers' mathematics content knowledge and (b) Pedagogical knowledge. Two subthemes were identified for instruction and technology: (a) Differentiating instruction and (b) Personalizing instruction. Two subthemes were identified for the theme of the IEP: (a) Dyscalculia and (b) Modifications and accommodations.

Codes were clustered to form subthemes. The codes of foundational math skills, YouTube, and videos were clustered to form the subtheme of the teacher's math content knowledge. The codes of PDs, fluency, Common Core, and experiences were clustered to form the subtheme of teachers' pedagogical knowledge. The codes of building blocks, structure, PEMDAS, addition, subtraction, multiplication, division, technology, computer, and Canvas were clustered to form the subtheme differentiating instruction. The codes of standards, algebraic concepts, Edmentum, instruction, website, and textbooks were clustered to form the subtheme of personalizing instruction. The codes MLD, don't know, no idea, and what's that were clustered to form the subtheme dyscalculia. The codes of goals, proficiency, grade level, and calculators were clustered to form the subtheme of IEP modifications and accommodations. In total, these codes appeared 1021 times in participant interviews.

# Table 11 (Appendix O)

Themes & Subthemes

Theme	Subtheme	Subtheme	
Curriculum	Teachers' math content	Teachers' pedagogical	
Currentum	knowledge	knowledge	
Instruction and Technology	Differentiating instruction	Personalizing instruction	
		IEP Modifications and	
I ne IEP	Dyscalculia	Accommodations	

# Curriculum

The curriculum theme addresses the academic content of mathematics. This study focused on the Algebra 1 mathematics curriculum. ACSD had adopted the Integrated Math 1 curriculum, an evolution of Algebra 1 based on the Common Core standards (Strickland, 2022). The math curriculum is available for teachers and students in textbooks and digital formats using Canvas and Edmentum. The ACSD math curriculum is designed to meet the CA state high school Algebra 1 graduation requirement and the CA state math assessment on the CAASPP. The ACSD administration has encouraged all teachers to use this math curriculum to provide math instruction for all students enrolled in ACSD. Based on this survey, nine out of 11 participants disagreed or strongly disagreed that their students with LD understood how to access this math curriculum (Appendix H). Furthermore, six out of 11 educators agreed or strongly agreed with this survey prompt, and the remaining participants' responses ranged from neutral to strongly disagree (Appendix H). Math textbooks and instructional videos are available as math curricula. ACSD has adopted Integrated Math textbooks from McGraw-Hill publishers. Teachers and students use instructional videos embedded in Canvas, Edmentum, and textbooks. Candace explained, "The materials are the programs, the Canvas program for math…but sometimes we pull out textbooks…I mean, not text…we are given the program and paper and pencil they [students] use." Candace described using mathematics instructional videos from online sources to supplement and replace direct math instruction, "I guess, official and unofficial things [instructional materials] we use to help with instruction are websites like Khan Academy or sometimes YouTube."

## Teachers' Math Content Knowledge

The essence of this sub-theme addresses the need to expand ACSD teachers' foundational knowledge of mathematics. Educators agreed that teachers need focused professional development on mathematics curriculum and to build up the teachers' foundational knowledge of mathematics content given the diverse experiences educators had insofar as mathematics is concerned. Furthermore, 10 out of 14 participants in the screening survey noted they did not possess a mathematics credential or a mathematics-added authorization. Moreover, eight of 14 participants in the screening survey noted they did not address foundational math content knowledge. The remaining six respondents may not have mathematics-based or mathematics-required content for their single-subject credentials.

Further survey data revealed that teachers used instructional math videos as additional support. Nine out of 11 participants agreed or strongly agreed that instructional math videos provided additional support for students with LD. Interview results supported survey data on teacher math content knowledge. Based on the interviews, eight out of 11 ACSD AE teachers did
not have a background in mathematics, while only 3 did. Anna said, "I was a math teacher...[with] close to 20 years teaching...in the private, public, and charter school sectors." Anna further noted, "And I remember was interesting when I received my degree in mathematics, I thought this was so interesting that I didn't really even learn how to teach elementary algebra until I was in my upper-level classes in mathematics." Anna further said, "And so most of those teachers that are teaching the basic building blocks of mathematics to our elementary school students never receive those courses." Thomas succinctly described the typical math background and needs of ACSD AE teachers, "Since the majority of us don't have math credentials, we need some foundational training and then just kind of scaffold and build this up just so that we can ensure that we're teaching math in the appropriate manner." Hope said, "I was thrown into teaching mathematics in alt ed nine years ago." Candance said, "Just through being able to watch a professional like a math teacher, a math math teacher explain it."

The participants also noted that the Canvas learning platform could be improved to provide better curricular support for teachers, especially when explaining how to use Canvas to their students. Survey responses (Appendix H) and interview results indicated that the teachers and students accessed the mathematics curriculum through Canvas. Thomas described the math curriculum as follows: "So we have a course built on Canvas; it's an Integrated 1 math and Integrated 2 math." This math curriculum in Canvas and Edmentum assumes teachers would possess a foundational background in mathematics. However, based on survey and interview results, many ACSD teachers do not possess this type of expertise.

# Teachers' Pedagogical Knowledge

Pedagogy is the instructional practice teachers use to deliver curriculum. A well-trained teacher and student using targeted technology based on scaffolded curricula and instructional

design can help improve performance on the CAASPP math assessment for high school students with LD. Elements of pedagogical issues related to the amount of instructional time appeared across all three data sources in this survey. In the survey (Appendix H), when asked about adequate instructional time to prepare for the math assessment, seven out of 11 participants disagreed or strongly disagreed with this statement. Furthermore, ten of the 11 educators agreed or strongly agreed that students with LD should receive at least one hour of math instructional time daily (Appendix H). However, the same educators were divided when asked if students with LD should receive at least two hours of daily math instruction (Appendix H). Hope said, "The instruction is very rigorous so many students fall behind." Esther described the math instruction offered to her students, "I only see them once a week, but when I do see them, they [students] receive instruction based on where they are in the curriculum." Candace further described the instruction provided to students, "Teaching themselves independently."

ACSD educators have received PD training on UDL and other pedagogical strategies over the past several years. Anna stated, "They [students] receive the adoptive curriculum instruction at their level and a lot of scaffolding...then we have intervention methods that are used." However, Anna did not specify the intervention methods available. Matthew further described the instructional day for students, First of all, it's highly structured...writing prompts daily...warmups...or review of what was done, and then they do into a...lecture, a step-by-step process by the teacher." Anna and Luke are administrators in ACSD. In the interviews, ACSD teachers did not mention instructional practices or examples of specific instructional strategies such as UDL or the flipped classroom. However, when asked if teachers receive regular training on mathematics curricula throughout the academic year, eight out of 11 participants disagreed or strongly disagreed that teachers received math training. ACSD has dedicated extra PD time outside the regular school-year PD schedule for teachers to collaborate and develop the math curricula in the past three years. These extra PDs occurred before the survey of this research project. As a participant in these past PDs, I have collaborated with three additional AE teachers on math curricula development in two different collaboration periods that have occurred once a week during the academic year in the spring semester and for six weeks daily over the summer break.

# **Instruction and Technology**

In this study, the theme of instruction and technology addresses how teachers have incorporated technology into the current instructional practices at ACSD AE programs. Educators overwhelmingly noted that the mathematics curriculum is widely available in digital and textbook formats. Educators described using Canvas, Edmentum, and textbook-based mathematics curricula for the Algebra 1 graduation requirement, which also addresses the math state assessment topics. Canvas is the digital platform teachers and students access by a computer, laptop, smartphone, or tablet using their ACSD email login. Based on survey results (Appendix H) and interview responses, ACSD educators highlighted the use of technology as part of mathematics instruction. Survey and interview results show that students do not necessarily receive differentiated or personalized instruction, given the one-size-fits-all delivery vehicles for mathematics instruction through Canvas, Edmentum, and text-based math curricula. However, the incorporation of technology was limited to using a computer to access the mathematics curriculum on Canvas or Edmentum. Canvas was noted as the primary source of access to the math curriculum. The use of instructional math videos embedded in Canvas or accessed on YouTube was another instructional strategy used by teachers. Thomas described the instructional delivery of the mathematics lessons, "It's predominantly there's videos so the

gentleman describes the equations." The following section discusses the two subthemes of differentiating instruction and personalizing instruction for students. Deborah noted, "I have been focusing primarily on the curriculum that the district developed on Canvas, and it's very much based on embedded videos that the students watch on a given topic."

Technological, pedagogical, and content knowledge (TPACK) research suggests that teachers may not fully understand or possess the skills to incorporate digital technologies in a variety of instructional settings (Saralar-Aras & Türker-Biber, 2024; Oliveira & de Souza, 2022). While ACSD students and teachers may have access to technology in the classroom, this access does not necessarily suggest a strong TPACK understanding (Arias et al., 2021). While ACSD students and teachers may have access to technology in the classroom, this access does not necessarily suggest a strong TPACK understanding (Arias et al., 2021). The results of this survey statement provide inconclusive evidence as to whether educators use direct instruction intentionally or rely on instructional videos, given their general lack of mathematics content mastery. Over 90% of participants noted that students with LD in the ACSD AE program have access to technology to support mathematics learning; educators were equally divided regarding students with LD understanding of how to use the technology to learn math. One participant summed up the instruction and technology behind the mathematics curriculum. Mary offered insights into both Canvas and Edmentum math programs. Mary said, "We also have an online Canvas program for math, which is the better independent program for our math students [and] is the best independent program we have for math." Mary further explained, "I don't think it's [Canvas] the best, but it's the best one we have, and then we also have an online Edmentum math program, which is very difficult for students of any ability."

# **Differentiating Instruction**

When a teacher differentiates instruction, using various levels of technology, such as AT, contributes to varying levels of student achievement (Bouck et al., 2020c; Bouck & Satsangi, 2020). This appropriate incorporation of technology reflects effective teaching that can positively influence student math (Fetler, 1999; Valdez & Maderal, 2021). Interestingly, no participant referred to AT during the interviews. Most participants described using computers and instructional videos without describing the specific differentiation of instruction. When asked how technology supports math instruction, Mary, who claimed to have a math background, responded, "I'll tell you when I'm typically working with a student on math, I'm using paper and pencil." Mary further explained, "If I'm helping a student with their math, I'm actually looking at their work, and I'm teaching them on paper how to do something." Mary then offered an example of differentiating instruction, "Now, we might go online and show them the online calculators...go to YouTube...there are video tutorials within their math program." Despite the teachers' claims that their students with LD did not possess foundational math skills that include fractions, order of operations, and essential addition, subtraction, multiplication, and division (Appendix H), there were no responses of differentiation of instruction to address these areas of need in the interviews. This data supports the current literature, which states that students in AE programs do not necessarily receive a differentiation of services (Miller, 2019).

Educators noted that reliance on video instruction through digital and online formats such as Canvas and YouTube appears to substitute teacher-led direct instruction. Survey and interview results indicate that students with LD in AE programs generally needed elementary-level math skills development, specifically in the content areas of order of operations, number sense, percents, ratios, and fractions. Mary said, "Their competency level is really elementary, second to fifth-grade level." Students with LD in AE programs generally needed elementary-level math skills development, specifically in the content areas of order of operations, number sense, percents, ratios, and fractions (Appendix H). When asked to describe the mathematics instruction, Esther said, "I don't think it really improved their overall math skills." Educators did not go into detail nor give examples of differentiated math instruction in the interviews.

## **Personalizing Instruction**

Personalized instruction is modifying curriculum based on student needs. This type of instruction is built upon a teacher's thorough understanding of the student's academic, social, emotional, and cultural experiences (Reigeluth et al., 2017; Stevens, 2021; Tolou-Shams et al., 2022). Survey and interview data results are conflicting about the personalization of instruction. ACSD has attempted to incorporate social and emotional learning (SEL) through instruction over the years to personalize instruction. Social and emotional learning does support instruction in AE programs (Ohrt et al., (2021). However, no participants mentioned the SEL during the interviews. Survey responses (Appendix H) indicate that over 90% of respondents agreed or strongly agreed that their students with LD prefer direct instruction when learning mathematics (Appendix H); however, interview results indicate that teachers incorporate digital and instructional videos to teach math-based on the ACSD mathematics curriculum on Canvas, Edmentum, and available textbooks in digital format. Educators noted that reliance on video instruction through digital and online formats such as Canvas and YouTube replace teacher-led instruction. In the case of Candace, she noted, "We depend on videos...we depend on programs that will show us step-by-step instructions." She added additional instructional support, "If they need help, they will call me over, and either I'll help them [with math], or if they need a lot of help, we'll refer them to tutoring." One reason for additional tutoring support may be ACSD

teachers' limited time with students. In the case of community and court schools, mathematics lessons are at most one hour per day. In the case of the charter school with ACSD, students come in once a week for an hour-long appointment with the teacher.

Instructional practices should personalize instruction. However, in this study, generalizations were given to describe the personalized aspect of instruction without using the phrase "personalizing instruction." Survey statement results support interview responses related to students' foundational math skills. Specifically, the results of survey questions 25 to 36 (Appendix H) support educators' observations that students lack proficiency in foundational math skills such as basic geometry (perimeter and area of basic geometric shapes), the number system, fractions, percentages, decimals, and the order of operations remain low support the interview statements of a general lack of foundational math skills. Over 70% of respondents disagreed or strongly disagreed with the survey statement that students with LD entering AE have foundational math skills. Educators disagreed or strongly disagreed with the survey statements that their students with LD had a proficient understanding of addition, subtraction, multiplication, division, order of operations, and fractions (Appendix H). Interview responses referred to foundational math skills students lacked, but no details were provided in the personalization of instruction. Educators highlighted that their students held basic elementary math skills of addition, subtraction, multiplication, and division. In that practice, teachers often use paper and pencil and review questions step-by-step in an I-do, you-do instructional strategy. Matthew gave details of this lack of foundational math skills, "Their foundational math skills are not that great. They have a hard time with...addition...subtraction...multiplication...and division." Matthew further detailed, "It's (math lesson) highly structured...[with] warm-ups...a lecture, a step-by-step process by the teacher." Hope detailed this lack of foundational math

skills, "Their [Students'] competency is very low...they need multiplication, division, addition, subtraction...multi-step equations, fractions, and geometry."

# **The Individualized Education Program**

The IEP guides educators' curricular and pedagogical practices when working with students with LD in all learning environments. Students with LD qualify for special education services based on their IEP designation. For many students with LD, the category of specific learning disability (SLD). However, specific descriptions of the learning disability are not specified within SLD. SLD encompasses a multitude of disabilities (Küpper, 2000; Y1lmaz et al., 2022). MLD could qualify under the SLD category (Milli et al., 2022). This designation guides educators in designing an individualized learning plan for students with an IEP. These plans include specific academic content goals and necessary curricular and instructional accommodations and modifications.

When asked if the IEP SLD designation is adequate for math instructional guidance, seven of the 11 respondents disagreed or strongly disagreed with this statement; three of the 11 participants agreed or strongly agreed, and one offered a neutral response. One possible explanation for those educators who disagreed or strongly disagreed that the SLD designation was adequate to provide math instructional guidance was a lack of understanding of the concept of dyscalculia or MLD. The individual interviews revealed that many ACSD educators were unfamiliar with dyscalculia, which may explain why these educators understand the importance of IEPs. However, when applying SLD to mathematics learning, the SLD designation may need to be revised for students with LD and mastering mathematics concepts to perform at proficiency levels on the CAASPP. Further discussion of dyscalculia and the IEP modifications and accommodations will be provided in the following sections. The survey and interview results support the possibility that students with LD in AE programs whose SLD designation may not necessarily be adequate to support math learning and achievement. This lack of appropriate services represents potential non-compliance with the IEP, which can be interpreted as a violation of federal law (Beck & DeSutter, 2020; Küpper, 2000; McKenna et al., 2023).

## Dyscalculia

*Dyscalculia* is an inability to acquire knowledge of basic math facts, numerical quantities, and calculations (Mutlu et al., 2022). As an MLD, dyscalculia is a condition whereby an individual cannot acquire and apply math skills and concepts to reason and solve math problems (Megawati & Sutarto, 2021; Milli et al., 2022). MLD is not identified as a separate category of learning disabilities that qualifies students with LD for special education services; however, MLD could qualify under the SLD category (Milli et al., 2022). While all ACSD AE teachers have an SAI credential, many ACSD educators in this study demonstrated a lack of understanding and familiarity with dyscalculia. Teachers were unaware of nor did not understand the concept of dyscalculia and its applications for the IEP. Educators also noted that teachers needed to better understand the IEP, MLD, and dyscalculia. When asked about her experience with dyscalculia, Hope said, "I don't even know what that is." When asked about his experience with dyscalculia, Thomas quickly responded, "What's that?" Matthew stated, "I'[ve] not [heard] that term." When asked about dyscalculia, Luke said, "With what, now? I'm not familiar with what that is." With over 20 years of mathematics teaching experience, Anna stated her experience with dyscalculia as "Zero." Hope expressed confusion, "Don't even know what that is." Only one teacher understood dyscalculia. Deborah shared her personal experiences with dyscalculia, "Oh I love this word. So if we're talking about my personal experiences with dyscalculia, I'm I'm a prime example of what we need to improve our mathematics instruction

for students. I've always had a challenge working with numbers."

# **IEP** Modifications and Accommodations

Modifications and accommodations for the students should be based on the IEP's present levels of performance, goals, and services agreed upon by the IEP team. Personalized instruction is modifying curriculum based on student needs. This type of instruction is built upon a teacher's command over curriculum, pedagogy, and understanding of the student's ZPD. Specifically, the appropriate use of technology should be reflected in students' IEPs (Myung & Hough, 2020). This designation guides educators in designing an individualized learning plan for students with an IEP. These plans include specific academic content goals and necessary curricular and instructional accommodations and modifications. Survey responses to question 40 (Appendix H) support interview responses regarding the SLD designation as adequate to provide math instructional guidance: Seven out of 11 responses disagreed or strongly agreed that the SLD designation was adequate to provide math instructional guidance. Sophia reported, "I see great discrepancies in that. So here I have a kid that's 14, 15, or 16 years old so that's ninth, 10th, and 11th grades, but their academic abilities are at second, third, or fourth grades."

Teachers require more PD and training to identify appropriate modifications to Canvasbased mathematics curricula and implement them with the necessary accommodations in pedagogy. Candace said, "Probably on an average, they [students] are able to add and subtract and multiply and divide, usually with a calculator." Deborah said, "They tend not to have any understanding of ratios, proportions, fractions, or practical applications as far as like real world problems." In the area of instruction, over 72% disagreed or strongly disagreed with the statement that teachers receive adequate algebra content training. Matthew said, "Their foundational math skills are not that great." In the same survey, over 72% disagreed or strongly disagreed with the statement that teachers received regular training on mathematics curricula throughout the academic year. Regarding teacher training in mathematics, Thomas said, "That I can think of as of right now, none that I can think of."

# **Outlier Data and Findings**

Two unexpected outlier data and findings were the social-emotional aspect of students with LD in AE programs and one student's performance level on the CAASPP. Educators' perceptions and attitudes towards mathematics revealed a lack of confidence. Educators noted the students' lack of confidence and motivation to learn mathematics. Students with LD experience increased anxiety when working on algebra (Hord et al., 2020). Only two teachers referred to the emotional aspects of mathematics learning in this study.

## **Outlier Finding #1**

Student archival records (Appendix N) list all students enrolled in ACSD who receive full credit for Algebra with minimal passing grades and their corresponding test scores on the state math assessment since 2016. One student scored a two, which equates to "nearly met" the standard on the performance level of all the data points among all students from the 2016-17 school to the present. This one outlier score stems from 641 ACSD students from 2016 who enrolled in an Algebra 1 course, received five credits with passing grades, and took the CAASPP math assessment test. All other students in this data set scored a one, which equates to not meeting standards.

### *Outlier Finding #2*

While survey and interview responses address this study's curricular, pedagogical, and IEP aspects, two teachers referenced the emotional aspects of learning mathematics. Luke said, "And as it comes up to the level where we get them at middle or high school, they've all but

either decided that math is too hard or they're not good at it, and they've already given up." Thomas noted how student confidence was connected to mastering mathematics topics. Thomas said, "The kids are the least confident when they're doing the math in terms of how they feel about themselves." This finding leads to another avenue of future research to address students' experiences with LD and the emotional aspects of learning mathematics.

## **Research Question Responses**

This qualitative case study used a survey, interviews, and student archival records to gather data on the low performance of students with LD on the CA state mathematics assessments in AE learning environments. The central research question was used to gather information on educator's perceptions of this low performance. Sub-question one was used to gather participants' perceptions of the professional development they received in mathematics. Sub-question two was used better to understand the role of technology during math instruction. The analysis of survey responses, participants' responses from the interviews, and analysis of student records revealed that the themes of curriculum, instruction, and technology should be addressed to help students with LD in AE learning environments improve mathematics performance on the state math assessment.

### **Central Research Question**

What are educators' perspectives on possible explanations for the low performance on mathematics state assessments among high school algebra students with learning disabilities in AE settings despite receiving graduation credit for Algebra 1? The themes of curriculum, instruction and technology, and the IEP address this central research question. Unanimously, all participants described the lack of foundational math skills equivalent to the elementary school level students with LD did not possess when entering their academic program. Esther succinctly stated why students with LD were performing so low on the state math assessment, "Because they fail[ed] to receive those foundational math skills in their primary years." When asked to describe the foundational skills students with LD have when entering their academic program, many participants provided specific math content skills they believed their students needed to perform well on the math state assessment test. Aaron said, "We have a lot of students who do not know their algorithms." Thomas said, "They don't know numbers of operations, PEMDAS." Candace said, "But when it comes to [the] order of operations or integers or anything like that, they're unable to do it." Finally, Deborah provided the greatest level of detail in foundational math skills missing in students with LD, "They tend not to have any understanding of ratios, proportions, fractions, or practical applications as far as real-world problems."

When asked about the curricula and instruction offered to students, participants overwhelmingly described using online math platforms such as Canvas and other digital formats teachers and students used. The participants described how they used YouTube and other digital formats to provide math instruction to students. When asked to describe the mathematics curricula and instructional materials teachers have access to, several participants described Canvas and other online materials. Thomas said, "We have a course built on canvas. It's predominantly videos." Candace said, "We have access to a textbook and teacher edition and there are other online, I guess official and unofficial. Websites like Khan Academy or sometimes YouTube just so I can present my students." Educators in this study did not evaluate the effectiveness of these math curricula or the instructional strategies used. Student archival data would lead to the conclusion that the current math curricula, instructional strategies, and the IEP are not effective when supporting students with LD in an AE learning environment, given that all students since the 2016-17 school year enrolled in ACSD did not meet the standard on the state math assessment.

### **Sub-Question One**

What are educators' perceptions of mathematics training and professional development addressing high school students with LD in an AE environment? Collectively, the subthemes of teachers' math content knowledge, teachers' pedagogical knowledge, dyscalculia, and IEP modifications and accommodations address this sub-question. Most participants noted the dearth of professional development and training in mathematics content. The sub-theme of teachers' content and pedagogical knowledge was revealed in several participants' responses. Participants noted the importance of training and professional development to increase a teacher's ability to provide better curriculum and instruction. Deborah said, "I don't have enough foundational skills to know how to even understand these concepts, let alone teach them to you. And this isn't fair." Thomas said, "That I can think of as of right now, none that I can think of." Luke said, "We get a lot of PD in the programs that teachers are expected to utilize but not necessarily on instructional delivery."

Insofar as PD and teacher collaboration are concerned, teachers lacked the training and time to address the concept of dyscalculia and the pedagogical strategies related to the modifications and accommodations of the math curricula required in the IEP to meet students' goals. Survey results (Appendix H) noted that ten participants (90%) disagreed or strongly disagreed that educators had time to collaborate on math topics. Furthermore, seven out of 11 responses disagreed or strongly disagreed over whether the IEP designation was adequate to provide mathematics support. Sophia noted, "So here I have a kid that's 14, 15, or 16 years old,

so that's ninth, 10th, and 11th grades, but their academic abilities are at second, third, or fourth grades." Mary said, "We haven't. We don't get math at PD trainings."

### **Sub-Question Two**

What are the attitudes of educators towards technology in the learning of algebraic concepts among high school students with learning disabilities in AE settings? The theme of instruction and technology addresses this sub-question. Survey results (Appendix H) indicate that educators believe teachers and students have the technology to access the math curriculum. However, the survey results were mixed when asked if their students with LD understood how to use that technology in learning mathematics. While all participants described using Canvas, some noted that students required scaffolding and other means of instruction. Matthew said, "We, we tend to use the paper and pencil so that when they see it, then they can repeat those steps on another problem." Thomas said, "It's all Canvas-based. They have Khan Academy."

Educators in this study lack understanding in TPACK and other instructional design methods when designing and implementing technology into their instructional practices. The default instructional practice is for teachers to use instructional videos when they cannot explain algebraic concepts to their students. Sophia said, "I use YouTube, I use jMap, I use a variety of resources like the book." Hope said, "So they do have to use their Dell computers. They have to go online. They do the practices online, the test online. Everything is online." Esther said, "We depend on videos. We depend on online calculators. We depend on programs that will show us step-by-step instructions."

## **Sub-Question Three**

What are educators' experiences with the zone of proximal development math skills needed by students with learning disabilities to acquire algebraic knowledge in AE settings? The subthemes of teachers' math content knowledge, differentiating instruction, dyscalculia, and IEP modifications and accommodations address this sub-question. Survey responses clearly describe students with LD having difficulty with elementary grade-level math concepts such as fractions, ratios, geometric shapes, and order of operations (Appendix H). Teachers agreed or strongly agreed that their students lacked foundational math skills when entering their AE program. Students at the elementary level should have math skills related to number sense and integers. Educators appeared to replace teacher-led math instruction with videos embedded in Canvas or YouTube. To compound matters, implementing appropriate IEP accommodations and modifications is reduced, given that teachers are generally unaware of dyscalculia. When asked about dyscalculia, many participants noted their lack of understanding or experience with this disability. Hope said, "I don't even know what that is?" Luke said, "With what now? I'm not familiar with what that is." Mary provided a general understanding of this topic, "It's like dyslexia in reading, like where you're mixing up numbers and not able to keep them straight." When asked about how the IEP designation supports math learning, Anna said, "I see that a lot of the support mechanisms that are put in place through the IEP are very generalized, and they're not specific enough to help our students where they need support and assistance in

math." Deborah said, "So we use a lot of videos to support math instruction. So it's all technology and very little instruction is generally given by me."

### Summary

This chapter analyzed the results of data collected from a survey, individual interviews, and student records. Curriculum, instruction and technology, and the IEP were the overall themes of this study's findings. Subthemes included teachers' math content knowledge, pedagogical knowledge, differentiating instruction, personalizing instruction, dyscalculia, and IEP modifications and accommodations. Four specific findings from this study have been discussed in the results and themes sections of this chapter. First, students with LD in AE learning environments lacked foundational math skills. Second, teachers and students relied heavily on technology for mathematics curriculum and instruction. Third, teachers lacked professional development and training on foundational math topics and special education instructional strategies to implement the IEP. Fourth, students did not receive differentiated and personalized math instruction as required by their IEPs. Fifth, the IEP designation of SLD may not be enough to provide the appropriate modifications and accommodations to support the IEP math goals of students with LD. The results of this study indicate many future avenues of study to address mathematics performance among high school students with LD in AE learning environments.

### **CHAPTER FIVE: CONCLUSION**

#### **Overview**

The purpose of this case study was to understand educators' perceptions regarding factors that influence high-school algebra students with LD in an AE setting to score below and far below basic proficiency levels on the California math standards test despite receiving credit for the algebra course. This chapter describes findings based on the triangulation of data collected during June of the ACSD academic calendar. This chapter consists of five discussion subsections: (a) interpretation of findings, (b) implications for policy and practice, (c) theoretical and methodological implications, (d) limitations and delimitations, and (e) recommendations for future research. A summary of the entire study will be provided at the end.

### Discussion

A survey, individual interviews, and student records were collected and analyzed to understand educators' perceptions regarding factors influencing high-school algebra students with LD in an AE setting to score below and far below basic proficiency levels on the California math standards test despite receiving credit for the algebra course. For this study, 14 participants responded to a screening questionnaire, 11 responded to a survey, 10 educators were interviewed, and 1,289 student enrollment records from 2016-17 to the present (except for the 2020-21 school year) provided the data analyzed. An *enrollment record* is defined as a student enrolled in an Algebra 1 or similar course. This section will discuss the case study's findings in light of the theme of curriculum and instruction. This discussion section has five major subsections to include: (a) Interpretation of Findings; (b) Implications for Policy or Practice; (c) Theoretical and Empirical Implications; (d) Limitations and Delimitations; and (e) Recommendations for future research.

# **Summary of Thematic Findings**

This case study explored educators' perceptions regarding factors that influence highschool algebra students with LD in an AE learning environment to score below and far below proficiency levels on the California math standards test despite receiving credit for the algebra course. According to CAASPP, proficiency levels are identified by four levels: Level 4 (Standard Exceeded), Level 3 (Standard Met), Level 2 (Standard Nearly Met), and Level 1 (Standard Not Met) (CA Department of Education, 2024). After collecting and analyzing the data, three major themes emerged: Curriculum, Instruction and Technology, and the IEP. The curriculum theme contained two sub-themes: (a) Teachers' math content knowledge and (b) Teacher's pedagogical knowledge. The instruction and technology theme had two sub-themes: (a) differentiating instruction and (b) personalizing instruction. The IEP theme had two subthemes: (a) Dyscalculia and (b) IEP modifications and accommodations.

#### **Interpretation of Findings**

This section provides an interpretation of the themes and subthemes discovered during this qualitative case study. The theme of curriculum and content addresses academic content (curriculum) and strategies for teaching (instruction) that curriculum. Sub-theme one describes a well-trained teacher using targeted technology-based, scaffolded curricula and instructional design that can help improve student learning and achievement in all areas of content and assessments. Sub-theme two describes how all students, specifically students with LD, benefit from differentiated instruction to meet IEP goals and improve math assessment scores. The following sections support, refute or require further study of the interpretations of this case study's findings.

## Special Education in Alternative Education Learning Environments

The concept of special education in AE learning environments encompasses three main ideas: (a) training for AE teachers, (b) the need for improved implementation of Individualized Education Programs (IEPs), and (c) the use of technology for students with learning disabilities (LD). Students with LD often face learning challenges due to disabilities, behavioral issues, or poor attendance in AE learning environments (Azid et al., 2022; Fortems et al., 2023; Kumm et al., 2020; McGee & Lin, 2020). Proper implementation of IEPs is lacking (Wong & Rashid, 2022) because of a lack of training and understanding of the student's disability designations. Technology is essential in delivering instruction to students with LD (Valdez & Maderal, 2021). Properly implementing multimedia technology and using AT can have positive learning effects on students (Bruno et al., 2020; Yamchi et al., 2021).

## **Alternative Education Teacher Training**

A well-trained teacher in curriculum and instruction is the cornerstone to helping students with LD to learn academic content, such as mathematics. Teachers need additional professional development and training in two specific areas: (a) foundational math concepts and (b) increased knowledge of dyscalculia and its relevance to the IEP accommodations for students with LD. Educators noted that they struggled in and needed more confidence in foundational math skills to help their students with LD in AE learning settings. Participants noted the ongoing need for professional development to collaborate with colleagues and develop curricula supporting the literature on continual training (Copur-Genctürk & Li, 2023).

Teachers need additional training on the topics of MLD and dyscalculia. *Dyscalculia* is an inability to acquire knowledge of basic math facts, numerical quantities, and calculations whereby an individual cannot acquire and apply math skills and concepts to reason and solve math problems (Mutlu et al., 2022; Megawati & Sutarto, 2021; Yılmaz et al., 2022). MLD is not listed as a specific learning disability that qualifies students for special needs services. Instead, MLD could qualify under the general specific learning disability qualification (Yilmaz et al., 2022). Ten out of 11 participants acknowledged that they did not know or were unfamiliar with the MLD of dyscalculia. Educators also believed that while the IEP provided a general strategy to support students with LD overall learning needs, the IEP did not address specific instructional strategies to support math-learning needs.

Students with MLD historically received less attention than reading education (Rivera, 1997). Effective teaching techniques to high school students with LD and low math performance should consider students' prior achievement, students' perceptions of self-efficacy, the content of instruction, management of instruction, educators' efforts to evaluate and improve instruction, and educators' beliefs about effective instruction were contributing factors to students experiencing repeated math failure (Hamukwaya & Haser, 2021). Nonetheless, a well-trianed teacher with sufficient knowledge and skills to teach math content supports student achievement (Moh'd et al., 2021). However, the findings of this study suggest that teachers are not adequately trained in foundational math content.

## **Need for Improved IEP Implementation**

All students with LD must receive instructional services as outlined by the IEP if those students qualify for special education services (House et al., 2018; Strassfeld & Cheng, 2022). Personalized supports are needed to implement the IEP effectively and appropriately (Mathur et al., 2020, 2021; Zhang et al., 2011). Professional development is crucial in properly implementing IEPs (Aspiranti et al., 2021; Mathur et al., 2021; Wong & Rashid, 2022). The findings in this case study support the literature in that an overwhelming majority of participants acknowledged their need for additional training in MLD, dyscalculia, and differentiated instruction to support the IEP process. The participants acknowledged that the IEP offers general guidance; however, when it comes to specific instructional accommodations for math, the participants noted the need for additional training. One area that was referenced in the interviews addressed credentialing. While all participants noted their credentials, only one participant indicated that while they possessed all the proper credentialing requirements to teach in the AE program offering SAI services, that participant felt they were not prepared to teach foundational math skills to their students (Darling-Hammond, 2023; Fetler, 1999; Suhaini et al., 2020).

## **Technology and Students with Learning Disabilities**

The findings in this study are inconclusive regarding the positive influence on student mastery of mathematics concepts to meet standards on the state math test. Technology is essential in teacher planning, preparation, and student achievement (Valdez & Maderal, 2021). Multimedia and AT suggest an intentional use of technology to remove student learning barriers (Bruno et al., 2020; Yamchi et al., 2021). Technology, specifically AT, such as text-to-speech or speech-to-text technologies, computers, tablets, and instructional videos, are standard technologies students with LD use in the classroom (Baykal et al., 2023; Bouck et al., 2020c; Bouck & Satsangi, 2020; Bruno et al., 2020; Yamchi et al., 2021). The participants' responses did not mention the use of tablets or iPads in their instructional practices; therefore, no conclusion can be drawn on the helpfulness of this technology regarding its use of elementary-grade math topics of multiplication and division (Mulcahy et al., 2023).

The findings of this case study support the need to incorporate successful online teaching practices to support student learning in math, special education, and assessments (Enders & Kostewicz, 2023; Kellems et al., 2020; Kumar et al., 2019; Martin et al., 2019; Olakanmi et al.,

2020). Participants noted the need to receive adequate training in mathematics content and instructional practices. One participant noted the need to see other master math teachers in action to learn practices and instructional techniques to be used in their classrooms.

# Mathematics and Special Education

This interpretation contains two main ideas: (a) ZPD and students with LD learning mathematics and (b) math testing. The findings support the literature regarding a highly qualified and trained teacher laying the instructional foundation for students with LD to acquire knowledge (Patrick et al., 2023; Phillippi et al., 2021). The participants, in this case, do not support the literature on a high turnover rate among teachers in AE (Minkos et al., 2023). Most participants (78%) had over six years of experience teaching in AE programs. Of those 78%, 42% had over 11 years of experience in AE settings. The findings of this case study support the existing literature documenting the disconnect between mathematics curricula and pedagogy used by special education teachers (Sheppard & Wieman, 2020).

## Zone of Proximal Development and Students with Learning Disabilities

Vygotsky's thoughts on ZPD are central to the learning process for students (Vygotsky, 1979). There are curricular aspects to ZPD in foundational math skills that students with LD in high school AE programs should possess before taking high school algebra courses. Foundational math topics for algebra and higher levels of mathematics require an understanding of fractions and are usually taught from grades 1 to 3 (Bouck et al., 2020b; Fuchs et al., 2021; Fuchs et al., 2005). Additional math topics in this ZPD include algebraic multi-step equations, ratios, and percentages (Brafford et al., 2023; Hord et al., 2020). The findings of this case study are inconclusive regarding how the instructional practices support students with LD in an AE setting regarding math instruction using manipulatives because participants generally noted the use of instructional videos (VanUitert et al., 2020).

The instructional practices in this case study do not support the literature on instructional practices such as the FC model, MTSS, PBIS, and blended learning strategies (Estrapala et al., 2021; Grasley-Boy et al., 2021; Minkos et al., 2023; Nindiasari & Yuhana, 2020; Chen & Shin, 2022). Participants noted the heavy reliance on instructional videos and using computers to teach mathematics. Only one participant noted the importance of direct, hands-on instruction, specifically, the "I-do you-do" approach whereby students replicate the teacher's explanations and then apply learned principles in different examples. Some participants noted the independent learning environment of their AE program, whereby students take ownership of their learning. The findings regarding this independent model of learning are conclusive regarding the literature where students take on greater ownership of their learning (Galindo-Dominguez, 2021; Öztürk & Çakıroğlu, 2021). One participant supported the literature regarding using worksheets to reinforce mathematics learning (Riyati & Suparman, 2019; Widodo et al., 2023). The findings are inconclusive regarding the effectiveness of PBL strategies, concept maps, and student activities when incorporated into math lessons (Umriani et al., 2020).

### Math Testing

The findings in this case study do not directly support the literature regarding the need for explicit teaching of math concepts for improved math assessment results (Hughes et al., 2022; Twyman, 2021). The findings are inconclusive insofar as incorporating incentives to influence student performance (Rahimi et al., 2021). Several participants noted that students and teachers review questions on the math assessment test, which may contribute to the assessment as a

learning activity in itself (Gweon, 2021); however, student archival records indicated that all students in this case study received the below proficiency marks on the math standards test.

One finding supports the literature regarding math test anxiety for students and teachers (Enu, 2021). Math assessments are high-stakes tests where school performances are published annually. Participants acknowledged receiving training on administering these tests; however, they also noted that they did not receive foundational math training for these tests. Several participants noted that students with LD entering the AE program have experienced so much failure in math; these students demonstrated an "I give up" mentality at the beginning and throughout math classes. Participants noted they had to focus on the social-emotional aspects of teaching more than the mathematics content. This focus on the social-emotional aspects of teaching does support the literature (Kennedy et al., 2022; Venezia, 2021; Xue et al., 2023).

The findings of this case support the literature regarding the misalignment of math curricula and instructional strategies (Leet et al., 2021; Long & Bouch, 2023). Participants documented the plethora of Canvas-based math content; however, they noted the need for training to use this curriculum in their AE learning setting. Specifically, participants noted that the regimented and limited instructional class time does not offer time to provide feedback to students (Araya & Gormaz, 2021; Kusamaryono et al., 2022). Participants could describe the curricula that should be used; however, they also noted their need for foundational math concepts. Therefore, participants heavily relied on instructional videos.

### **Implications for Policy**

The purpose of this case study was to understand educators' perspectives on the low performance of high school students with LD in AE learning environments on the CA state math assessment. The leadership of schools determines policy. The practice is the implementation of those policies. ACSD is uniquely positioned to end the low performance of students with LD on the state math assessment. The findings of this study offer suggestions for policy rooted in a review of the current literature contrasted by the triangulation of data collected from a survey, interviews, and archival student records.

The findings of this case study offer ACSD data-driven guidelines for policy regarding curriculum and instruction. ACSD leadership should consider PD and training opportunities for educators targeted on foundational math skills, appropriate implementation of technology use during instruction, and continued training into the concepts of dyscalculia and the IEP process. These suggestions are outside the realm of teacher credentialing issues. However, the policy implications are built upon a core educational principle developed by Vygotsky and the sociocultural theory of learning. A well-trained teacher can tremendously influence the teacher-student relationship, supporting students in reaching their highest academic potential. These professional developments should be offered continually. The true challenge comes with the allocation of finite school resources.

## **Empirical and Theoretical Implications**

The purpose of this qualitative case study was to understand better educators' perceptions regarding factors that influence high-school algebra students with LD in an AE setting to score below and far below proficiency levels on the CA math standards test. This section discusses the empirical and theoretical implications by comparing the findings from this study and Vygotsky's sociocultural theory of learning, as discussed in Chapter Two (Vygotsky, 1986; Vygotsky et al., 1978). The findings in this section will be connected to the importance of a well-trained teacher in curricular and instructional practices to support students with LD in achieving better on the state math assessments.

# **Empirical Implications**

The findings in this case study have empirical implications and show areas of alignment within certain areas of the literature review detailed in Chapter 2. The overarching theme of curriculum and instruction is supported by the sub-themes of teachers' content and pedagogical knowledge and differentiating and personalizing instruction for students. This section will discuss two areas of empirical implications: (a) special education in AE programs and (b) special education and mathematics.

The findings reinforce four aspects of the literature review regarding special education in AE programs: (a) IEP implementation, (b) AE teacher training, and (c) Technology and students with LD. The survey results, participant interviews, and student records support the finding that teachers lack curricular and pedagogical training to fully scaffold and differentiate instruction to meet the academic needs of students with LD in an AE learning environment.

The proper implementation of the IEP should be the central focus of all teachers working with students with LD. Participants described a need for instructional training to properly implement the IEP goals (Wong & Rashid, 2022). Most participants indicated no knowledge of MLD or dyscalculia (Košč, 1974). Not understanding what dyscalculia is hinders teachers' abilities to provide scaffolding and differentiated instruction in foundational math skills for students with LD in AE programs. This lack of understanding of dyscalculia has implications for AE teacher training, disability identification, and the use of technology with students with LD.

Most participants indicated that they lacked and did not receive professional development or training in foundational math topics to support their students' math needs. Teacher training is paramount regarding curriculum and instruction (Darling-Hammond, 2023; Hoge & Rubinstein-Avila, 2014; Koressel et al., 2022). This lack of training directly impacts student learning, especially in the foundational math topics needed for success on the state math assessments at the high school level. Math assessments are helpful for instruction in the classroom (Mahlambi et al., 2022). In the case of ACSD, since the 2016-17 school year, all students receiving math instruction did not meet academic standards on the CAASPP math test. Further research is required to explore, if any, the direct correlation between teacher pedagogical knowledge of foundational math topics and students with LD in AE environments learning math to meet academic standards.

The findings of this case study document the role of technology and students with LD in AE learning environments regarding mathematics instruction. Technology is essential in curriculum and instruction (Serutla et al., 2024; Valdez & Maderal, 2021; Yamchi et al., 2021). Participants overwhelmingly noted the use of technology in the classroom (Olakanmi et al., 2020). Participants described how the math curriculum relies heavily on the Canvas learning management system. Participants noted the use of YouTube and other Canvas-based instructional videos for mathematics. Participants noted that they would use videos to replace direct instruction because they felt they needed to be more adequately trained or knowledgeable in foundational math topics to offer direct instruction to students. The use of technology often substitutes proper instructional strategies (Brown et al., 2019; Chang et al., 2022; Lee et al., 2021).

The second empirical implication supports the current literature regarding mathematics and special education instruction (Özdemir & Kılıç, 2020). The findings of this case study do not fully support the literature review regarding video-based instruction and mathematics (Satsangi et al., 2021b). In this case, archival records from the 2016-17 school year show that no student demonstrated or met academic standards on the state math assessment, which focused on Algebra 1 topics. The use of multimedia, such as YouTube videos and Canvas-based instructional videos, does not fully support the literature on technology use among students with LD (Mulcahy et al., 2023). However, participants did note the importance of instructional videos for the educator as a review and support when teaching students with LD the foundational math concepts needed to demonstrate mastery of the state math assessments.

## **Theoretical Implications**

The findings in this case study reinforce Vygotsky's understanding of the sociocultural theory of learning and the importance of the teacher-student relationship (Vygotsky, 1986; Vygotsky et al., 1979). The sociocultural theory of learning emphasizes a well-trained teacher (Vygotsky, 1986). The findings in this case study noted that teachers in AE environments need specific training in foundational math skills, which were not addressed in the credentialing program, and a greater understanding of special education topics related to instructional practices to support dyscalculia and MLD. Participants shared a general lack of understanding of dyscalculia and MLD with the IEP process. Participants also noted that the IEP provided a general structure of support that was not specific enough nor scaffolded appropriately to meet the needs of students with LD in AE learning environments.

This study reinforced Vygotsky's core ideas around the ZDP and students. Participants' survey responses and interviews overwhelmingly noted the lack of foundational math skills by students with LD. These foundational math skills are centered on the basic building blocks of mathematics. Vygotsky's views on ZPD and the teacher-student relationship are fundamental to understanding how a child learns (Gindis, 1995). This case study revealed that students entering AE programs had a ZPD in their mathematics learning in the second/third to about the sixth-grade level. Specifically, participants noted a general lack of understanding of the concepts of

number sense, fractions, ratios, percents, and one-step variable equations. The archival record of students with LD enrolled in ACSD indicated that all students, except for one situation, did not meet academic math standards on the CAASPP math test, which is a high school-level examination.

# **Limitations and Delimitations**

This case study considered limitations and delimitations to ensure the validation and reliability of data collection and analysis. *Limitations* are weaknesses that cannot be controlled. *Delimitations* are intentionally made to provide boundaries to this study. The following sections describe the limitations and delimitations of this study.

## Limitations

The limitations of this case study were few. The major limitation was the time allocated to collecting data. IRB approval was received relatively quickly. However, ACSD site approval took longer and was ultimately received for all teachers on the last day before the summer break. The summer break substantially limited the availability of participants. A smaller portion of teachers and administrators were available for data collection because of the reduced staffing needs of summer school. If data collection did not occur during the one month of summer school, data collection would have to wait nearly two additional months when teachers and administrators were stisfied during the summer school period.

### **Delimitations**

The delimitations of this case study were intentionally set to obtain specific participants and students. All participants had to be teachers or administrators in the ACSD AE division. All teachers had to possess a special education credential and either a single or multiple subject credentials. These credentials combined permitted the teacher to offer SAI services to students with LD in AE settings. All administrators had to possess an administrative credential. No delimitation was set on the years of experience teaching in general or working in an AE environment. ACSD masked all student archival information. The delimitation set on student data was for students with LD, and there was no delimitation on the type of learning disability the student was diagnosed with. This delimitation aimed to gain a large enough sample from the 2016-17 school year to the present. A further delimitation of the student data did not limit the class nomenclature. For example, Integrated Math 1, Algebra 1, and any derivative of such class titles were accepted because all these classes met the CA high school algebra graduation requirement. The last delimitation made on student records was to consider students who earned at least five credits for the five credits attempted with a minimum semester passing grade of D-. This delimitation would provide data on students who received all the necessary instruction that would have been addressed on the math standards test towards the end of the spring semester.

#### **Recommendations for Future Research**

The purpose of this qualitative case study was to understand educators' perceptions regarding factors that influence high-school algebra students with LD in an AE setting to score below and far below basic proficiency levels on the California math standards test despite receiving credit for the algebra course. Students can earn a D- or higher grade to meet the California math high school graduation requirement. Eleven educators participated in a survey, ten educators participated in an individual interview, and archival records of students with LD were collected from the 2016-17 school year. Each participant met the requirements for either offering SAI instructional services or the appropriate administrative credentials. No student was contacted, and the ACSD information technology officer masked all identifying student information when the data was transmitted via an Excel spreadsheet. The following recommendations for future research are described below based on the data triangulation.

Additional data should be collected from all educators in all three divisions of the AE program at ACSD. The more participants involved could provide greater details about each unique division of the AE divisions. Court, community, and charter programs may have the same type of students with LD in their respective programs; however, the learning environments in each program are unique. Furthermore, data collection during the beginning of the school year may reveal different perceptions of educators when data is collected at the end of the school year. The findings of this case study serve as a foundational benchmark for future data collection.

Future research should include teacher pedagogical training in dyscalculia and MLD concerning the implementation of IEPs. The literature powerfully describes the benefits of a well-trained teacher. The findings in this case study noted that teachers are not well-trained in special education, MLD, and dyscalculia. Further research in this area may provide more effective pedagogical strategies to meet the differentiated needs of students with LD. This future research should consider how MLD and dyscalculia could be considered an entirely different category of learning disabilities that may qualify students for special education services.

Future research should include professional development for teachers on foundational math concepts and scaffolded instructional strategies for delivering this curriculum to students with LD. The findings of this case study indicate that teachers may not necessarily be adequately prepared with the math content knowledge students with LD need to meet high school algebra standards. These instructional professional developments should include the appropriate use of technology in the classroom. The findings of this case study indicate that educators need training in specific instructional strategies in differentiation and scaffolding to incorporate technology into everyday math lessons for their students with LD.

#### Conclusion

The purpose of this qualitative case study was to understand educators' perceptions regarding factors that influence high-school algebra students with LD in an AE setting to score below and far below basic proficiency levels on the California math standards test despite receiving credit for the algebra course. Through the lens of Vygotsky's sociocultural theory of learning, the findings of this case study provide arguments that curriculum and instruction are significant when working with students with LD in an AE learning environment. Curriculum, instruction and technology, and the IEP are the main themes of this case study's findings. Additional subthemes include expanding a teacher's knowledge of foundational math skills and incorporating appropriate technology with differentiated and personalized instruction to support math learning.

Curriculum and instruction are the foundation of student learning. A well-trained teacher in curriculum versed with various instruction strategies will help any student achieve. Teachers must become familiar with diverse academic content, such as math and literacy, for students with LD in an AE learning environment. Because these teachers also service students with LD, they must know about a diverse range of learning disabilities and the differentiated instruction needed to meet their students' IEP goals. The findings in this case study suggest that teachers in AE must be extraordinarily equipped not only in mathematics curricula but also in the appropriate use of pedagogical strategies, including a discerning use of technology and the concept of dyscalculia. Students with LD require differentiated and personalized instruction that a welltrained teacher can offer.

141

### References

- Abed, O., & Abu-Ali, M. (2022). Attitudes of fourth and eighth grade Jordanian students toward science: A Cross-sectional study. *Multicultural Education*, 8(9).
- Abdulrahaman, M. D., Faruk, N., Oloyede, A. A., Surajudeen-Bakinde, N. T., Olawoyin, L. A., Mejabi, O. V., Imam-Fulani, Y. O., Fahm, A. O., & Azeez, A. L. (2020). Multimedia tools in the teaching and learning processes: A Systematic review. *Heliyon*, 6(11). https://doi.org/10.1016/j.heliyon.2020.e05312
- Afacan, K., & Wilkerson, K. L. (2024). Educator perspectives on advantages and disadvantages of alternative schools. *International Journal of Educational Reform, 0*(0).

https://doi.org/10.1177/10567879241230016

- Alabdulaziz, M. S. (2021). COVID-19 and the use of digital technology in mathematics education. *Education and Information Technologies*, 26(6), 7609–7633. https://doi.org/10.1007/s10639-021-10602-3
- Ambrosio, J., Bautista, R. L., Cabillan, M. L., De Vera, N., Unson, J. C., & Winnan, G. a. J. (2021). The Changing scenario of mathematics formative assessment in the era of globalization. *International Journal of Scientific Research and Management*, 9(08), 329–337. https://doi.org/10.18535/ijsrm/v9i08.01
- Arafah, H. (2015). Competencies for the classroom instructional designer. *International Journal* of Secondary Education, 3(2), 16. <u>https://doi.org/10.11648/j.ijsedu.20150302.11</u>
- Araya, R., & Gormaz, R. (2021). Revealed preferences of fourth graders when requesting faceto-face help while doing math exercises online. *Education Sciences*, 11(8), 429. https://doi.org/10.3390/educsci11080429

- Arias, N., Castillo, V., Fuenzalida, C., Saldivia, F., & Peréz, A. (2021). TPACK, technology accessibility, and teacher motivation. Universidad Andrés Bello Publications.
- Aron, L. (2006). An Overview of alternative education. *National Center of Education and the Economy*. http://files.eric.ed.gov/fulltext/ED500807.pdf
- Aspiranti, K., Mayworm, A., & Gadke, D. L. (2021). Analysis of behavioral interventions in alternative school settings. *Psychology in the Schools*, 58(12), 2273-2292. https://doi.org/10.1002/pits.22591
- Averett, K. H. (2021). Remote learning, COVID-19, and children with disabilities. *AERA Open*, 7. <u>https://doi.org/10.1177/23328584211058471</u>
- Azid, N., Ali, R. M., El Khuluqo, I., Purwanto, S. E., & Susanti, E. N. (2022). Higher order thinking skills, school-based assessment and students' mathematics achievement: Understanding teachers' thoughts. *International Journal of Evaluation and Research in Education*, 11(1), 290-302.
- Ballard, S. C., & Bender, S. L. (2022). A systematic review of social, emotional, and behavioral interventions and outcomes for students in alternative education. *Preventing School Failure: Alternative Education for Children and Youth*, 66(2), 136-149–14.
   https://doi.org/10.1080/1045988x.2021.1980850
- Barr, F., & Mavropoulou, S. (2021). Curriculum accommodations in mathematics instruction for adolescents with mild intellectual disability educated in inclusive classrooms.
   International Journal of Disability, Development and Education, 68(2), 270-286.
- Baykal, G. E., Eriksson, E., & Torgersson, O. (2023). Assessment of learning in child–computer interaction research: A semi-systematic literature review. *International Journal of Child-Computer Interaction*, 36, 100578. <u>https://doi.org/10.1016/j.ijcci.2023.100578</u>

- Beagle, T. (2020). Informal Mentoring Strategies Training for California Mentors. United States: California State University San Marcos.
- Beck, S. J., & DeSutter, K. (2020). Special education meetings: The Role of the facilitator in districts serving rural communities. *Rural Special Education Quarterly*, 40(1), 33-41. https://doi.org/10.1177/8756870520972660
- Beqiraj, L., Denne, L. D., Hastings, R. P., & Paris, A. (2022). Positive behavioural support for children and young people with developmental disabilities in special education settings:
  A Systematic review. *Journal of Applied Research in Intellectual Disabilities*, 35(3), 719-735. <u>https://doi.org/10.1111/jar.12989</u>

Bible Gateway. (2023). New international version bible. https://biblegateway.com

- binti Jamal, N. S., & bin Mohd Rashid, S. M. (2023). Attitude of special education teachers in implementing the career transition program for students with visual impairments. *International Journal of Academic Research in Business and Social Sciences*, 13(9), 347 356.
- Bone, E., Bouck, E., & Witmer, S. (2021). Evidence-based systematic review of literature on algebra instruction and interventions for students with learning disabilities. *Learning Disabilities: A Contemporary Journal, 19*(1), 1–22.
- Bouck, E. C., & Cosby, M. D. (2019a). Response to intervention in high school mathematics:
   One school's implementation. *Preventing School Failure: Alternative Education for Children and Youth*, 63(1), 32-42. <u>https://doi.org/10.1080/1045988x.2018.1469463</u>
- Bouck, E. C., Park, J., Cwiakala, K., & Whorley, A. (2020a). Learning fraction concepts through the virtual-abstract instructional sequence. *Journal of Behavioral Education*, 29(3), 519-542. <u>https://doi.org/10.1007/s10864-019-09334-9</u>
- Bouck, E. C., Park, J., & Stenzel, K. (2020b). Virtual manipulatives as assistive technology to support students with disabilities with mathematics. *Preventing School Failure: Alternative Education for Children and Youth*, 64(4), 281–289. https://doi.org/10.1080/1045988x.2020.1762157
- Bouck, E., & Satsangi, R. (2020c). Maths assistive technology to support inclusion. In *Assistive Technology to Support Inclusive Education* (pp. 51–67). Emerald Publishing Limited. https://doi.org/10.1108/S1479-36362020000014007
- Boyd, B., & Bargerhuff, M. E. (2009). Mathematics education and special education: Searching for common ground and the implications for teacher education. *Mathematics Teacher Education and Development*, 11, 54-67.
- Brafford, T., Harn, B., Clarke, B., Doabler, C. T., Kosty, D., & Scalise, K. (2023).
   Implementation factors and their Influence on student mathematics outcomes. *Learning Disabilities Research & Practice*, 38(1), 5-14. 5-14. <u>https://doi.org/10.1111/ldrp.12298</u>
- Brewer, R., & Movahedazarhouligh, S. (2019). Flipped learning in flipped classrooms: A New pathway to prepare future special educators. *Journal of Digital Learning in Teacher Education*, 35(3), 128–143. https://doi.org/10.1080/21532974.2019.1619110
- Brouwer, A. M., Foster, R., & Jalensky, A. (2018). An Alternative school model for pregnant and parenting teens: A Qualitative analysis. *Child & Adolescent Social Work Journal*, 36(5), 471–484. <u>https://doi.org/10.1007/s10560-018-0575-z</u>
- Brown, M. J., Dennis, J. P., & Matute-Chavarria, M. (2019). Cultural relevance in special
  Education: Current status and future directions. *Intervention in School and Clinic*, 54(5),
  304–310. <u>https://doi.org/10.1177/1053451218819252</u>

Bruno, L., Lewis, A. M., Kaldenberg, E. R., Bahr, P., & Immerfall, J. (2020). Direct instruction of text-to-speech software for students with intellectual disability. *Education and Training in Autism and Developmental Disabilities*, 55(4), 424–437.
 https://dialnet.unirioja.es/servlet/articulo?codigo=7843165

- CA Commission on Teacher Credentialing. (2020). Governor temporarily suspends examination requirements for teacher candidates impacted by COVID-19. Commission on Teacher Credentialing. <u>https://www.ctc.ca.gov/commission/briefing-room/default/press-</u> releases/2020/2020-01
- CA Department of Education. (2024). CA Department of Education.

https://www.cde.ca.gov/ta/ac/cm/dashboardguide23.asp

CA Department of Education. (2024, April). *CAST Range Achievement Level descriptors*. <u>https://www.cde.ca.gov/ta/tg/ca/castrangealds.asp#:~:text=The%20CAST%20general%2</u> <u>0ALDs%20describe,%2C%20and%20standard%20not%20met</u>).

California Department of Education. (2021). *History-Social science framework for California public schools*. https://www.cde.ca.gov. Retrieved September 23, 2021, from <u>https://www.cde.ca.gov/ci/cr/cf/documents/histsocsciframe.pdf</u>

Cabral, B., Annamma, S. A., & Morgan, J. (2023). "When you carry a lot": The Forgotten spaces of youth prison schooling for incarcerated disabled girls of color. *Teachers College Record*, 125(5), 95–113. <u>https://doi.org/10.1177/01614681231181816</u>

California Commission on Teacher Credentialing (CA CTC). (2023). https://www.ctc.ca.gov/

California Department of Education. (2024). The CAASPP website. CAASPP.

https://www.caaspp.org/

- California State Board of Education. (2023). *Standards for Mathematical Practice*. Retrieved February 8, 2024, from <u>https://www.cde.ca.gov/be/st/ss/mathpractices.asp</u>
- Chamberlain, K. (2015). Epistemology and qualitative research. *Qualitative research in clinical and health psychology*, 9-28.
- Chang, Y.-C., Avila, M., & Rodriguez, H. (2022). Beyond the Dotted Line: Empowering Parents From Culturally and Linguistically Diverse Families to Participate. TEACHING Exceptional Children, 55(2), 132-140. <u>https://doi.org/10.1177/00400599221099868</u>
- Chen, X., & Shin, B. (2022). A Study on effectiveness of mathematics teachers' collaborative learning: Focused on an analysis of discourses. *Research in Mathematical Education*, 25(1), 1–20. <u>https://doi.org/10.7468/JKSMED.2022.25.1.1</u>
- Christian, D. (2022). Education Behind Bars: A Review of Educational Services in Juvenile Correctional Facilities. *College of Safety and Emergency Services Academic Journal*.
- Choate, K., Goldhaber, D., & Theobald, R. (2021). The Effects of COVID-19 on teacher preparation. *Phi Delta Kappan, 102*(7), 52-57.

https://doi.org/10.1177/00317217211007340

Chuang, C., & Jamiat, N. (2023). A Systematic review on the effectiveness of children's interactive reading applications for promoting their emergent literacy in the multimedia context. *Contemporary Educational Technology*, *15*(2), ep412.
 https://doi.org/10.30935/cedtech/12941

Çopur-Genctürk, Y., & Li, J. (2023). Teaching matters: A Longitudinal study of mathematics teachers' knowledge growth. *Teaching and Teacher Education*, 121, 103949. <u>https://doi.org/10.1016/j.tate.2022.103949</u>

- Craig, T. T., & Marshall, J. (2019). Effect of project-based learning on high school students' state-mandated, standardized math and science exam performance. *Journal of Research in Science Teaching*, 56(10), 1461-1488.
- Darling-Hammond, L. (2023). Reprint: How teacher education matters. *Journal of Teacher Education*, 74(2), 151-156. <u>https://doi.org/10.1177/00224871231161863</u>

De Voto, C., & Thomas, M. K. (2020). Cultural sensemaking and the implementation of edTPA technological tools: Lessons for the field. *Educational Technology Research and Development*, 68, 2729-2751.

- Donahue-Keegan, D., Villegas-Reimers, E., & Cressey, J. M. (2019). Integrating socialemotional learning and culturally responsive teaching in teacher education preparation programs. *Teacher Education Quarterly*, *46*(4), 150-168.
- Dunning-Lozano, J. L. (2014). Race and opportunity in a public alternative school. *Race Ethnicity and Education*, *19*(2), 433–460. <u>https://doi.org/10.1080/13613324.2014.911163</u>
- Dyson, N. I., Jordan, N. C., Rodrigues, J., Barbieri, C., & Rinne, L. (2020). A Fraction sense intervention for sixth graders with or at risk for mathematics difficulties. *Remedial and Special Education*, *41*(4), 244-254. https://doi.org/10.1177/0741932518807
- Eftenaru, C. L. (2023). Studying leadership: An Eclectic approach to qualitative data collection and analysis. *Qualitative Research Journal*, 23(2), 204–217. <u>https://doi.org/10.1108/qrj-08-2022-0119</u>
- Enders, O. G., & Kostewicz, D. (2023). Secondary teachers' remote instructional practices in mathematics for students with disabilities. *Journal of Special Education Technology*, 38(1), 50–60. <u>https://doi.org/10.1177/01626434211059486</u>

Engelmann, S. (2022). Alternative(s): Better or just different? *Journal of Philosophy of Education*, 56(4), 523-534. <u>https://doi.org/10.1111/1467-9752.12702</u>

- Ennis, R. P., & Losinski, M. (2020). SRSD fractions: Using self-regulated strategy development to support students' conceptual and procedural fraction knowledge. Education and Treatment of Children, 43(1), 85–94. <u>https://doi.org/10.1007/s43494-020-00007-1</u>
- Enu, J. (2021). Factors affecting teacher educators' adoption of formative assessment strategies in the mathematics classroom. *Journal of Education and Learning (EduLearn)*, 15(4), 483-489. <u>https://doi.org/10.11591/edulearn.v15i4.20341</u>
- Estrapala, S., Rila, A., & Bruhn, A. L. (2021). A Systematic Review of Tier 1 PBIS
  Implementation in High Schools. *Journal of Positive Behavior Interventions*, 23(4), 288-302. <u>https://doi.org/10.1177/1098300720929684</u>
- Fazal, M., & Bryant, M. (2019). Blended learning in middle school math: The question of effectiveness. *Journal of Online Learning Research*, 5(1), 49-64.
- Fetler, M. (1999). High school staff characteristics and mathematics test results. *Education Policy Analysis Archives*, 7, 9. <u>https://doi.org/10.14507/epaa.v7n9.1999</u>
- Fetler, M. (2001). Student mathematics achievement test scores, droupout rates, and teacher characteristics. *Teacher Education Quarterly*, 151-168.
- Fisher, D., Kusumah, Y. S., & Dahlan, J. A. (2020). Project-based learning in mathematics: A Literature review. *Journal of Physics: Conference Series*, 1657(1). <u>https://doi.org/10.1088/1742-6596/1657/1/012032</u>
- Flores, M. M., Hinton, V., & Schweck, K. B. (2023). Teaching rational number concepts to Fifth-Grade students who struggle with mathematics. *Remedial and Special Education*. <u>https://doi.org/10.1177/07419325231217315</u>

- Fortems, C., Hansen, B., & Glazemakers, I. (2023). Characteristics of youth in alternative education settings: A scoping literature review. *Children & Youth Services Review*, 145. <u>https://doi.org/10.1016/j.childyouth.2022.106759</u>
- Freeman-Green, S., Person, J., & O'Brien, C. (2018). Mathematics instruction for secondary students with learning disabilities in the era of tiered instruction. *Insights into Learning Disabilities*, 15(2), 175–194. <u>https://files.eric.ed.gov/fulltext/EJ1203394.pdf</u>
- Fuchs, L. S., Bucka, N., Clarke, B., Dougherty, B., Jordan, N. C., Karp, K. S., Woodward, J., Jayanthi, M., Gersten, R., Newman-Gonchar, R., Schumacher, R. F., Haymond, K., Lyskawa, J., Keating, B., & Morgan, S. (2021). Assisting students struggling with mathematics: Intervention in the elementary grades. *National Center for Education Evaluation and Regional Assistance*, WWC 2021006. Retrieved February 5, 2024, from <a href="https://files.eric.ed.gov/fulltext/ED611018.pdf">https://files.eric.ed.gov/fulltext/ED611018.pdf</a>
- Fuchs, L. S., Compton, D. L., Paulsen, K., Bryant, J., & Hamlett, C. L. (2005). The Prevention, identification, and cognitive determinants of math difficulty. *Journal of Educational Psychology*, 97(3), 493–513. <u>https://doi.org/10.1037/0022-0663.97.3.493</u>
- Galindo-Dominguez, H. (2021). Flipped classroom in the educational system. *Educational Technology & Society*, 24(3), 44-60.
- Gersib, J. A., & Mason, S. (2023). A Meta-Analysis of Behavior Interventions for Students With Emotional-Behavioral Disorders in Self-Contained Settings. Behavioral Disorders, 48(4), 269-283. <u>https://doi.org/10.1177/01987429231160285</u>
- Giesen, L., & Roeser, A. (2020). Structuring a team-based approach to coding qualitative data. International Journal of Qualitative Methods, 19. https://doi.org/10.1177/1609406920968700

- Gindis, B. (1995). Viewing the disabled child in the sociocultural milieu. *School Psychology International*, *16*(2), 155–166. <u>https://doi.org/10.1177/0143034395162006</u>
- Gindis, B. (1999). Vygotsky's vision: Reshaping the practice of special education for the 21st century. *Remedial and Special Education*, 20(6), 333–340.

https://doi.org/10.1177/074193259902000606

Gunasegar, D., Devarajah, A. D., & Rosli, R. (2021). A Systematic literature review of empirical evidence on students with mathematics learning disabilities. *Malaysian Journal of Social Sciences and Humanities (MJSSH)*, 6(10), 505-523.

https://doi.org/10.47405/mjssh.v6i10.1063

- Grasley-Boy, N. M., Reichow, B., van Dijk, W., & Gage, N. A. (2021). A Systematic review of Tier 1 PBIS implementation in alternative education settings. *Behavioral Disorders*, 46(4), 199–213. <u>https://doi.org/10.1177/0198742920915648</u>
- Griffiths, A.-J., Izumi, J. T., Alsip, J., Furlong, M. J., & Morrison, G. M. (2019). Schoolwide positive behavioral interventions and supports in an alternative education setting:
  Examining the risk and protective factors of responders and non-responders. *Preventing School Failure: Alternative Education for Children and Youth*, 63(2), 149-161.
  https://doi.org/10.1080/1045988x.2018.1534224
- Guerin, G., & Denti, L. (1999). Alternative education support for youth at-risk. *The Clearing House: A Journal of Educational Strategies, Issues and Ideas, 73*(2), 76-78. <u>https://doi.org/10.1080/00098659909600151</u>
- Gweon, H. (2021). Inferential Social learning: Cognitive foundations of human social learning and teaching. *Trends in Cognitive Sciences*, 25(10), 896–910. https://doi.org/10.1016/j.tics.2021.07.008

- Hamukwaya, S. T., & Haser, Ç. (2021). "It does not mean that they cannot do mathematics":
  Beliefs about mathematics learning difficulties. *International Electronic Journal of Mathematics Education*, 16(1). <u>https://doi.org/10.29333/iejme/9569</u>
- Hatch, J. A. (2002). *Doing qualitative research in education settings* (2nd ed.). State University of New York Press.
- Hausstätter, R., & Vik, S. (Eds.). (2021). Inclusion and special needs education: A Theoretical framework of an overall perspective of inclusive special education. *Theoretical and Practical Perspectives* (1st ed., pp. 18–32). Routledge.

https://doi.org/10.4324/9780367810368

- Helms-Lorenz, M., Van De Grift, W., & Maulana, R. (2015). Longitudinal effects of induction on teaching skills and attrition rates of beginning teachers. *School Effectiveness and School Improvement*, 27(2), 178–204. <u>https://doi.org/10.1080/09243453.2015.1035731</u>
- Hester, O. R., Bridges, S. A., & Rollins, L. H. (2020). 'Overworked and underappreciated': Special education teachers describe stress and attrition. *Teacher Development*, 24(3), 348–365. <u>https://doi.org/10.1080/13664530.2020.1767189</u>
- Hester, O. R., Taconet, A. V., & Lombardi, A. (2024). Addressing the transition needs of justiceinvolved youth with intellectual and developmental disabilities. *Journal of Correctional Education (1974-)*, 75(1), 91–115. <u>https://www.jstor.org/stable/48761716</u>
- Hoge, M., & Rubinstein-Avila, E. (2014). Out of sight, out of mind: A Case study of an alternative school for students with emotional disturbance (ED). *Qualitative Research in Education*, 3(3), 295-319. <u>https://doi.org/10.4471/qre.2014.49</u>

- Hord, C., Ladrigan, E., & Saldanha, R. L. (2020). A Student with a learning disability and multistep equations with fractions. *Learning Disabilities: A Contemporary Journal*, 18(1), 111–121.
- House, L., Toste, J. R., & Austin, C. R. (2018). An Overlooked population: Systematic review of transition programs for youth with disabilities in correctional facilities. *Journal of Correctional Education (1974-)*, 69(2), 3-32.
- Howell, R. A. (2021). Engaging students in education for sustainable development: The benefits of active learning, reflective practices and flipped classroom pedagogies. *Journal of Cleaner Production*, 325, 129318.
- Hughes, C. A., Riccomini, P. J., & Dexter, C. A. (2022). Use explicit instruction. In *High leverage practices for inclusive classrooms* (pp. 235-264). Routledge.
- Jain, K., Nikolajuk, K., Tully, J., Britten, J., DeClemente, T. K., & Johnson, A. K. (2023). Title IX experiences of pregnant and parenting youth in Chicago: A Qualitative study. *Journal* of School Health, 93(4), 289-296.
- Jamshed, S. (2014). Qualitative research method-interviewing and observation. *Journal of basic and clinical pharmacy*, 5(4), 87.
- Jdaitawi, M. (2021). Does flipped learning promote positive emotions in science education? A Comparison between traditional and flipped classroom approaches. *Electronic Journal of e-Learning*, 18(6). <u>https://doi.org/10.34190/jel.18.6.004</u>
- Jitendra, A. K., Dougherty, B. J., Sanchez, V., & Suchilt, L. (2022). Using multiple representations to foster multiplicative reasoning in students with mathematics learning disabilities. *Teaching Exceptional Children*, 004005992211156. https://doi.org/10.1177/00400599221115627

- Kadarisma, G., & Juandi, D. (2021). Mathematics learning for students with special needs during the Covid-19 pandemic. *Journal of Physics: Conference Series*, 2123(1).
   <a href="https://doi.org/10.1088/1742-6596/2123/1/012008">https://doi.org/10.1088/1742-6596/2123/1/012008</a>
- Kellems, R. O., Eichelberger, C., Cacciatore, G., Jensen, M., Frazier, B., Simons, K., & Zaru, M. (2020). Using video-based instruction via augmented reality to teach mathematics to middle school students with learning disabilities. *Journal of Learning Disabilities*, *53*(4), 277–291. <u>https://doi.org/10.1177/0022219420906452</u>
- Kennedy, A., Hayden, T., & Plano Clark, V. (2022). Building student-teacher relationships in an alternative education setting: A Qualitative interview study. *Preventing school failure: Alternative Education for Children and Youth.*

https://doi.org/10.1080/1045988X.2022.2109564

Kim, B.-K. E., Johnson, J., Rhinehart, L., Logan-Greene, P., Lomeli, J., & Nurius, P. S. (2021). The School-to-prison pipeline for probation youth with special education needs. *American Journal of Orthopsychiatry*, 91(3), 375–385. https://doi.org/10.1037/ort0000538

<u>mtps://doi.org/10.105//ort0000550</u>

- Kim, H., Carney, J. V., & Hazler, R. J. (2023). Promoting school connectedness: A critical review of definitions and theoretical models for school-based interventions. *Preventing School Failure: Alternative Education for Children and Youth*, 67(4), 256-264. <u>https://doi.org/10.1080/1045988X.2022.2119359</u>
- Kim, J., & Taylor, K. A. (2008). Rethinking alternative education to break the cycle of educational inequality and inequity. *Journal of Educational Research*, 101(4), 207–219. <u>https://doi.org/10.3200/joer.101.4.207-219</u>

- Kim, S. J., & Xin, Y. P. (2022). A Synthesis of computer-assisted mathematical word problemsolving instruction for students with learning disabilities or difficulties. *Learning Disabilities: A Contemporary Journal, 20*(1), 27–45.
- Kim, M. K., Kim, S. M., Khera, O., & Getman, J. (2014). The Experience of three flipped classrooms in an urban university: An Exploration of design principles. *The Internet and Higher Education*, 22, 37–50. <u>https://doi.org/10.1016/j.iheduc.2014.04.003</u>
- Klenke, K. (2016). Qualitative research as method. In *Qualitative research in the study of leadership* (pp. 31-55). Emerald Group Publishing Limited.
- Klute, M., Dougherty, B., & Van Dine, D. (2020). What Grade 7 foundational knowledge and skills are associated with Missouri students' Algebra I achievement in Grade 8? REL 2020-023. *Regional Educational Laboratory Central*.
- Knoop-Van Campen, C. K., Segers, E., & Verhoeven, L. (2020). Effects of audio support on multimedia learning processes and outcomes in students with dyslexia. *Computers & Education*, 150, 103858. <u>https://doi.org/10.1016/j.compedu.2020.103858</u>
- Koressel, J., Ottenbreit-Leftwich, A., Jantaraweragul, K., Jeon, M., Warner, J., & Brown, M. (2022). Investigating CS teacher licensure in Indiana. *TechTrends*, *66*(3), 412-422.
- Košč, L. (1974). Developmental dyscalculia. *Journal of Learning Disabilities*, 7(3), 164–177. https://doi.org/10.1177/002221947400700309
- Kumar, S., Martin, F., Budhrani, K., & Ritzhaupt, A. D. (2019). Award-winning faculty online teaching practices: Elements of award-winning courses. *Online Learning*, 23(4). <u>https://doi.org/10.24059/olj.v23i4.2077</u>

- Kumm, S., Wilkinson, S. T., & McDaniel, S. C. (2020). Alternative education settings in the United States. *Intervention in School and Clinic*, 56(2), 123–126. https://doi.org/10.1177/1053451220914895
- Küpper, L. (2000). A Guide to the individualized education program. US Department of Education. <u>http://files.eric.ed.gov/fulltext/ED444279.pdf</u>

Kusmaryono, I., Ubaidah, N., & Abdul Basir, M. (2022). It Doesn't Mean That Students Don't Have Mathematics Anxiety: A Case Study of Mathematics Learning with Path Analysis. *European Journal of Educational Research*, 11(3), 1683-1697. <u>https://doi.org/10.12973/eu-jer.11.3.1683</u>

Lange, C., & Sletten, S. (2002). Alternative education: A Brief history and research synthesis. In http://www.nasdse.org/. National Association of State Directors of Special Education. <u>https://files.eric.ed.gov/fulltext/ED462809.pdf</u>

Lawson, T. (2019). The nature of social reality: Issues in social ontology. Routledge.

- Lazić, B., Knežević, J., & Maričić, S. (2021). The Influence of project-based learning on student achievement in elementary mathematics education. *South African Journal of Education*, 41(3), 1–10. https://doi.org/10.15700/saje.v41n3a1909
- Lea, C. H., Brown, M., & Bhatt, R. (2022). Alternative schools, career and technical education, and emerging adult Black men in reentry: A Case study. *Child and Adolescent Social Work Journal*, 40(4), 455–472. <u>https://doi.org/10.1007/s10560-022-00907-8</u>
- Lee, D., Buzick, H., Sireci, S. G., Lee, M., & Laitusis, C. (2021). Embedded Accommodation and Accessibility Support Usage on a Computer-Based Statewide Achievement Test. *Practical Assessment, Research & Evaluation*, 26, 25.

- Lehr, C. A., Tan, C. S., & Ysseldyke, J. (2008). Alternative schools: A synthesis of state-level policy and research. *Remedial and Special Education*, 30(1), 19–32. <u>https://doi.org/10.1177/0741932508315645</u>
- Lemon, L. L., & Hayes, J. L. (2020). Enhancing trustworthiness of qualitative findings: Using leximancer for qualitative data analysis triangulation. *The Qualitative Report*, 25(3), 225–249. <u>https://doi.org/10.46743/2160-3715/2020.4222</u>
- Leone, P. A., Meisel, S. M., & Drakeford, W. (2002). Special education programs for youth with disabilities in juvenile corrections. *Journal of Correctional Education*, 53(2), 46–50. <u>https://eric.ed.gov/?id=EJ648363</u>
- Liew, T. W., Tan, S. M., Tan, T. M., & Kew, S. N. (2020). Does speaker's voice enthusiasm affect social cue, cognitive load and transfer in multimedia learning? *Information and Learning Sciences*, 121(3/4), 117–135. https://doi.org/10.1108/ils-11-2019-0124

Lincoln, Y. S., & Guba, E. G. (1985). Naturalistic inquiry. SAGE.

Lindo, E. J. (2020). Committed to advancing cultural competence and culturally sustaining pedagogy. *TEACHING Exceptional Children*, 53(1), 10-11. https://doi.org/10.1177/0040059920945644

Löfgren, A., Hewitt, V., & Das Nair, R. (2015). "Doing fence-sitting": A Discursive analysis of clinical pyschologist' constructions of mental health and its impact on service-users. *Qualitative Health Research*, 25(4), 470–485.

 Long, H. M., & Bouck, E. C. (2023). Calculators and online games: Supporting students with learning disabilities in mathematics. *Intervention in School and Clinic*, 58(4), 280-286.
 *Focus on Autism and Other Developmental Disabilities*, 38(3), 147-157.
 https://doi.org/10.1177/10883576221121654

- Long, H. M., Bouck, E. C., & Kelly, H. (2023). An evidence-based practice synthesis of virtual manipulatives for students with ASD and IDD. Focus on autism and other developmental disabilities, 38(3), 147-157.
- Maccini, P., & Gagnon, J. C. (2006). Mathematics instructional practices and assessment accommodations by secondary special and general educators. *Exceptional Children*, 72(2), 217–234. https://doi.org/10.1177/001440290607200206
- Maccini, P., Gagnon, J. C., Mulcah, C. A., & Leon, P. E. (2006). Math instruction for committed youth within juvenile correctional schools. *Journal of Correctional Education*, 57(3), 210–229.
- Mahlambi, S. B., van den Berg, G., & Mawela, A. S. (2022). Exploring the use of assessment for learning in the mathematics classroom. *Journal of Education (University of KwaZulu-Natal)*, (89), 23-46.
- Mahn, H. (1999). Vygotsky's methodological contribution to Sociocultural Theory. *Remedial* and Special Education, 20(6), 341–350. <u>https://doi.org/10.1177/074193259902000607</u>
- Mallett, C. A., Quinn, L., Yun, J., & Fukushima-Tedor, M. (2023). The "Learning disabilities-toprison" pipeline: Evidence from the add health national longitudinal study. *Crime & Delinquency*, 69(13-14), 2643-2677. <u>https://doi.org/10.1177/00111287221081024</u>
- Mallidis-Malessas, P., Iatraki, G., & Mikropoulos, T. A. (2021). Teaching Physics to students with intellectual disabilities using digital learning objects. *Journal of Special Education Technology*, 37(4), 510–522. <u>https://doi.org/10.1177/01626434211054441</u>
- Marshall, D. T., Pressley, T., Neugebauer, N. M., & Shannon, D. M. (2022). Why teachers are leaving and what we can do about it. *Phi Delta Kappan*, 104(1), 6-11. https://doi.org/10.1177/00317217221123642

- Martin, F., Ritzhaupt, A. D., Kumar, S., & Budhrani, K. (2019). Award-winning faculty online teaching practices: Course design, assessment and evaluation, and facilitation. *The Internet and Higher Education*, 42, 34–43. https://doi.org/10.1016/j.iheduc.2019.04.001
- Mathur, S. R., Griller Clark, H., & Gau, J. M. (2021). A Cross-comparison study of reentry intervention and support for engagement: Findings on youth with disabilities. *Behavioral Disorders*, 46(3), 163–174. <u>https://doi.org/10.1177/0198742919886842</u>
- Mathur, S. R., Griller Clark, H., Hartzell, R. I., LaCroix, L., & McTier, T. S., Jr. (2020). What Youth With Special Needs in Juvenile Justice Say About Reentry: Listening to Their Voice. *Youth & Society*, 52(8), 1501-1522. https://doi.org/10.1177/0044118x19826423
- Maxwell, J. A. (2021). Why qualitative methods are necessary for generalization. *Qualitative Psychology*, 8(1), 111–118. <u>https://doi.org/10.1037/qup0000173</u>
- McGee, J. J., & Lin, F. (2020). Focus on alternative education: An exploratory case study. *Preventing School Failure*, 64(2), 183–190.

https://doi.org/10.1080/1045988x.2020.1716676

- McGeehan, C. M., Chambers, S., & Nowakowski, J. (2018). Just because it's digital, doesn't mean it's good: Evaluating digital picture books. *Journal of Digital Learning in Teacher Education*, 34(2), 58–70. <u>https://doi.org/10.1080/21532974.2017.1399488</u>
- McKenna, J., Solís, M., Garwood, J. D., & Parenti, M. (2023). Characteristics of individualized education programs for students with learning disabilities: A Systematic review.
   *Learning Disability Quarterly*. <u>https://doi.org/10.1177/07319487231182697</u>
- Meador, E. A. (2020). Alternative schools of the 1970s: Did they survive? *The Clearing House: A Journal of Educational Strategies, Issues and Ideas, 93*(5), 220-224. https://doi.org/10.1080/00098655.2020.1794673

- Megawati, L. A., & Sutarto, H. (2021). Analysis numeracy literacy skills in terms of standardized math problem on a minimum competency assessment. Unnes Journal of Mathematics Education, 10(2), 155-165.
- Miller, A. A. (2019). Navigating Barriers to Special Education in a Juvenile Detention Center. *Journal of Correctional Education*, 70(2), 2–30.

Milli Eğitim Bakanlığı, Yılmaz, E., Osmangazi Ünivesitsi, & Melekoğlu, M. A. (2022).
Developing a Reading Comprehension Support Program for Primary School Students with Specific Learning Disabilities. *International Journal of Progressive Education*, 18(4), 75-89. <u>https://doi.org/10.29329/ijpe.2022.459.6</u>

- Mills, A., Durepos, G., & Wiebe, E. (Eds.). (2017). Explanatory case study. In *Encyclopedia of Case Study Research* (6th ed.). SAGE Publications, Inc.
  https://doi.org/10.4135/9781412957397
- Minkos, M. L., Winter, E. L., & Trudel, S. M. (2023). Adaptation of universal behavioral supports within an alternative education setting. *Journal of Special Education*, 57(2), 118–128. <u>https://doi.org/10.1177/00224669221140568</u>
- Modesto, O. P. (2018). A hermeneutic phenomenological study of teen mothers who graduated from an alternative school. *The Qualitative Report*. <u>https://doi.org/10.46743/2160-</u> <u>3715/2018.2765</u>
- Moh'd, S. S., Uwamahoro, J., Nzotungicimpaye, J., & Orodho, J. A. (2021). Assessing the level of secondary mathematics teachers' pedagogical content knowledge. *Eurasia Journal of Mathematics, Science and Technology Education*, *17*(6).

https://doi.org/10.29333/ejmste/10883

Moll, L. C. (2013). L.S. Vygotsky and Education. Routledge.

- Moore, C. P., Ohrt, J., & Packer-Williams, C. L. (2020). A solution-focused approach to student reintegration into the traditional school setting after a disciplinary alternative school placement. *Journal of child and adolescent counseling*, *6*(2), 83-96.
- Moran, P. M. (1991). Special education and transition services in a detention center school. Journal of Correctional Education, 42(3), 152–158. http://www.jstor.org/stable/41970887
- Moustakas, C. (1994). Phenomenological research methods. https://doi.org/10.4135/9781412995658
- Mulcahy, C. A., Camacho, K. A., & Fenty, N. S. (2023). A Systematic review of research on technology use among students with high incidence disabilities. *Exceptionality*, 1–19. <u>https://doi.org/10.1080/09362835.2023.2285272</u>
- Mulcahy, C. A., Gagnon, J. C., Atkinson, V. S., & Miller, J. (2023). Self-regulated strategy development for algebra problem solving. *Teaching Exceptional Children*, 0(0). <u>https://doi.org/10.1177/00400599231167816</u>
- Mutlu, Y., Çaliskan, E. F., & Yasul, A. F. (2022). We asked teachers: Do you know what dyscalculia is? *International Online Journal of Primary Education*, *11*(2), 361–378.
- Myers, J. A., Hughes, E. M., Witzel, B. S., Anderson, R. D., & Owens, J. (2023). A Metaanalysis of mathematical interventions for increasing the word problem solving performance of upper elementary and secondary students with mathematics difficulties. *Journal of Research on Educational Effectiveness*, *16*(1), 1-35.

Myung, J., & Hough, H. (2020). Organizing Schools to Serve Students with Disabilities.

- Naik, N. (2016). Dual PowerPoint presentation approach for students with special educational needs and note-takers. *European Journal of Special Needs Education*, 32(1), 146–152. <u>https://doi.org/10.1080/08856257.2016.1254970</u>
- Nindiasari, H., & Yuhana, Y. (2020). Effectiveness of scaffolding-based interactive teaching materials: Reflective thinking ability in prospective teacher mathematics. *Journal of Physics*. <u>https://doi.org/10.1088/1742-6596/1657/1/012087</u>
- Noorman, K., & Brancale, J. (2023). Barriers to school reentry: Perceptions of school reentry among detained and committed youth. *Youth Violence and Juvenile Justice*, *21*(3), 175-194. <u>https://doi.org/10.1177/15412040221147017</u>
- Ochoa, T. A., Datchi, C. C., Weller, N. M., Northcutt Bohmert, M., & Grubbs, D. (2021).
  Education and transition for students with disabilities in American juvenile correctional facilities. *Intervention in School and Clinic*, *56*(5), 293-300.
- Ohrt, J., Wymer, B., Guest, J., Hipp, C., Wallace, D., & Deaton, J. (2021). A pilot feasibility study of an adapted social and emotional learning intervention in an alternative school. *Preventing School Failure*, 65(1), 48-57.

https://doi.org/10.1080/1045988X.2020.1818179

 O'Kane, P., Smith, A., & Lerman, M. P. (2021). Building Transparency and Trustworthiness in Inductive Research Through Computer-Aided Qualitative Data Analysis Software. Organizational Research Methods, 24(1), 104-139. https://doi.org/10.1177/1094428119865016

Olakanmi, O. A., Akcayir, G., Ishola, O. M., & Demmans Epp, C. (2020). Using technology in special education: Current practices and trends. *Educational Technology Research and Development*, 68(4), 1711-1738.

- Oliveira, K. K., & de Souza, R. A. (2022). Digital transformation towards education 4.0. *Informatics in Education*, 21(2), 283–309. <u>https://doi.org/10.15388/infedu.2022.13</u>
- Opper, I. M. (2019). Teachers matter: Understanding teachers' impact on student achievement. In *RAND Corporation eBooks*. <u>https://doi.org/10.7249/rr4312</u>
- Ovadiya, T. (2023). Implementing theoretical intervention principles in teaching mathematics to struggling students to promote problem-solving skills. *International Journal of Mathematical Education in Science and Technology*, *54*(1), 4-28.
- Özdemir, S., & Kılıç, Y. (2023). Investigating special education teachers' views on mathematics instruction process: Suggestions for sustainable special education in mathematics instruction. *Sustainability*, *15*(4), 3584.
- Öztürk, M., & Çakıroğlu, Ü. (2021). Flipped learning design in EFL classrooms: Implementing self-regulated learning strategies to develop language skills. *Smart Learning Environments*, 8(1), 2.
- Patrick, S., Darling-Hammond, L., & Kini, T. (2023). Educating teachers in California? What matters for teacher preparedness? Learning Policy Institute.

https://doi.org/10.54300/956.678

- Patti, A. L. (2015). Back to the basics: Practical tips for IEP writing. *Intervention in School and Clinic*, *51*(3), 151–156. <u>https://doi.org/10.1177/1053451215585805</u>
- Pérez-Ramírez, B., Maki-Weller, N., & Ochoa, T. A. (2023). Internalizing disabilities among incarcerated girls from Mexico and the United States. *Intervention in School and Clinic*, 58(5), 325-332.

- Pettit, T. (2023). Addressing the need for an alternative education networking in rural school districts. *Impacting Education: Journal on Transforming Professional Practice*, 8(1), 27-36. <u>https://doi.org/10.5195/ie.2023.231</u>
- Phillippi, S., Thomas, C. A., Gastanaduy, M., & Sawyer, M. (2021). Reducing disparities in academic outcomes among youth of color: Evidence from an alternative education program. *Remedial and Special Education*, 43(3), 172-182.
- Polleck, J. N., & Yarwood, J. (2020). Putting students at the center: Empowering urban alternative education teachers through culturally relevant and sustaining unit planning. *Preventing School Failure*, 64(3), 191–200.

https://doi.org/10.1080/1045988x.2020.1716675

- Porowski, A., O'Conner, R., & Luo, J. L. (2014). *How do states define alternative education?*Washington, DC: U.S. Department of Education Institute of Education Sciences, National
  Center for Education Evaluation and Regional Assistance, Regional Educational
  Laboratory Mid-Atlantic. <u>https://files.eric.ed.gov/fulltext/ED546775.pdf</u>
- Porter, S. G., Greene, K., & Esposito, M. C. K. (2021). Access and inclusion of students with disabilities in virtual learning environments: Implications for post-pandemic teaching. *International Journal of Multicultural Education*, 23(3), 43–61. https://doi.org/10.18251/ijme.v23i3.3011

Probine, S., & Perry, J. (2021). Does the 'more knowledgeable other and the established discourses that accompany it have a place in EC today?: Rethinking and re-casting Vygotsky for the twenty-first century. *Early Education*, 67, 5–13.
<a href="https://search.informit.org/doi/10.3316/informit.326350824023691">https://search.informit.org/doi/10.3316/informit.326350824023691</a>

Rahimi, S., Shute, V., Kuba, R., Dai, C.-P., Yang, X., Smith, G., & Alonso Fernández, C. (2021). The use and effects of incentive systems on learning and performance in educational games. Computers & Education, 165, 104135.

https://doi.org/10.1016/j.compedu.2021.104135

- Rakoczy, K., Pinger, P., Hochweber, J., Klieme, E., Schütze, B., & Besser, M. (2019). Formative assessment in mathematics: Mediated by feedback's perceived usefulness and students' self-efficacy. *Learning and Instruction*, 60, 154-165.
- Rahmania, A. H., & Mandasari, B. (2021). Student's perception toward the use of JOOX application to improve students' pronunciation. *Journal of English Language Teaching* and Learning, 2(1), 39-44.
- Rana, S. (2022). Exploring the student perspectives on the barriers of online learning during the COVID-19 pandemic: A Qualitative study using interpretative phenomenological analysis. *Journal of Applied Research in Higher Education*, *14*(4), 1554–1566.
   <a href="https://doi.org/10.1108/jarhe-02-2021-0075">https://doi.org/10.1108/jarhe-02-2021-0075</a>
- Regional Educational Laboratory Program (RELP). (2023). *Regional Educational Laboratory Program*. <u>https://ies.ed.gov/ncee/rel/</u>
- Reigeluth, C. M., Beatty, B. J., & Myers, R. D. (Eds.). (2017). Instructional-design theories and models: The learner-centered paradigm of education (Vol. 4). Routledge.
- Rivera, D. P. (1997). Mathematics education and students with learning disabilities: Introduction to the special series. *Journal of Learning Disabilities*, *30*(1), 2–19.
- Riyati, I., & Suparman, S. (2019). Design student worksheets based on problem-learning to enhance mathematical communication. *Jurnal Sains Sukan & Pendidikan Jasmani*, 9(2), 9–17. <u>https://doi.org/10.37134/ajatel.vol9.no2.2.2019</u>

- Rojo, M., King, S., Gersib, J., & Bryant, D. P. (2023). Rational number interventions for students with mathematics difficulties: A meta-analysis. *Remedial and Special Education*, 44(3), 225-238.
- Rozgonjuk, D., Kraav, T., Mikkor, K., Orav-Puurand, K., & Täht, K. (2020). Mathematics anxiety among STEM and social sciences students: the roles of mathematics selfefficacy, and deep and surface approach to learning. *International Journal of STEM Education*, 7, 1-11.
- Rumary, K. J., Goldspink, S., & Howlett, P. (2023). Exiting the elephant: hearing the participant voice in qualitative data collection. *International Journal of Research & Method in Education*, 46(3), 248-259.
- Sable, J., Plotts, C., & Mitchell, L. M. (2010). Characteristics of the 100 largest public elementary and secondary school districts in the United States: 2008-09. Statistical Analysis Report. NCES 2011-301. National Center for Education Statistics. <u>https://eric.ed.gov/?id=ED512593</u>
- Saldaña, J. (2021). The Coding manual for qualitative researchers (4th ed.). SAGE.
- Salinas, S. M., & Mathur, S. R. (2022). Exploratory study of teachers' thinking and planning in a secure facility to support students with disabilities and English learners. *Journal of Correctional Education*, 73(2), 2–20.
- Şanal, S. Ö., & Elmali, F. (2023). Effectiveness of realistic math education on mathematical problem-solving skills of students with learning disability. *European Journal of Special Needs Education*, 1–18. <u>https://doi.org/10.1080/08856257.2023.2191110</u>

- Saralar-Aras, İ., & Türker-Biber, B. (2024). Enhancing technological pedagogical content knowledge of prospective teachers through mathematics lesson plan development. *Education and Information Technologies*, 1-22. <u>https://doi.org/10.1007/s10639-023-</u> 12435-8
- Satsangi, R., Billman, R. H., & Raines, A. R. (2021a). Comparing video modeling to teacher-led modeling for algebra instruction with students with learning disabilities. *Exceptionality*, 29(4), 249–264. <u>https://doi.org/10.1080/09362835.2020.1801436</u>
- Satsangi, R., Billman, R. H., Raines, A. R., & Macedonia, A. (2021b). Studying the impact of video modeling for algebra instruction for students with learning disabilities. *Journal of Special Education*, 55(2), 67–78. <u>https://doi.org/10.1177/0022466920937467</u>
- Sayeski, K. L., & Paulsen, K. J. (2010). Mathematics reform curricula and special education: Identifying intersections and implications for practice. *Intervention in School and Clinic*, 46(1), 13-21.
- Schellekens, L. H., Bok, H. G. J., De Jong, L. H., Van Der Schaaf, M. F., Kremer, W., & Van Der Vleuten, C. (2021). A Scoping review on the notions of Assessment as Learning (AaL), Assessment for Learning (AfL), and Assessment of Learning (AoL). *Studies in Educational Evaluation*, *71*, 101094. https://doi.org/10.1016/j.stueduc.2021.101094
- Schornack, M. L., & Karlsson, A. (2021). (In) visibilization of English learners in Minnesota's state-approved alternative programs. *Current Issues in Language Planning*, 22(1/2), 41-58. <u>https://doi.org/10.1080/14664208.2020.1725332</u>
- Serin, H. (2019). Project-based learning in mathematics context. International Journal of Social Sciences & Educational Studies, 5(3). <u>https://doi.org/10.23918/ijsses.v5i3p232</u>

- Serutla, L., Mwanza, A., & Celik, T. (2024). Online assessments in a changing education landscape. In *Reimagining Education-The Role of E-Learning, Creativity, and Technology in the Post-Pandemic Era*. IntechOpen.
- Shamrova, D., Boppre, B., Lampe, J., & Hastings, M. (2023). The Role of relationships, curriculum design, and program culture in improving academic and behavioral outcomes in a disciplinary alternative education program: A Photovoice study. *Preventing School Failure: Alternative Education for Children and Youth*, 1-14. https://doi.org/10.1080/1045988X.2023.2222678
- Shenton, A. K. (2004). Strategies for ensuring trustworthiness in qualitative research projects. *Education for Information*, 22(2), 63–75. <u>https://doi.org/10.3233/efi-2004-22201</u>

Sheppard, M. E., & Wieman, R. (2020). What do teachers need? Math and special education teacher educators' perceptions of essential teacher knowledge and experience. *The Journal of Mathematical Behavior*, 59. <u>https://doi.org/10.1016/j.jmathb.2020.100798</u>

- Shin, M., Park, J., Grimes, R., & Bryant, D. P. (2021). Effects of Using Virtual Manipulatives for Students With Disabilities: Three-Level Multilevel Modeling for Single-Case Data. Exceptional Children, 87(4), 418-437. <u>https://doi.org/10.1177/00144029211007150</u>
- Smith, J., Braithwaite, J., O'Brien, T. A., Smith, S., Tyrrell, V. J., Mould, E. V. A., Long, J. C., & Rapport, F. (2022). Re-Imagining the data collection and analysis research process by proposing a rapid qualitative data collection and analytic roadmap applied to the dynamic context of precision medicine. *International Journal of Qualitative Methods, 21*, 160940692211030. <u>https://doi.org/10.1177/16094069221103097</u>

- Sönmez, N., & Alptekin, S. (2020). Teaching a student with poor performance in mathematics to recall of multiplication facts using simultaneous prompting with systematic review and corrective feedback. *World Journal of Education*, *10*(3), 33-46.
- Spooner, F., Root, J. R., Saunders, A. F., & Browder, D. M. (2019). An Updated evidence-based practice review on teaching mathematics to students with moderate and severe developmental disabilities. *Remedial and Special Education*, 40(3), 150-165.

Stake, R. (1995). The art of case study research. Sage.

- Stevens, S. J. (2021). The Value of justice-involved youth: Accountability through technologydriven policies and practices. *Social Philosophy and Policy*, *38*(2), 146–169. https://doi.org/10.1017/s0265052522000097
- Strassfeld, N. M., & Cherng, H.-Y. S. (2022). Services for Juveniles With Emotional Disturbances in Secure-Care Settings: An Exploratory Analysis of Racial Disparities and Recidivism. *Behavioral Disorders*, 47(4), 257-269. https://doi.org/10.1177/01987429211046552
- Strelan, P., Osborn, A., & Palmer, E. (2020). The Flipped classroom: A Meta-analysis of effects on student performance across disciplines and education levels. *Educational Research Review*, 30, 100314.
- Strickland, T. K. (2022). Algebra Instruction for Students with Learning Disabilities in the Era of Common Core. *Intervention in School and Clinic*, 57(5), 306-315. <u>https://doi.org/10.1177/10534512211032613</u>
- Suhaini, M., Ahmad, A., & Harith, S. H. (2020). Factors influencing student achievement: A Systematic review. *International Journal of Psychosocial Rehabilitation*, 24(5), 550-560.

- Summers, R., Wang, S., Abd-El-Khalick, F., & Said, Z. (2019). Comparing Likert scale functionality across culturally and linguistically diverse groups in science education research: An illustration using Qatari students' responses to an attitude toward science survey. *International Journal of Science and Mathematics Education*, 17(5), 885-903. https://doi.org/10.1007/s10763-018-9889-8
- Süren, N., & Kandemir, M. A. (2020). The effects of mathematics anxiety and motivation on students' mathematics achievement. *International Journal of Education in Mathematics*, *Science and Technology*, 8(3), 190-218.
- Tan, P., Padilla, A. C., & Lambert, R. (2022). A Critical review of educator and disability research in mathematics education: A Decade of dehumanizing waves and humanizing wakes. *Review of Educational Research*, 92(6), 871–910.

https://doi.org/10.3102/00346543221081874

- Tang, T., Abuhmaid, A. M., Olaimat, M., Oudat, D. M., Aldhaeebi, M., & Bamanger, E. (2023). Efficiency of flipped classroom with online-based teaching under COVID-19. *Interactive Learning Environments*, 31(2), 1077-1088.
- Tarr, J. E., Walker, E. N., Hollebrands, K. F., Chval, K. B., Berry III, R. Q., Rasmussen, C. L., Konold, C., & King, K. (2013). New Assessments for New Standards: The Potential Transformation of Mathematics Education and Its Research Implications: NCTM Research Committee. *Journal for Research in Mathematics Education*, 44(2), 340-352. https://doi.org/10.5951/jresematheduc.44.2.0340
- Taylor, M. (2016). Adult earnings of juvenile delinquents: The Interaction of race/ethnicity, gender, and juvenile justice status on future earnings. *Justice Policy Journal*, *13*(2), 1–24.

- Theobald, R., Goldhaber, D., Naito, N., & Stein, M. (2021). The special education teacher pipeline: teacher preparation, workforce entry, and retention. *Exceptional Children*, 88(1), 65–80. <u>https://doi.org/10.1177/00144029211010162</u>
- Tobin, T., & Sprague, J. (2000). Alternative education strategies: Reducing violence in school and the community. *Journal of Emotional and Behavioral Disorders*, 8(3), 177-186.
- Tolou-Shams, M., Holloway, E. D., Ordorica, C., Yonek, J., Folk, J. B., Dauria, E., Ezimora, I., Ezimora, I., & Wiley, M. F. (2022). Leveraging technology to increase behavioral health services access for youth in the juvenile justice and child welfare systems: a Cross-systems collaboration model. *Journal of Behavioral Health Services & Research*, 49(4), 422–435. <u>https://doi.org/10.1007/s11414-022-09808-1</u>
- Twyman, J. S. (2021). The evidence is in the design. *Perspectives on Behavior Science*, 44(2), 195-223.
- Umriani, F., Suparman, Y. H., & Sari, D. P. (2020). Analysis and design of mathematics student worksheets based on PBL learning models to improve creative thinking. *International Journal of Advanced Science and Technology*, 29(7s), 226-237.
- US Department of Education (US DOE). (2017, May 3). Sec. 300.101 free appropriate public education (FAPE). Individuals With Disabilities Education Act. https://sites.ed.gov/idea/regs/b/b/300.101
- U.S. Department of Education. (2002). *Twenty-fourth annual report to Congress on the implementation of the Individuals with Disabilities Education Act*. Education Publications Center.

Valdez, M. T. C. C., & Maderal, L. D. (2021). An Analysis of Students' Perception of Online Assessments and Its Relation to Motivation towards Mathematics Learning. *Electronic Journal of e-Learning*, 19(5), 416-431. <u>https://doi.org/10.34190/ejel.19.5.2481</u>

- VanUitert, V. J., Kennedy, M. J., Romig, J. E., & Carlisle, L. M. (2020). Enhancing science vocabulary knowledge of students with learning disabilities using explicit instruction and multimedia. *Learning Disabilities: A Contemporary Journal*, 18(1), 3–25. http://files.eric.ed.gov/fulltext/EJ1264269.pdf
- Venezia, A. M. (2021). Alternative education and wholehearted teaching: Revolutionizing how we learn and love. *Educational Forum*, 85(3), 239-248.

https://doi.org/10.1080/00131725.2021.1908465

- Verbruggen, S., Depaepe, F., & Torbeyns, J. (2021). Effectiveness of educational technology in early mathematics education: A Systematic literature review. *International Journal of Child-Computer Interaction*, 27, 100220. <u>https://doi.org/10.1016/j.ijcci.2020.100220</u>
- Vidergor, H. E., & Ben-Amram, P. (2020). Khan Academy effectiveness: The Case of math secondary students' perceptions. *Computers & Education*, 157, 103985.

https://doi.org/10.1016/j.compedu.2020.103985

- Vodičková, B., Mitašíková, P., & Slavíčková, M. (2023). Supportive factors in inclusive mathematics education: Mathematics teachers' perspective. *Education Sciences*, 13(5). <u>https://doi.org/10.3390/educsci13050465</u>
- Vygodskaya, G. L. (1999). Vygotsky and problems of special education. *Remedial and Special Education*, 20(6), 330–332. <u>https://doi.org/10.1177/074193259902000605</u>
- Vygotsky, L. S. (1986). Thought and Word. *Thought and language*., 119-153. https://doi.org/10.1037/11193-007

Vygotsky, L. S., Cole, M., John-Steiner, V., Scribner, S., Souberman, E., & Wertsch, J. V.
(1979). L. S. Vygotsky: Mind in Society. The Development of Higher Psychological
Processes. American Journal of Psychology, 92(1), 166. <u>https://doi.org/10.2307/1421493</u>

- Wei, X., Cheng, I.-L., Chen, N.-S., Yang, X., Liu, Y., Dong, Y., Zhai, X., & Kinshuk. (2020).
   Effect of the Flipped Classroom on the Mathematics Performance of Middle School
   Students. *Educational Technology Research and Development*, 68(3), 1461-1484.
   https://doi.org/10.1007/s11423-020-09752-x
- Welsh, R. O. (2022). Overlooked exclusionary discipline: Examining placement in alternative schools, expulsions, and referrals to hearing in an urban district. *Educational Policy*, 36(3), 550-586. <u>https://doi.org/10.1177/0895904820901481</u>
- Widodo, S. A., Wijayanti, A., Irfan, M., Pusporini, W., Mariah, S., & Rochmiyati, S. (2023).
  Effects of worksheets on Problem-Solving Skills: Meta-Analytic studies. *International Journal of Educational Methodology*, 9(1), 151–167.
  <a href="https://doi.org/10.12973/ijem.9.1.151">https://doi.org/10.12973/ijem.9.1.151</a>
- Wilmshurst, L., & Brue, A. W. (2018). *The Complete guide to special Education: Expert advice* on evaluations, IEPs, and helping kids succeed.
- Wong, M. T., & Rashid, S. M. M. (2022). Challenges of special education teachers in implementation Individual Education Plan for students with learning disabilities. *International Journal of Academic Research in Business & Social Sciences*, 12(11). <u>https://doi.org/10.6007/ijarbss/v12-i11/15159</u>

- Xu, C., Huizinga, M., De Luca, G., Pollé, S., Liang, R., Sankalaite, S., Roorda, D. L., & Baeyens, D. (2023). Cultural universality and specificity of teacher-student relationship:
  A Qualitative study in Belgian, Chinese, and Italian primary school teachers. *Frontiers in Psychology*, *14*. <u>https://doi.org/10.3389/fpsyg.2023.1287511</u>
- Yamchi, F. A., Asl, H. D., & Aidinloo, N. A. (2021). The Effectiveness of using multimedia in smart classes on improving reading disorders, word chain, and word comprehension in Late Learning Students. *Research in English Language Pedagogy*, 9(2), 453–472. https://doi.org/10.30486/relp.2021.1924308.1257
- Yeh, E., Sharma, R., Jaiswal-Oliver, M., & Wan, G. (2022). Culturally responsive social emotional learning for international students: Professional development for higher education. *Journal of International Students*, 12(1), 19-41.
- Yin, R. (2009). Case study research: Design and method (5th ed.). Sage.
- Yin, R. (2018). Case study research and applications: Design and methods. Sage publications.
- Young, M. V., Phillips, R. S., & Nasir, N. S. (2010). Schooling in a youth prison. *Journal of Correctional Education*, 61(3), 203–222. <u>http://www.jstor.org/stable/23282827</u>
- Young, T. W. (1990). Public alternative education: Options and choice for today's schools. Teachers College Press.
- Zhang, D., Barrett, D. E., Katsiyannis, A., & Yoon, M. (2011). Juvenile offenders with and without disabilities: Risks and patterns of recidivism. *Learning and Individual Differences*, 21(1), 12-18.

## Appendix A

## **IRB** Letter

# LIBERTY UNIVERSITY.

INSTITUTIONAL REV

April 30, 2024

D. Sung Choe Traci Eshelman

Re: IRB Exemption - IRB-FY23-24-1726 EDUCATORS' PERCEPTIONS FOR LOW PERFORMANCE ON MATHEMATICS STATE ASSESSMENTS AMONG HIGH SCHOOL ALGEBRA STUDENTS WITH LEARNING DISABILITIES IN AN ALTERNATIVE EDUCATION PROGRAM IN CALIFORNIA: AN EXPLANATORY CASE STUDY

Dear D. Sung Choe, Traci Eshelman,

The Liberty University Institutional Review Board (IRB) has reviewed your application per the Office for Human Research Protections (OHRP) and Food and Drug Administration (FDA) regulations and finds your study to be exempt from further IRB review. This means you may begin your research with the data-safeguarding methods described in your IRB application, and no further IRB oversight is required.

Your study falls under the following exemption category, which identifies specific situations in which human participants research is exempt from the policy set forth in 45 CFR 46:104(d):

Category 2.(iii). Research that only includes interactions involving educational tests (cognitive, diagnostic, aptitude, achievement), survey procedures, interview procedures, or observation of public behavior (including visual or auditory recording) if at least one of the following criteria is met:

The information obtained is recorded by the investigator in such a manner that the identity of the human subjects can readily be ascertained, directly or through identifiers linked to the subjects, and an IRB conducts a limited IRB review to make the determination required by §46,111(a)(7).

For a PDF of your exemption letter, click on your study number in the My Studies card on your Cayuse dashboard. Next, click the Submissions bar beside the Study Details bar on the Study Details page. Finally, click Initial under Submission Type and choose the Letters tab toward the bottom of the Submission Details page. Your information sheet and final versions of your study documents, which you must use to conduct your study, can also be found on the same page under the Attachments tab.

This exemption only applies to your current research application, and any modifications to your protocol must be reported to the Liberty University IRB for verification of continued exemption status. You may report these changes by completing a modification submission through your Cayuse IRB account.

If you have any questions about this exemption or need assistance in determining whether possible modifications to your protocol would change your exemption status, please email us at irb@liberty.edu.

Sincerely, G. Michele Baker, PhD, CIP Administrative Chair Research Ethics Office

## **Appendix B**

# **ACSD Research Request Form**



#### **Research Guidelines**

Thank you for your interest in conducting research at the Office of requires that our Research Review Committee review all research Education (including surveys) involving students, parents, or district personnel. The role of this committee is to ensure that all proposed research comply with the ethical codes of research in addition to state and federal laws.

conducts and supports research that contributes to a greater understanding of highly effective teachers, instructional strategies, and resources and conditions that promote academic achievement for all students. Please understand that our ability to support external research projects, including the staff time allocated to review and comment on proposals, is limited. Only proposals that have a clear, direct, and immediate benefit to the county in terms of informing practice will be considered for approval. We are also limited in our ability to provide access to student data.

An approval from the Research Review Committee serves only as an authorization to contact the program lead(s), the district(s), or principal(s) of the school(s) of interest. Researchers will need to secure an approval from individual program(s) before any research work is permitted.

The guidelines included in the application are to support research by Internal and external researchers while respecting the time and privacy of students and staff.

#### Step by Step Process

Please follow the application directions below very carefully. If you do not adhere to the submission requirements, the review of your application will be delayed and/or your application may be denied without further review.

Step 1: Review (a) Board Policy and (b) Research Request Guidelines.

Step 2: Complete and submit the Indial Screener to

Step 3: A member of staff will respond to your Initial Screener request to determine whether the research request should continue further.

The

Step 4: Complete the full Research Request Application and submit to application must include a signature, and should be sent electronically to Please also submit the following documentation:

- One Page Summary of the Research Project. Methodology and Implications ٠
- ٠ **Research Application**
- Research Approval Notification .
- Criminal History Clearance (see General Policies for more info) .
- Signed Research Applicant Acknowledgement Page Data Privacy Assurances (if applicable) ÷
- Parent Permission Form (if applicable) .
- Child Consent Form (If applicable) •
- Recruitment Letter (if applicable) ٠
- Survey instruments/Interview Protocols (if applicable)

Note: If the research request includes a student, school, or district level data request, please complete the data request portion of the Research Request Application (see page 3).

Step 5: Once a decision has been made regarding the research request, the applicant will receive an email indicating whether the request was approved or denied. If needed, the approval email may require a Memorandum of Understanding (MOU), outlining terms of data use and dissemination.

Step 6: If approval has been granted at the district level, the applicant must then obtain site level approval by the site principal. Approval of a research request application at the district level does NOT guarantee approval by site administrators.

Step 7: Principals must inform the central office whether or not they approved or denied the research request by emailing

#### Timeline

The average start-to-finish processing time for research requests ranges up to 45 business days. The processing time depends on several factors such as: (a) staff availability, (b) whether or not extant data is also being requested, and (c) whether or not additional departments need to be contacted for approval. Be sure to allow sufficient time for your application to be reviewed before the proposed start date of your research study.

Please note, applications will not be reviewed during the following time periods:

- · First 30 Days of the School Year
- December 1st December 31st
- Last 30 Days of School Year

Applicants should direct all questions regarding research requests to

#### **General Policies**

 All participation will be voluntary, and it is understood that approval of the proposal, if granted, will not obligate any person, school, or department/unit in participate. In addition, any person, school, or department/unit in the can decide to withdraw at any time.

If the research request involves face-to-face interaction with students, all researchers and research team members must submit a document clearing them of criminal history. Listed below are the options to provide this required documentation:

o Researchers from Other School Districts:

Submit a copy of the LiveScan results completed during the hiring process at your district.

- o Researchers from Universities:
  - Submit a signed affidavit from an appropriate department at the university that is requiring the research. This affidavit must appear on university letterhead. If the university is unable to provide such an

affidavit, the applicant will likely be referred to LiveScan services. Submit a completed background check report that is provided by

- . LiveScan once fingerprinting has been completed. Please note. LiveScan services generally involve a fee. Interested applicants can do an internet search for "LiveScan locations".
- All research carried out at school sites must be conducted under the direct supervision ٠ of a certificated administrator or certificated staff member.
- All applicants must review and adhere to the Family Educational Rights and Privacy Act (FERPA) and Protection of Pupil Rights Amendment (PPRA). https://eu.opv/policy/gen/guid/thco//httpa//mise.html
  - p http://familypolicy.ed.gov/pora
- If the applicant is requesting extant data from the request for release of student information must be included in the parent permission form.
- To ensure valid informed consent, student materials must be developed at least one grade level below their current grade to better accommodate the wide range of student reading levels.
- · Communications intended for parents/guardians must be developed using a 4th to 6th grade readability level. It is department protocol that all parent/guardian communications concerning research requests be translated into Spanish for intended distribution at district schools.
- Annual review of multi-year studies is required. There is no automatic assurance of . renewal each year.
- Questions regarding (a) research hypothesis development, (b) appropriate data ٠ selection, and (c) research methodology should be directed to your institution's IRB department.

#### **Evaluation Criteria**

The primary criteria that will be used to evaluate external research requests are as follows:

- 1. Significance
  - Preference will be given to studies
    - a. Improving academic achievement. b. In areas that are of high concern and potential usefulness to districts within
    - c. Testing novel ideas.

    - d. Showing promise of contributing to a scientific knowledge base for education.
    - e. University required for a Master's thesis or Doctoral dissertation.
- 2. Design
  - a Adequacy of conceptual framework, research guestions, instrumentation, data collection, and design.
    - b. Appropriateness of arrangements to report and explain results of the research to personnel.

- c. Consideration of the rights and feelings of the subjects involved in the research.
   d. Confidentiality of information pertaining to individual students or staff.
   e. Clarity of plans for participation of students and staff.

3. Protection of Human Subjects

- a. Adherence to the Family Educational Rights and Privacy Act (FERPA) and Protection of Pupil Rights Amendment (PPRA) regarding family and pupil rights, their privacy, and protection.
   b. Appropriate parental consent forms and student assent forms when necessary.

## 4. Logistics

- a. Minimal disruption of district, school, and classroom operations. b. Minimal time required of students and staff.

### **Research Applicant Acknowledgement**

By signing the below, I acknowledge that I have read, understand, and agree to abide by the provisions set forth in the state Research Request Guidelines.

Print Name: Daniel SungHan Choe

Signature 744 Dale 14 94
### Application

Name:	Daniel S Choe				
Job Title:	SAI Teacher				
Agency Name:					
Work Phone:	(Call 949-783-8988)				
Work Address:	<b></b>				
City, State, Zip:	CA				
Work Email:					
Which degree(s) do you current possess?	BAMA				
Is this research part of an educational requirement?	Yes				
If so, which degree are you seeking?	PhD.				
Are you a employee?	Yes				
If you are a graduate student, what is your advisor's name?	io, <b>mai (interne</b>				
Advisor Phone Number:					
Project Title: (Provide a tills of your request.)	Educators' perceptions for low performance on mathematics state assessments among high school algebra students with learning disabilities in an alternative education program in California: An Explanatory case study				
Project Purpose: (Provide a brief summary of the project purposes. Be specific as possible.)	The purpose of this study is to understand educators' perceptions that influence high school algebre students with learning disabilities in an alternative education setting to score below and the below proficiency levels on the state mathematics assessment despite receiving credit for algebra courses.				
Project Area: (Counseling, assessment, reading, special education, and etc.)	Alternative education, students with learning disabilities, mathematics				
Project Aims: (Projected outcomes of the research project.)	The projected outcome of this research will fill the literature gap regarding alternative oducation, special education, and mathematics assessments at the high school level.				
Methodology: (Include information about design, procedures, population, sites, and analysis.)	An intrinsic case study qualitative approach will be used. Parsicipants will be trachers and administrations in the AE engrann. No contact will occur with intelemis or thes: Paraloganes will be contracted us are used, prove, and zolow indeconferencing for surveys and individual pro-on-one in intraviene. Cate respective will be transcripted at autorities with learning disabilities from 2018 to the present. All intervent their shares and to be reaccided before (increme trans.				
Hypotheses to be tested:	Not applicable. This is a qualitative study.				

Instruments to be used:	) any the intercented conducting this retearch.
Does the study deal with sensitive topics? If so, please specify. (abuse alcoholerug use, osadolilly concerns, psychological well-being, sexual behavior sexual alientation, health concerns, and etc.)	(Saf approaches This study down not interact with study-sty and instruction families denotivy. This alkady styles at Younscripts and state that scores:
Study Needs: (Lat all acheols, pupils, and staff members directly involved in your study.)	Number of Schools,      Mild million court
Have specific schools been contacted? (If yes, please provide the names of actools and the contact person at each.)	No strové névé télenizorocea.
Total in-school individual <u>student</u> time involved, if any:	Length of each session <u>No</u> Number of sessions. Spacing of pessions
Total in-school teacher and administrator time involved, if any:	Length of each sessionNumber of sessionsSpacing of sessions
Will non-school time be involved? (If so, how much and when?).	You Buyiyyi dismooraad haraamii intar ayaa da pasaadka dang kahaana kaa L
Special Characteristics of Participants:	Pariopene will profe fill dama wie educated program offit (identification in discrete)
Are there any stipends or other incentives for participation? (If yes, please describe,)	16
Will Spanish translations of parental consent forms be provided?	he.
Describe any potential <u>benefits</u> to schools or students? Applicant's Opinion)	Escalary etchiscom an bit learn incorporate announ and revision a substance in a substance of the second se

There we served and users expense and required you an exercised memory relation to recepter on even thereof the server the server the weak the used student 1 Supert 2 with
Transventrivel et even alled by Laen/Upriversitik Stress til EtyLoalers DRI are it somethers committee
An executive summary of Indiago will be provided in the Allumonian Education Exercises (Channel (pro- completion of the elucy
Date of Research Request: Estimated Date of Site Consultation (II applicable)
onal data from please proceed to the next section.
(an respective interview) (an respective tension percents) for human Data with units to the total grade and (2435) have results to 2016 to the present Data with units of the total grade and and participant formation according to the present of the units of the total grade and and participant formation according to the present of the units of the total grade and set of the total grade according to the present of the units of the units of the total grade and set of the total grade according to the present of the units of the total grade according to total grade according to total grade according to the total grade according to the total grade according to al grade according total
Transcetter für Nuderna erne wartenigt ansonane enlart- Citri grades erd men CAASS Harr societiekter 2016 to bei gravent.
Окарата панасилату Монт 2018 ГБ Астиса (неу 23 198 алемини). Видини К.А.ИСИИ пада пана болена алема 2018 10 асторо (най во так романт
The distriction on cand for the disarcticizer city.

ASSURANCES: The proposed research activities to be conducted within **Constitution** of **Constitution** are in compliance with existing legal and ethical codes. The research will not differ significantly from the activities described within the proposal. If participation will be voluntary, and it is understood that approval of the proposal, if granted, will not obligate any person, school, or department/unit in **Constitution** to participate. Researchers must obtain a signed parent consent form for each student <u>before</u> having contact with students. All student or staff data provided by the district will not be shared with other researchers or organizations. All research must be carried out at school sites and must be conducted under the direct supervision of a certification administrator or certificated staff member. Any amendments to the original proposal must be submitted and approved by the *Research Review Committee*. All researchers agree to provide **Constitute** and each participating school with a copy of the research findings.

Lalso acknowledge that I have reviewed the applicable board policies for Research at (BP.6162.8), available at

I understand and agree with the above statement, and will follow the guidelines it sets forth 1 have read and accept the provisions of the state and federal law regarding the protection of

pupils in research attache tion. Applicant's Signature: 7 24 24 Date Submitted:



#### DATA SECURITY BREACH REPORTING AND PRIVACY OF RECORDS PROTOCOLS AND AGREEMENTS

- DATA SECURITY BREACH REPORTING: California Civil Code 1798.82(a) and California Civil Code 1798.29(a) require business' and state agencies to notify any California resident whose unencrypted personal information, as defined, was acquired, or reasonably believed to have been acquired, by an unauthorized person. Additionally, when any single breach occurs that effects 500 or more California residents, the business or agency is required to electronically submit a sample copy of the security breach notification, excluding any personally identifiable information (P1), to the Attorney General.
- 2. PROTECTION OF PUPIL DATA: California local educational agencies, such as the Riverside County Superintendent of Schools, hereinafter referred to as "SUPERINTENDENT", and third party researchers, such as <u>build One</u>, hereinafter referred to as "RESEARCHER", are required by federal and state laws to protect certain pupil data, including but not limited to; financial, health, and educational records. RESEARCHER must implement procedures and protective measures to ensure compliance with current federal and state privacy requirements, including but not limited to; California Education Code 49073.1, the Student Online Personal Information Protection Act (SOPIPA), the federal Family Educational Rights and Privacy Act (FERPA), the federal Children's Online Privacy Protection Act (COPPA), and the Children's Internet Protection Act (CIPA).
- 3. COMPLIANCE: In addition to other penalties, an agreement that fails to comply with the requirements of this Agreement shall be rendered void if, upon notice and reasonable opportunity to cure, the noncompliant party fails to come into compliance and cure any defect. Written notice of noncompliance may be provided by any Party to this Agreement. All Parties subject to this Agreement, voided under this section, shall return all records in their possession to SUPERINTENDENT as detailed in section 7 of this Agreement.

#### 4. DEFINITIONS:

Local Education Agency	Includes school districts, county offices of education, and charter schools			
Pupil Records	<ul> <li>Any information directly related to a pupil that is maintained by the local educational agency.</li> <li>Any information acquired directly from the pupil through the use of instructional software or applications assigned to the pupil by a teacher or other local education agency employee.</li> </ul>			
Pupil-Generated Content	Materials created by a pupil, including but not limited to, essays, research reports, portfolios, creative writing, music or other audio files, photographs, and account information that enables ongoing ownership of pupil content.			

Personally Identifiable Information (PII)	Shall include, but is not limited to, student data, metadata, and user or pupil-generated content.		
Eligible Pupil	A pupil who has reached 18 years of age.		
Individual	For purposes of this Agreement, any reference to individual(s) in this Agreement are referring to pupils, both of minor age and adult, parents, legal guardians, and LEA employees.		

RESEARCHER will be hosting, collecting, or processing the data which may include PII, as indicated on the **INTERESEARCH REQUEST**. RESEARCHER must provide written responses to items 1-5, as applicable, in the space provided and sign this Agreement indicating acceptance of the protocol. For any items that are not applicable to this Agreement, please write "not applicable". If more space is needed, additional pages may be added.

 RESEARCHER shall provide a description of the actions RESEARCHER will take including the designation and training of responsible persons, to ensure the security and confidentiality of an individual's records. Compliance with this requirement shall not, in itself, absolve the RESEARCHER of liability in the event of an unauthorized disclosure of an individual's records.

RESEARCHER to insent information here.

 RESEARCHER shall provide a description of the procedures RESEARCHER will take, for notifying the affected individual or, if applicable, their parent or legal guardian, in the event of an unauthorized disclosure of an individual's records.

RESEARCHER to insert information here Samuel

 RESEARCHER shall provide a description of the means by which a pupil or, if applicable, their parent or legal guardian, may retain possession and control of their own generated content.

RESEARCHER to insurt information here.

 RESEARCHER shall provide a description of the procedures by which an eligible pupil or, if applicable, their parent or legal guardian, may review PII in their records and correct erroneous information.

RESEARCHER to intern information have

 RESEARCHER shall provide a description of how SUPERINTENDENT and RESEARCHER will jointly ensure compliance with the federal Family Educational Rights and Privacy Act (20 U.S.C. Sec. 1232g) to protect Pupil Records.

RESEARCHER to insert information here.

 RESEARCHER shall notify SUPERINTENDENT within 24 hours of an unanthorized breach. Notifications shall be sent as follows:

Contracts an	d Purchasing Services
Contracto da	a thready set the
	the second s
C	

- RESEARCHER, upon completion of the terms of this Research Request, will provide a Certificate of Destruction that certifies that an individual's records have not been retained or available to RESEARCHER upon completion of the terms of this Agreement and a description of how that certification has been enforced.
  - A. RESEARCHER will ensure all SUPERINTENDENT data will be stored on the RESEARCHER'S server/virtual server separate from all other LEAs.
  - B. At the conclusion of the research timeline as indicated in the Research Request, or immediately after receipt of termination notice from SUPERINTENDENT, RESEARCHER shall submit a Certificate of Destruction Request to SUPERINTENDENT. If the research timeline from the Research Request requires extension, a written request must be made to SUPERINTENDENT to relain data provided under the Research Request.
  - C. The Certificate of Destruction Request must be sent pursuant to Section 6 of this Agreement.
  - D SUPERINTENDENT will indicate what method of destruction will be used, if any, and return the Certificate of Destruction Request to RESEARCHER.
    - RESEARCHER will not destroy data unless authorized by SUPERINTENDENT.
       If authorized to destroy data by SUPERINTENDENT, RESEARCHER will
- provide a completed Certificate of Destruction to SUPERINTENDENT. 8 All records obtained by RESEARCHER from SUPERINTENDENT continue to be the
- All records obtained by RESEARCHER from SUPERINTENDENT continue to be property of and under the control of SUPERINTENDENT.
- This Agreement prohibits RESEARCHER from using any information in SUPERINTENDENT'S records for any purpose other than those required or specifically permitted by this Agreement.
- This Agreement prohibits against RESEARCHER using any PI contained in SUPERINTENDENT'S records to engage in targeted advertising.

IN WITNESS WHEREOF, the Parties hereto have executed this Agreement on the day and year first above written.

	Schools	RESEARCHER Name:
Signed	Authorized Signature	Authorized Signature
-	Printed Nanle and Title	Printed Name and Title
Date		Date

### Appendix C

### **ACSD Research Approval Letter**





### **Appendix D**

### **Recruitment Email/Screenings**

Dear Educator,

As a doctoral candidate in the School of Education, D. Sung Choe, at Liberty University, I am conducting research for my dissertation as part of the requirements for a Ph.D. degree. The purpose of my research is to understand educators' perceptions regarding factors that influence high-school algebra students with learning disabilities in an alternative education setting to score below and far below basic proficiency levels on the California math standards test despite receiving credit for the algebra course. I am writing to invite you to join my study.

Participants must be teachers or administrators working with students with learning disabilities in an alternative education program. Participants will be asked to take an online survey and participate in a one-on-one videorecorded interview via Zoom. The online survey will be sent via email and take approximately 15 minutes to complete. Once the online survey is completed, participants will be invited for a one-on-one video-recorded interview via Zoom, which should take approximately 30 minutes to complete. Participants will be given a written transcription of their individual interview to review for accuracy. Participants' names will be requested, but identities will not be disclosed.

To participate, please complete the following <u>screening questions</u> and attached <u>consent</u> form. After you have read the consent form, please click the link to proceed to the <u>survey</u>. Participating in the survey will indicate that you have read the consent information and would like to participate in the study. The consent document contains additional information about my research. If you choose to participate, you will need to sign the consent document and return it to me at the time of the interview. Please contact me if you have any questions.

Sincerely,

D. Sung Choe Doctoral Candidate

Attachment: Consent Form

### Appendix E

### **Screening Survey**

Participants will answer the following questions.

- 1. What is your name (first and last)?
- 2. What is your work email address?
- 3. What is the best phone number to contact you?
- 4. What position do you currently hold? (Administrator or Teacher)
- 5. Do you possess a single subject credential? (Yes or No)
- 6. Do you possess a mathematics credential or mathematics-added authorization? (Yes or No)
- 7. Do you possess a multiple-subject credentials? (Yes or No)
- How long have you been in the teaching profession? (one to five years; six to 10 years; 11-15 years; 16-20 years; More than 20 years)
- 9. How long have you worked in alternative education? (one to five years; six to 10 years; 11-

15 years; 16-20 years; More than 20 years)

### Appendix F

### **Consent Form**

**Title of the Project:** Educators' perceptions for low performance on mathematics state assessment among high school algebra students with learning disabilities in an alternative education program in California: An Explanatory case study

**Principal Investigator:** D. Sung Choe, Doctoral Candidate, School of Education, Liberty University

### Invitation to be a part of a research study

You are invited to participate in a research study. To participate, you must be a teacher or administrator working with students with learning disabilities in an alternative education program. Taking part in this research project is voluntary.

Please take time to read this entire form and ask questions before deciding whether to take part in this research.

### What is the study about and why is it being done?

The purpose of the study is to understand the perceptions of educators regarding factors that influence high-school algebra students with LD in an alternative education setting to score below and far below basic proficiency levels on the California math standards test despite receiving credit for the algebra course.

### What will happen if you take part in this study?

If you agree to be in this study, I will ask you to do the following:

- 1. Participate in an online survey. This should take about 15 minutes.
- 2. Participate in an individual video-recorded Zoom interview. This should take about 30 minutes.
- 3. Receive a written transcription of the interview to review for accuracy.

### How could you or others benefit from this study?

You should not expect to receive a direct benefit from participating in this study.

Benefits to the teaching profession include insights into pedagogy and instructional practices in mathematics and supporting high school students with learning disabilities to perform better on state math assessments. Other benefits include school districts aligning math-based professional development for teachers.

### What risks might you experience from being in this study?

The expected risks from participating in this study are minimal, which means they are equal to the risks you would encounter in everyday life.

I am a mandatory reporter. During this study, if I receive information about child abuse, child neglect, elder abuse, or intent to harm self or others, I will be required to report it to the appropriate authorities.

### How will personal information be protected?

The records of this study will be kept private. The research records will be kept safe and secure, and only the researcher will have access to them. All recordings will be password and fingerprint-protected on the researcher's computer, and physical documents will be stored in a locked filing cabinet that can only be accessed by the researcher.

- Participant responses will be kept confidential by replacing names with pseudonyms. Pseudonyms used will be Participant 1, Participant 2, et cetera.
- Interviews will be conducted in a location where others will not easily overhear the conversation via Zoom videoconferencing.

• Data will be stored on a password-locked computer, in a locked file cabinet, and secured on school servers. After three years, all electronic records will be deleted, and all hardcopy records will be shredded.

• Recordings will be stored on a password-locked computer until participants have reviewed and confirmed the accuracy of the transcripts and then deleted after three years. The researcher and members of his doctoral committee will have access to these recordings.

### Is study participation voluntary?

Participation in this study is voluntary. Your decision whether to participate will not affect your current or future relations with Liberty University. If you decide to participate, you are free to not answer any question or withdraw at any time without affecting those relationships.

### What should you do if you decide to withdraw from the study?

If you choose to withdraw from the study, please exit the survey and close your internet browser. Your responses will not be recorded or included in the study.

If you have completed the survey and choose to withdraw from the individual interview portion of the study, please contact the researcher at the email address/phone number included in the next paragraph. If you choose to withdraw, data collected from you, apart from the survey data, will be destroyed immediately and not included in this study.

### Whom do you contact if you have questions or concerns about the study?

The researcher conducting this study is D. Sung Choe. You may ask any questions you have now. If you have questions later, **you are encouraged** to contact him at and

. You may also contact the researcher's faculty sponsor, Dr. Traci Eshelman

### Whom do you contact if you have questions about your rights as a research participant?

If you have any questions or concerns regarding this study and would like to talk to someone other than the researcher, **you are encouraged** to contact the IRB. Our physical address is Institutional Review Board, 1971 University Blvd., Green Hall Ste. 2845, Lynchburg, VA, 24515; our phone number is 434-592-5530, and our email address is irb@liberty.edu.

Disclaimer: The Institutional Review Board (IRB) is tasked with ensuring that human subjects research will be conducted in an ethical manner as defined and required by federal regulations.

The topics covered and viewpoints expressed or alluded to by student and faculty researchers are those of the researchers and do not necessarily reflect the official policies or positions of Liberty University.

### **Your Consent**

Before agreeing to be part of the research, please be sure that you understand what the study is about. You will be given a copy of this document for your records/you can print a copy of the document for your records. If you have any questions about the study later, you can contact the researcher using the information provided above.

I have read and understood the above information. I have asked questions and have received answers. I consent to participate in the study.

The researcher has my permission to audio-record/video-record me as part of my participation in this study.

Printed Subject Name

Signature & Date

### Appendix G

### **Survey Questions (Table 1)**

### Survey Likert-scale Questions:

Participants will select one response to each statement with (a) Strongly agree, (b) Agree,

(c) Neutral, (d) Disagree, or (e) Strongly disagree. Please complete all parts of this survey.

- 1. Which division do you work in (court, community, or charter)? Basic information
- 2. Students with learning disabilities in AE do well on the math portion of the CAASPP assessment test. CRQ
- Students with learning disabilities in AE score proficient or above in the math portion of the CAASPP assessment. CRQ
- 4. Students with learning disabilities in AE score below proficient on the math portion of the CAASPP assessment. CRQ
- 5. Students with learning disabilities in AE score far below proficient on the math portion of the CAASPP assessment. CRQ
- 6. Students with learning disabilities entering AE have foundational skills to acquire CAASPP math content. CRQ
- Students with learning disabilities in AE have adequate instructional time to prepare for the CAASPP math assessment. CRQ
- 8. Students with learning disabilities should receive at least one hour of dedicated instructional time daily to learn foundational skills for the CAASPP math assessment. CRQ
- 9. Students with learning disabilities should receive at least two hours of dedicated instructional time daily to learn foundational skills for the CAASPP math assessment. CRQ
- 10. Students with learning disabilities in AE come prepared with Algebra 1 concepts addressed in the CAASPP assessment. CRQ

- 11. Students with learning disabilities in AE understand how to access mathematics instructional material independently. CRQ
- 12. Teachers need a mathematics credential to provide mathematics instruction to support students with learning disabilities in AE. SQ1
- 13. Teachers need a background in mathematics to provide mathematics instruction to support students with learning disabilities in AE. SQ1
- 14. Teachers receive high-quality professional development in administering the CAASPP test.SQ1
- 15. Teachers receive adequate algebra content training to support students with learning disabilities in AE. SQ1
- Teachers receive regular training on mathematics curricula throughout the academic year.
   SQ1
- 17. Teachers should receive mathematics training during the summer break. SQ1
- Students with learning disabilities in AE have access to technology to support mathematics learning. SQ2
- 19. Students with learning disabilities in AE understand how to use technology in learning mathematics. SQ2
- 20. Students with learning disabilities in AE prefer paper and pencil over the computer when working on mathematics problems. SQ2
- 21. Students with learning disabilities in AE prefer direct instruction when learning mathematics. SQ2
- 22. Technology hinders the mathematics learning of students with learning disabilities in AE. SQ2

- 23. Instructional math videos provide additional support for students with learning disabilities in AE. SQ2
- 24. Students with learning disabilities enter the AE setting with foundational math skills to learn algebra concepts. SQ3
- 25. Students with learning disabilities in AE possess a proficient understanding of addition. SQ3
- 26. Students with learning disabilities in AE possess a proficient understanding of subtraction. SQ3
- 27. Students with learning disabilities in AE possess a proficient understanding of multiplication.SQ3
- 28. Students with learning disabilities in AE possess a proficient understanding of division. SQ3
- 29. Students with learning disabilities in AE possess a proficient understanding of orders of operations. SQ3
- 30. Students with learning disabilities in AE possess a proficient understanding of ratios and proportions (fractions). SQ3
- 31. Students with learning disabilities in AE possess a proficient understanding of percentages.SQ3
- 32. Students with learning disabilities in AE possess a proficient understanding of decimals. SQ3
- 33. Students with learning disabilities in AE possess a proficient understanding of the number system. SQ3
- 34. Students with learning disabilities in AE possess a proficient understanding of geometry (perimeter and area of a square, rectangle, and triangle). SQ3
- 35. Students with learning disabilities in AE possess a proficient understanding of solving basic expressions (2x + 1=7). SQ3

- 36. Students with learning disabilities in AE possess a proficient understanding of the distributive property (a[b+c] = ab + ac). SQ3
- 37. Students with learning disabilities in AE should have two consecutive years of mathematics preparation before taking the CAASPP math assessment. CRQ
- 38. Students with learning disabilities in AE do not remain enrolled long enough to access mathematics instruction to reach proficiency levels. CRQ
- 39. Students with learning disabilities in AE should be able to demonstrate algebra proficiency through an alternative measure to the CAASPP. CRQ
- 40. The IEP's specific learning disability (SLD) designation is adequate to provide math instructional guidance for students with learning disabilities in AE settings. CRQ

Thank you for your participation in this survey. I will contact you to schedule an individual interview for this study.

# Appendix H

# Survey Results (Table 4)

## Table 4

Participants	Division	Students with learning disabilities in alternative education do well on the math portion of the CAASPP assessment test.	Students with learning disabilities in alternative education score proficient or above on the math portion of the CAASPP assessment.	Students with learning disabilities in alternative education score below proficient on the math portion of the CAASPP assessment.	Students with learning disabilities in alternative education score far below proficient on the math portion of the CAASPP assessment.
Esther	Charter	Strongly disagree	Strongly disagree	Strongly agree	Strongly agree
Anna	Community	Strongly disagree	Strongly disagree	Strongly agree	Strongly agree
Aaron	Community	Disagree	Disagree	Agree	Agree
Candance	Charter	Strongly disagree	Strongly disagree	Strongly agree	Strongly agree
Matthew	Court	Strongly disagree	Strongly disagree	Strongly agree	Agree
Deborah	Charter	Strongly disagree	Strongly disagree	Agree	Agree
Норе	Community	Disagree	Strongly disagree	Strongly agree	Strongly agree
Mary	Charter	Strongly disagree	Strongly disagree	Strongly agree	Strongly agree
Rebecca	Charter	Strongly disagree	Strongly disagree	Strongly agree	Agree
Sophia	Community	Disagree	Strongly disagree	Agree	Strongly agree
Luke	Court	Strongly disagree	Strongly disagree	Strongly agree	Strongly agree

Participants	Division	Students with learning disabilities in alternative education have adequate instructional time to prepare for the CAASPP math assessment.	Students with learning disabilities should receive at least one hour of dedicated instructional time daily to learn foundational skills for the CAASPP math assessment.	Students with learning disabilities should receive at least two hours of dedicated instructional time daily to learn foundational skills for the CAASPP math assessment.	Students with learning disabilities in alternative education come prepared with Algebra 1 concepts addressed in the CAASPP assessment.
Esther	Charter	Strongly disagree	Strongly agree	Strongly agree	Strongly disagree
Anna	Community	Disagree	Strongly agree	Strongly agree	Strongly disagree
Aaron	Community	Agree	Agree	Disagree	Disagree
Candance	Charter	Disagree	Neutral	Neutral	Agree
Matthew	Court	Neutral	Agree	Disagree	Disagree
Deborah	Charter	Neutral	Strongly agree	Agree	Strongly disagree
Норе	Community	Disagree	Strongly agree	Strongly agree	Strongly disagree
Mary	Charter	Strongly disagree	Strongly agree	Agree	Strongly disagree
Rebecca	Charter	Neutral	Agree	Neutral	Agree
Sophia	Community	Disagree	Strongly agree	Disagree	Disagree
Luke	Court	Disagree	Agree	Neutral	Disagree

Participants	Division	Students with learning disabilities in alternative education understand how to access mathematics instructional material independently.	Teachers need a mathematics credential to provide mathematics instruction to support students with learning disabilities in alternative education.	Teachers need a background in mathematics to provide mathematics instruction to support students with learning disabilities in alternative education.	Teachers receive high-quality professional development in administering the CAASPP test.
Esther	Charter	Strongly disagree	Agree	Strongly agree	Strongly disagree
Anna	Community	Strongly disagree	Strongly agree	Strongly agree	Strongly disagree
Aaron	Community	Disagree	Disagree	Agree	Agree
Candance	Charter	Disagree	Strongly disagree	Neutral	Strongly agree
Matthew	Court	Disagree	Disagree	Disagree	Agree
Deborah	Charter	Disagree	Neutral	Strongly agree	Agree
Норе	Community	Strongly disagree	Disagree	Disagree	Strongly agree
Mary	Charter	Strongly disagree	Disagree	Strongly agree	Disagree
Rebecca	Charter	Agree	Disagree	Agree	Strongly agree
Sophia	Community	Agree	Strongly disagree	Disagree	Disagree
Luke	Court	Disagree	Neutral	Neutral	Neutral

Participants	Division	Teachers receive adequate algebra content training to support students with learning disabilities in alternative education.	Teachers receive adequate professional development time to collaborate with others on mathematics topics.	Teachers receive regular training on mathematics curricula throughout the academic year.	Teachers should receive mathematics training during the summer break.
Esther	Charter	Strongly disagree	Strongly disagree	Strongly disagree	Strongly agree
Anna	Community	Strongly disagree	Strongly disagree	Strongly disagree	Strongly agree
Aaron	Community	Disagree	Disagree	Disagree	Agree
Candance	Charter	Disagree	Strongly disagree	Strongly disagree	Neutral
Matthew	Court	Agree	Neutral	Neutral	Agree
Deborah	Charter	Disagree	Disagree	Disagree	Disagree
Норе	Community	Disagree	Disagree	Strongly disagree	Neutral
Mary	Charter	Disagree	Strongly disagree	Strongly disagree	Neutral
Rebecca	Charter	Neutral	Disagree	Neutral	Strongly disagree
Sophia	Community	Neutral	Disagree	Agree	Neutral
Luke	Court	Disagree	Disagree	Disagree	Agree

Participants	Division	Students with learning disabilities in alternative education have access to technology to support mathematics learning.	Students with learning disabilities in alternative education understand how to use technology in learning mathematics.	Students with learning disabilities in alternative education prefer paper and pencil over the computer when working on mathematics problems.	Students with learning disabilities in alternative education prefer direct instruction when learning mathematics.
Esther	Charter	Neutral	Strongly disagree	Agree	Strongly agree
Anna	Community	Strongly disagree	Strongly disagree	Strongly agree	Strongly agree
Aaron	Community	Agree	Agree	Disagree	Agree
Candance	Charter	Agree	Agree	Strongly agree	Strongly agree
Matthew	Court	Strongly agree	Disagree	Neutral	Strongly agree
Deborah	Charter	Agree	Disagree	Neutral	Strongly agree
Норе	Community	Strongly agree	Disagree	Neutral	Strongly agree
Mary	Charter	Agree	Agree	Neutral	Strongly agree
Rebecca	Charter	Strongly agree	Strongly agree	Strongly disagree	Neutral
Sophia	Community	Agree	Agree	Strongly agree	Strongly agree
Luke	Court	Agree	Agree	Neutral	Neutral

Participants	Division	Technology hinders the mathematics learning of students with learning disabilities in alternative education.	Instructional math videos provide additional support for students with learning disabilities in alternative education.	Students with learning disabilities enter the alternative education setting with foundational math skills to learn algebra concepts.	Students with learning disabilities in alternative education possess a proficient understanding of addition.
Esther	Charter	Neutral	Strongly agree	Strongly disagree	Agree
Anna	Community	Agree	Neutral	Strongly disagree	Strongly disagree
Aaron	Community	Agree	Agree	Strongly disagree	Agree
Candance	Charter	Disagree	Neutral	Strongly disagree	Strongly agree
Matthew	Court	Strongly disagree	Agree	Disagree	Disagree
Deborah	Charter	Agree	Agree	Neutral	Disagree
Норе	Community	Disagree	Strongly agree	Strongly disagree	Disagree
Mary	Charter	Agree	Agree	Agree	Disagree
Rebecca	Charter	Disagree	Strongly agree	Neutral	Strongly agree
Sophia	Community	Disagree	Agree	Disagree	Strongly disagree
Luke	Court	Disagree	Agree	Disagree	Agree

Participants	Division	Students with learning disabilities in alternative education possess a proficient understanding of subtraction.	Students with learning disabilities in alternative education possess a proficient understanding of multiplication.	Students with learning disabilities in alternative education possess a proficient understanding of division.	Students with learning disabilities in alternative education possess a proficient understanding of orders of operations.
Esther	Charter	Agree	Disagree	Disagree	Disagree
Anna	Community	Strongly disagree	Strongly disagree	Strongly disagree	Strongly disagree
Aaron	Community	Agree	Disagree	Strongly disagree	Strongly disagree
Candance	Charter	Agree	Agree	Neutral	Disagree
Matthew	Court	Disagree	Disagree	Disagree	Disagree
Deborah	Charter	Disagree	Strongly disagree	Strongly disagree	Strongly disagree
Норе	Community	Disagree	Disagree	Disagree	Strongly disagree
Mary	Charter	Disagree	Disagree	Strongly disagree	Strongly disagree
Rebecca	Charter	Strongly agree	Strongly agree	Agree	Neutral
Sophia	Community	Agree	Strongly disagree	Strongly disagree	Strongly disagree
Luke	Court	Agree	Disagree	Disagree	Disagree

Participants	Division	Students with learning disabilities in alternative education possess a proficient understanding of ratios and proportions (fractions).	Students with learning disabilities in alternative education possess a proficient understanding of percentages.	Students with learning disabilities in alternative education possess a proficient understanding of decimals.	Students with learning disabilities in alternative education possess a proficient understanding of the number system.
Esther	Charter	Strongly disagree	Strongly disagree	Strongly disagree	Strongly disagree
Anna	Community	Strongly disagree	Strongly disagree	Strongly disagree	Strongly disagree
Aaron	Community	Strongly disagree	Strongly disagree	Strongly disagree	Disagree
Candance	Charter	Disagree	Disagree	Disagree	Disagree
Matthew	Court	Disagree	Disagree	Disagree	Disagree
Deborah	Charter	Strongly disagree	Strongly disagree	Strongly disagree	Disagree
Норе	Community	Strongly disagree	Strongly disagree	Strongly disagree	Strongly disagree
Mary	Charter	Strongly disagree	Strongly disagree	Strongly disagree	Strongly disagree
Rebecca	Charter	Disagree	Strongly disagree	Disagree	Agree
Sophia	Community	Strongly disagree	Strongly disagree	Strongly disagree	Disagree
Luke	Court	Disagree	Disagree	Disagree	Agree

Participants	Division	Students with learning disabilities in alternative education possess a proficient understanding of geometry (perimeter and area of a square, rectangle, and triangle).	Students with learning disabilities in alternative education possess a proficient understanding of solving basic expressions (2x + 1=7).	Students with learning disabilities in alternative education possess a proficient understanding of the distributive property (a[b+c] = ab + ac).	Students with learning disabilities in alternative education should have two consecutive years of mathematics preparation before taking the CAASPP math assessment.
Esther	Charter	Strongly disagree	Strongly disagree	Strongly disagree	Strongly agree
Anna	Community	Strongly disagree	Strongly disagree	Strongly disagree	Strongly agree
Aaron	Community	Strongly disagree	Strongly disagree	Strongly disagree	Agree
Candance	Charter	Disagree	Strongly disagree	Strongly disagree	Disagree
Matthew	Court	Strongly disagree	Disagree	Strongly disagree	Agree
Deborah	Charter	Strongly disagree	Strongly disagree	Strongly disagree	Strongly agree
Норе	Community	Strongly disagree	Strongly disagree	Strongly disagree	Agree
Mary	Charter	Strongly disagree	Strongly disagree	Strongly disagree	Strongly disagree
Rebecca	Charter	Disagree	Disagree	Strongly disagree	Strongly agree
Sophia	Community	Strongly disagree	Disagree	Strongly disagree	Agree
Luke	Court	Disagree	Neutral	Disagree	Agree

Participants	Division	Students with learning disabilities in alternative education do not remain enrolled long enough to access mathematics instruction to reach proficiency levels.	Students with learning disabilities in alternative education should be able to demonstrate algebra proficiency through an alternative measure to the CAASPP.	The IEP's specific learning disability (SLD) designation is adequate to provide math instructional guidance for students with learning disabilities in AE settings.
Esther	Charter	Strongly agree	Strongly agree	Strongly agree
Anna	Community	Strongly agree	Strongly disagree	Strongly disagree
Aaron	Community	Agree	Agree	Agree
Candance	Charter	Agree	Agree	Disagree
Matthew	Court	Agree	Agree	Disagree
Deborah	Charter	Disagree	Neutral	Strongly disagree
Норе	Community	Agree	Neutral	Disagree
Mary	Charter	Strongly agree	Neutral	Disagree
Rebecca	Charter	Agree	Neutral	Neutral
Sophia	Community	Neutral	Neutral	Disagree
Luke	Court	Strongly agree	Agree	Agree

### Survey Results

- Which division do you work?
- 11 responses



Students with learning disabilities in alternative education do well on the math portion of the CAASPP assessment test.

11 responses



Students with learning disabilities in alternative education score proficient or above on the math portion of the CAASPP assessment.

11 responses



Students with learning disabilities in alternative education score below proficient on the math portion of the CAASPP assessment.

11 responses



Students with learning disabilities in alternative education score far below proficient on the math portion of the CAASPP assessment.

11 responses



Students with learning disabilities entering alternative education have foundational skills to acquire CAASPP math content.

11 responses



Students with learning disabilities in alternative education have adequate instructional time to prepare for the CAASPP math assessment.

11 responses



Students with learning disabilities should receive at least one hour of dedicated instructional time daily to learn foundational skills for the CAASPP math assessment. 11 responses


Students with learning disabilities should receive at least two hours of dedicated instructional time daily to learn foundational skills for the CAASPP math assessment. 11 responses



Students with learning disabilities in alternative education come prepared with Algebra 1 concepts addressed in the CAASPP assessment.



Students with learning disabilities in alternative education understand how to access mathematics instructional material independently.

11 responses



Teachers need a mathematics credential to provide mathematics instruction to support students with learning disabilities in alternative education. <sup>11</sup> responses



Teachers need a background in mathematics to provide mathematics instruction to support students with learning disabilities in alternative education. 11 responses



Teachers receive high-quality professional development in administering the CAASPP test. 11 responses



Teachers receive adequate algebra content training to support students with learning disabilities in alternative education.

11 responses



Teachers receive adequate professional development time to collaborate with others on mathematics topics.



Teachers receive regular training on mathematics curricula throughout the academic year. 11 responses



Teachers should receive mathematics training during the summer break. 11 responses



Students with learning disabilities in alternative education have access to technology to support mathematics learning.

11 responses



Students with learning disabilities in alternative education understand how to use technology in learning mathematics.



Students with learning disabilities in alternative education prefer paper and pencil over the computer when working on mathematics problems.

11 responses



Students with learning disabilities in alternative education prefer direct instruction when learning mathematics.



Technology hinders the mathematics learning of students with learning disabilities in alternative education.

11 responses



Instructional math videos provide additional support for students with learning disabilities in alternative education.



Students with learning disabilities enter the alternative education setting with foundational math skills to learn algebra concepts.

11 responses



Students with learning disabilities in alternative education possess a proficient understanding of addition.



Students with learning disabilities in alternative education possess a proficient understanding of subtraction.

11 responses



Students with learning disabilities in alternative education possess a proficient understanding of multiplication.



Students with learning disabilities in alternative education possess a proficient understanding of division.

11 responses



Students with learning disabilities in alternative education possess a proficient understanding of orders of operations.



Students with learning disabilities in alternative education possess a proficient understanding of ratios and proportions (fractions).

11 responses



Students with learning disabilities in alternative education possess a proficient understanding of percentages.



Students with learning disabilities in alternative education possess a proficient understanding of decimals.

11 responses



Students with learning disabilities in alternative education possess a proficient understanding of the number system.



Students with learning disabilities in alternative education possess a proficient understanding of geometry (perimeter and area of a square, rectangle, and triangle). 11 responses



Students with learning disabilities in alternative education possess a proficient understanding of solving basic expressions (2x + 1=7).



Students with learning disabilities in alternative education possess a proficient understanding of the distributive property (a[b+c] = ab + ac).

11 responses



Students with learning disabilities in alternative education should have two consecutive years of mathematics preparation before taking the CAASPP math assessment. 11 responses



Students with learning disabilities in alternative education do not remain enrolled long enough to access mathematics instruction to reach proficiency levels. 11 responses



Students with learning disabilities in alternative education should be able to demonstrate algebra proficiency through an alternative measure to the CAASPP. 11 responses



The IEP's specific learning disability (SLD) designation is adequate to provide math instructional guidance for students with learning disabilities in AE settings. <sup>11</sup> responses



#### **Appendix I**

#### **Individual Interview Questions (Table 2)**

#### Individual Interview Questions:

Participants will participate in an individual videoconference meeting (Zoom) with the researcher. Questions or statements will be open-ended so participants can provide their responses. Participants will not be interrupted once they begin a response to a question. There is no time limit restriction on their response.

Researcher will read the following statement before the interview begins: "Thank you for your voluntary participation in this study. Please respond to the best of your ability based on your personal experiences."

- 1. Which division do you work in (court, community, or charter)? Basic information
- 2. Describe your background in mathematics. Basic information
- 3. Describe how your students with learning disabilities perform on the CAASSP math assessment. CRQ
- 4. Describe the foundational math skills your students with learning disabilities have when they enter your program? CRQ
- 5. Describe the instructional day for your students with learning disabilities. CRQ
- 6. Describe the mathematics curricula and instructional materials you have access to. SQ1
- 7. What type of training or professional development on mathematics have you received to support the performance on the CAASPP math test by your students with learning disabilities? SQ1
- 8. What type of training or professional development do you think teachers should receive to support mathematics instruction for their students with learning disabilities? SQ1

- 9. What type of math instruction do your students with learning disabilities receive daily? SQ2
- 10. How does technology support your math instruction? SQ2
- 11. What type of technology do your students with learning disabilities use in their mathematics learning? SQ2
- 12. Describe the level of mathematics competency your students with learning disabilities have when they come to your academic program. SQ3
- 13. What foundational math skills do your students with learning disabilities need for the CAASPP math test? SQ3
- 14. Describe how the IEP disability designation supports math learning for your students with learning disabilities? SQ3
- 15. Describe how classroom math instruction competes with other needs of your students with learning disabilities. SQ3
- 16. What has been your experience with mathematics learning disability? SQ3
- 17. What has been your experience with dyscalculia? SQ3
- 18. Why do you feel students with learning disabilities in AE perform below proficiency levels on the math portion of the CAASPP? CR

# Appendix J

## **Student Archival Records (Tables 5-10)**

## Table 5

## Student Records (2016 - 17)

Masked ID					
Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
406508	Int Math I S1	В	5.00	5.00	1.00
451968	Int Math I S1	С	5.00	5.00	1.00
531650	Int Math I S1	D	5.00	5.00	1.00
531884	Int Math I CP	В	5.00	5.00	1.00
531884	Int Math I CP	С	0.50	5.00	1.00
532200	Int Math I S1	NM	5.00	5.00	1.00
532973	Int Math I S1	С	5.00	5.00	1.00
533503	Int Math I CP	D	5.00	5.00	1.00
533503	Int Math I CP	В	5.00	5.00	1.00
533608	Algebra 1 S1	С	5.00	5.00	1.00
533608	Algebra 1 S2	С	5.00	5.00	1.00
533741	Int Math I S1	B-	5.00	5.00	1.00
533866	Int Math I S1	С	5.00	5.00	1.00
534634	Int Math I CP	D-	1.00	5.00	1.00
531493	Int Math I S1	А	5.00	3.00	1.00
532552	Int Math I S1	C-	3.00	2.50	1.00
532973	Int Math I S1	С	3.00	2.50	1.00
533741	Int Math I S1	A-	4.00	2.50	1.00
406508	Int Math I S1 P	F	0.00	2.00	1.00
407139	Int Math I S1	С	2.00	2.00	1.00
407139	Int Math I S1	С	1.00	2.00	1.00
530336	Int Math I S1	С	2.50	2.00	1.00
531649	Int Math I S1	D	2.00	2.00	1.00

Masked ID	a				
Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
531649	Int Math I S1	F	0.50	2.00	1.00
531649	Int Math I S1	F	0.00	2.00	1.00
532552	Int Math I S1	C-	2.00	2.00	1.00
532763	Int Math I S1	D	1.00	2.00	1.00
531493	Int Math I S2	D	5.00	1.00	1.00
534458	Int Math I S2	D	5.00	0.50	1.00
534714	Int Math I S2	D	5.00	0.50	1.00
406508	Integrated Math	С	1.00	0.00	1.00
406508	Integrated Math	С	1.00	0.00	1.00
407139	Int Math I S2	С	2.00	0.00	1.00
407139	Int Math I S2		1.00	0.00	1.00
407139	Integrated Math	NG	0.00	0.00	1.00
407139	Integrated Math	F	0.00	0.00	1.00
420732	Int Math I S2	А	5.00	0.00	1.00
420732	Integrated Math	D	2.00	0.00	1.00
420732	Int Math I S2	С	1.00	0.00	1.00
451968	Int Math I S2	С	5.00	0.00	1.00
531878	Int Math I S2	F	0.00	0.00	1.00
532200	Int Math I S2	C+	1.00	0.00	1.00
532200	Int Math I S2	С	1.00	0.00	1.00
532552	Int Math I S2	C-	3.00	0.00	1.00
532552	Int Math I S2	D	2.00	0.00	1.00
532763	Int Math I S2	С	5.00	0.00	1.00
532973	Int Math I S2	С	5.00	0.00	1.00
533503	Int Math I S2	NM	0.00	0.00	1.00
533648	Integrated Math	С	2.50	0.00	1.00
533648	Integrated Math	С	2.50	0.00	1.00
533903	Int Math I S2	C+	5.00	0.00	1.00
534333	Int Math I S2	F	0.00	0.00	1.00

Masked ID Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
534714	Int Math I S2	D	2.00	0.00	1.00
534738	Int Math I S2	F	0.00	0.00	1.00

*Note.* Of the 122 student enrollments in the 2016-17 ACSD school year, 58 student enrollments took Algebra 1 related courses through ACSD.

### Table 6

Student Records (2017 - 18)

Masked ID	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
Number					
457340	Int Math I CP	D	5.00	5.00	1.00
532167	Int Math I S2	С	5.00	5.00	1.00
534926	Int Math 1 CP P	D	5.00	5.00	1.00
534926	Int Math I S1	D	5.00	5.00	1.00
535092	Int Math I CP	D	5.00	5.00	1.00
535197	Int Math I CP	D	5.00	5.00	1.00
540132	Int Math 1 CP P	D	5.00	5.00	1.00
540152	Int Math I CP	С	5.00	5.00	1.00
540369	Int Math I CP	С	5.00	5.00	1.00
540369	Int Math I CP	С	5.00	5.00	1.00
531420	Int Math I CP	D	5.00	3.00	1.00
532655	Int Math I CP	D	2.50	2.50	1.00
532655	Int Math I S1	C-	2.50	2.50	1.00
541126	Int Math 1 CP P	В	5.00	2.50	1.00
541126	Int Math 1 CP P	В	2.50	2.50	1.00
531420	Int Math I CP	D	2.00	2.00	1.00
532655	Int Math I CP	C+	2.00	2.00	1.00
532655	Int Math I S2	С	2.00	2.00	1.00
540152	Int Math I CP	D-	2.00	2.00	1.00

Masked ID Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
417457	Int Math I CP	В	4.00	1.50	1.00
531981	Int Math I CP	В	5.00	1.50	1.00
532259	Int Math I CP	А	5.00	1.50	1.00
532773	Int Math I S1	C-	1.50	1.50	1.00
531981	Int Math I S2	В	5.00	1.00	1.00
532167	Int Math I S1	 C-	1.00	1.00	1.00
532773	Int Math I CP	C	1.00	1.00	1.00
532010	Int Math I CP	P	1.00	1.00	1.00
524920	Int Math I CF	Б	1.00	1.00	1.00
534839	int Math 1 S1	D	1.00	1.00	1.00
535176	Int Math I S1	В	1.00	1.00	1.00
541020	Int Math I CP	С	1.00	1.00	1.00
532655	Int Math I CP	С	0.50	0.50	1.00
455760	Int Math I S2	F	0.00	0.00	1.00
457340	Int Math I CP	F	0.00	0.00	1.00
531420	Int Math I S2	F	0.00	0.00	1.00
532919	Int Math I CP	F	5.00	0.00	1.00
533746	Int Math I CP	F	0.00	0.00	1.00
533746	Int Math I S1	NM	0.00	0.00	1.00
533746	Int Math I S1	F	0.00	0.00	1.00
534839	Int Math I CP	F	5.00	0.00	1.00
534839	Int Math I CP	F	5.00	0.00	1.00
535006	Int Math I S1	F	0.00	0.00	1.00

Note. Of the 95 student enrollments in the 2017-18 ACSD school year, 41 student enrollments

took Algebra 1 related courses through ACSD.

## Table 7

Student Records (2018 - 19)

Masked ID Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
448259	Int Math I S1	D	5.00	5.00	1.00
451413	Int Math I CP	С	5.00	5.00	1.00
455760	Int Math I CP	D	5.00	5.00	1.00
531493	Int Math I CP	C-	5.00	5.00	1.00
531493	Int Math I S2	D	5.00	5.00	1.00
533689	Int Math I CP	В	5.00	5.00	2.00
533903	Int Math I S2	C+	5.00	5.00	1.00
534640	Int Math I CP	А	5.00	5.00	1.00
534640	Int Math I CP	А	5.00	5.00	1.00
534756	Int Math I CP	D-	5.00	5.00	1.00
535073	Int Math I CP	С	5.00	5.00	1.00
535092	Int Math I CP	D	5.00	5.00	1.00
535092	Int Math I CP	D-	5.00	5.00	1.00
535330	Int Math I CP	В	5.00	5.00	1.00
535351	Int Math I CP	D	5.00	5.00	1.00
541501	Int Math I CP	D	5.00	5.00	1.00
541501	Int Math I CP	С	5.00	5.00	1.00
541650	Int Math I CP	D	5.00	5.00	1.00
541650	Int Math I CP	С	5.00	5.00	1.00
542459	Int Math I CP	D-	5.00	5.00	1.00
542652	Int Math I CP	В	5.00	5.00	1.00
542834	Int Math I CP	B-	5.00	5.00	1.00
448259	Int Math 1 CP P	С	4.50	4.50	1.00
533095	Int Math I CP	C-	4.00	4.00	1.00
533689	Int Math I CP	В	5.00	4.00	2.00
541382	Int Math I CP	С	4.00	4.00	1.00

Masked ID					
Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
541742	Int Math I CP	D-	4.00	4.00	1.00
541020	Integrated Math	D	3.50	3.50	1.00
451941	Int Math I S1 P	С	3.00	3.00	1.00
534511	Int Math 1 CP P	B-	4.00	3.00	1.00
535330	Int Math I CP	С	5.00	3.00	1.00
541149	Int Math I CP	B-	3.00	3.00	1.00
532041	Int Math I CP	D	2.50	2.50	1.00
535073	Int Math I CP	D-	2.50	2.50	1.00
535073	Int Math I CP	B-	2.50	2.50	1.00
541382	Int Math I CP	D	2.50	2.50	1.00
451941	Int Math I S1	D	2.00	2.00	1.00
531975	Int Math I CP	С	2.00	2.00	1.00
532041	Int Math I CP	С	2.00	2.00	1.00
535007	Int Math 1 CP P	А	5.00	2.00	1.00
535229	Int Math I S2	D	2.00	2.00	1.00
541149	Int Math 1 CP P	В	2.00	2.00	1.00
541329	Int Math I CP	А	5.00	2.00	1.00
541382	Int Math I CP	C-	2.00	2.00	1.00
531975	Int Math I CP	С	1.50	1.50	1.00
532041	Int Math I CP	D	2.50	1.50	1.00
532259	Int Math I CP	А	5.00	1.50	1.00
532259	Int Math I CP	А	3.50	1.50	1.00
534399	Int Math I CP	B+	5.00	1.50	1.00
535073	Int Math I CP	С	1.50	1.50	1.00
540011	Int Math I CP	C-	1.50	1.50	1.00
541031	Int Math I CP	D	1.50	1.50	1.00
541329	Int Math I CP	А	1.50	1.50	1.00
532041	Int Math I CP	С	1.00	1.00	1.00
532041	Int Math I S2	В	1.00	1.00	1.00

Masked ID	a				
Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
533095	Int Math I CP	A-	1.00	1.00	1.00
534368	Int Math I CP	В	1.00	1.00	1.00
534511	Int Math 1 CP P	В	5.00	1.00	1.00
534634	Int Math I CP	D-	1.00	1.00	1.00
535007	Int Math I CP	А	5.00	1.00	1.00
535073	Int Math I S1	D	1.00	1.00	1.00
535204	Int Math I CP	C-	1.00	1.00	1.00
535204	Int Math I CP	D	1.00	1.00	1.00
535204	Int Math I CP	С	5.00	1.00	1.00
541020	Int Math I CP	С	1.00	1.00	1.00
541031	Int Math I CP	С	1.00	1.00	1.00
541031	Int Math I CP	C-	1.00	1.00	1.00
541501	Int Math I CP	D-	1.00	1.00	1.00
541650	Int Math	D-	1.00	1.00	1.00
542572	Int Math I CP	С	1.00	1.00	1.00
542588	Int Math I CP	D-	1.00	1.00	1.00
448259	Int Math I CP	С	0.50	0.50	1.00
451413	Int Math I CP	В	0.50	0.50	1.00
531975	Int Math I CP	В	5.00	0.50	1.00
531975	Int Math I CP	С	3.50	0.50	1.00
533764	Int Math I CP	В	5.00	0.50	1.00
533764	Int Math I CP	В	1.00	0.50	1.00
541020	Int Math I CP	A-	0.50	0.50	1.00
541380	Int Math I CP	В	0.50	0.50	1.00
541380	Int Math I CP	B-	2.50	0.50	1.00
455760	Int Math I S2	F	0.00	0.00	1.00
530134	Int Math I CP	NM	0.00	0.00	1.00
532041	Int Math I CP	F	0.00	0.00	1.00
532041	Int Math I CP	F	0.00	0.00	1.00

Masked ID Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
532041	Int Math I CP	F	0.00	0.00	1.00
532907	Int Math I CP		10.00	0.00	1.00
533095	Int Math I CP	F	0.00	0.00	1.00
534368	Int Math I CP	F	0.00	0.00	1.00
534368	Int Math I CP	F	5.00	0.00	1.00
534368	Int Math I CP	F	5.00	0.00	1.00
534376	Int Math I CP	F	0.00	0.00	1.00
534376	Int Math I CP	F	0.00	0.00	1.00
534376	Int Math I CP	F	0.00	0.00	1.00
534376	Int Math I CP	F	0.00	0.00	1.00
534376	Int Math I CP	F	0.00	0.00	1.00
534634	Int Math I CP	F	5.00	0.00	1.00
535204	Int Math I CP	F	0.00	0.00	1.00
535351	Int Math I CP	F	5.00	0.00	1.00
541742	Int Math I CP	F	0.00	0.00	1.00
542380	Int Math I CP	F	5.00	0.00	1.00
542588	Int Math I CP	F	0.00	0.00	1.00
542898	Int Math I CP	F	0.00	0.00	1.00
543216	Int Math I CP	F	0.00	0.00	1.00

*Note.* Of the 277 student enrollments in the ACSD school year, 114 student enrollments took Algebra 1 related courses through ACSD. Student 533689 received a two, which equates to the "nearly met" performance level. This student earned nine out of 10 credits with a semester average grade of a "B."

## Table 8

### Student Records (2021 - 22)

Masked ID Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
130153	Int Math I CP	С	5.00	5.00	1.00
534373	Int Math I CP	C+	5.00	5.00	1.00
540621	Int Math I CP	С	5.00	5.00	1.00
541082	Int Math I CP	D	5.00	5.00	1.00
541672	Int Math I CP	D-	5.00	5.00	1.00
541672	Int Math I CP	D	5.00	5.00	1.00
542114	Int Math 1 CP P	C-	5.00	5.00	1.00
542434	Int Math 1 CP P	В	5.00	5.00	1.00
542634	Int Math I CP	D+	5.00	5.00	1.00
542678	Int Math 1 CP P	В	5.00	5.00	1.00
542958	Int Math I CP	D-	5.00	5.00	1.00
543179	Int Math I CP	B-	5.00	5.00	1.00
543199	Int Math I CP	С	5.00	5.00	1.00
543201	Int Math 1 CP P	В	5.00	5.00	1.00
543251	Int Math I CP	D+	5.00	5.00	1.00
543286	Int Math I CP	B-	5.00	5.00	1.00
543603	Int Math I CP	D	5.00	5.00	1.00
543603	Int Math I CP	B-	5.00	5.00	1.00
543815	Int Math I CP	C-	5.00	5.00	1.00
543815	Int Math I CP	С	5.00	5.00	1.00
544942	Int Math 1 CP P	В	5.00	5.00	1.00
545397	Int Math 1 CP P	С	5.00	5.00	1.00
545426	Int Math I CP	С	5.00	5.00	1.00
545496	Int Math I CP	С	5.00	5.00	1.00
546019	Int Math I CP	C-	5.00	5.00	1.00
546122	Int Math I CP	C+	5.00	5.00	1.00

Masked ID					_
Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
546122	Int Math I CP	C+	5.00	5.00	1.00
546165	Int Math I CP	D	5.00	5.00	1.00
546165	Int Math I CP	C-	5.00	5.00	1.00
546436	Int Math I CP	C+	5.00	5.00	1.00
546446	Int Math I CP	A+	5.00	5.00	1.00
546528	Int Math I CP	С	5.00	5.00	1.00
546675	Int Math I CP	А	5.00	5.00	1.00
546785	Int Math I CP	А	5.00	5.00	1.00
546943	Int Math I CP	В	5.00	5.00	1.00
540621	Int Math I CP	B-	4.00	4.00	1.00
544380	Int Math I CP	C-	4.00	4.00	1.00
546055	Int Math I CP	С	3.75	3.75	1.00
130156	Int Math I CP	С	3.50	3.50	1.00
541858	Int Math I CP	C-	3.50	3.50	1.00
543179	Int Math I CP	А	5.00	3.50	1.00
543627	Int Math I CP	D	3.50	3.50	1.00
546171	Int Math I CP	C+	3.50	3.50	1.00
541082	Int Math I CP	С	3.00	3.00	1.00
541672	Int Math I CP	C-	3.00	3.00	1.00
542958	Int Math I CP	А	3.00	3.00	1.00
543286	Int Math I CP	A-	3.00	3.00	1.00
545911	Int Math I CP	С	3.00	3.00	1.00
130155	Int Math I CP	B+	2.75	2.75	1.00
534373	Int Math I CP	А	2.50	2.50	1.00
541858	Int Math I CP	С	3.50	2.50	1.00
543201	Int Math 1 CP P	А	2.50	2.50	1.00
543201	Int Math I CP	А	5.00	2.50	1.00
543286	Int Math I CP	С	2.50	2.50	1.00
543734	Int Math I CP	B+	5.00	2.50	1.00

Masked ID					
Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
543734	Int Math I CP	А	2.50	2.50	1.00
544964	Int Math I CP	B-	2.50	2.50	1.00
534373	Int Math I CP	В	2.25	2.25	1.00
534373	Int Math I CP	B-	2.00	2.00	1.00
543089	Int Math I CP	C-	2.00	2.00	1.00
543251	Int Math I CP	D-	2.00	2.00	1.00
545911	Int Math I CP	В	5.00	2.00	1.00
546139	Int Math I CP	A-	2.00	2.00	1.00
545598	Int Math I CP	А	5.00	1.75	1.00
545911	Int Math I CP	A-	1.75	1.75	1.00
545911	Int Math I CP	С	5.00	1.75	1.00
130153	Int Math I CP	А	1.50	1.50	1.00
130156	Int Math I CP	В	1.50	1.50	1.00
543179	Int Math I CP	А	1.50	1.50	1.00
543627	Int Math I CP	D-	1.50	1.50	1.00
545908	Int Math I CP	А	1.50	1.50	1.00
545911	Int Math I CP	А	5.00	1.50	1.00
546139	Int Math I CP	А	5.00	1.50	1.00
546171	Int Math I CP	C-	1.50	1.50	1.00
541858	Int Math I CP	B-	1.25	1.25	1.00
544964	Int Math I CP	A-	1.25	1.25	1.00
547122	Int Math I CP	А	1.25	1.25	1.00
130155	Int Math I CP	А	1.00	1.00	1.00
534373	Int Math I CP	D-	2.00	1.00	1.00
540621	Int Math I CP	D	1.00	1.00	1.00
541082	Int Math I CP	B+	5.00	1.00	1.00
541082	Int Math I CP	D	2.00	1.00	1.00
542634	Int Math I CP	D-	1.00	1.00	1.00
542958	Int Math I CP	А	1.00	1.00	1.00

Masked ID					
Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
543089	Int Math I CP	А	1.00	1.00	1.00
543199	Int Math I CP	D-	1.00	1.00	1.00
543251	Int Math I CP	С	1.00	1.00	1.00
543734	Int Math I CP	В	5.00	1.00	1.00
543734	Int Math I CP	C-	4.00	1.00	1.00
544380	Int Math I CP	A-	1.00	1.00	1.00
545289	Int Math 1 CP P	D	5.00	1.00	1.00
545598	Int Math I CP	A-	5.00	1.00	1.00
545598	Int Math I CP	A-	1.00	1.00	1.00
546055	Int Math I CP	А	5.00	1.00	1.00
546139	Int Math I CP	С	1.00	1.00	1.00
546987	Int Math I CP	A+	1.00	1.00	1.00
130155	Int Math I CP	С	0.75	0.75	1.00
541858	Int Math I CP	B-	0.75	0.75	1.00
543199	Int Math I CP	А	0.75	0.75	1.00
534373	Int Math I CP	А	0.50	0.50	1.00
541858	Int Math I CP	C-	1.00	0.50	1.00
541858	Int Math I CP	D	0.50	0.50	1.00
542114	Int Math I CP	А	5.00	0.50	1.00
543089	Int Math I CP	С	0.50	0.50	1.00
544380	Int Math I CP	D-	0.50	0.50	1.00
544380	Int Math I CP	А	0.50	0.50	1.00
544964	Int Math I CP	А	0.50	0.50	1.00
545289	Int Math 1 CP P	В	4.00	0.50	1.00
545496	Int Math I CP	D	0.50	0.50	1.00
545496	Int Math I CP	C-	0.50	0.50	1.00
534373	Int Math I CP	B-	0.25	0.25	1.00
534373	Int Math I CP	D	0.25	0.25	1.00
543251	Int Math I CP	А	0.25	0.25	1.00

Masked ID Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
546055	Int Math I CP	A-	5.00	0.25	1.00
546139	Int Math I CP	А	0.25	0.25	1.00
547122	Int Math I CP	A+	0.25	0.25	1.00
541672	Int Math I CP	NC	0.00	0.00	1.00
541858	Int Math I CP	F	0.25	0.00	1.00
542634	Int Math I CP	Ι	0.00	0.00	1.00
543089	Int Math I CP	F	1.00	0.00	1.00
543089	Int Math I CP	F	1.50	0.00	1.00
543179	Int Math I CP	F	0.00	0.00	1.00
543199	Int Math I CP	F	1.00	0.00	1.00
543199	Int Math I CP	NM	1.00	0.00	1.00
543199	Int Math I CP	NM	0.50	0.00	1.00
543199	Int Math I CP	F	0.75	0.00	1.00
543603	Int Math I CP	F	0.00	0.00	1.00
543603	Int Math I CP	F	0.00	0.00	1.00
543627	Int Math I CP	F	0.50	0.00	1.00
543627	Int Math I CP	F	3.50	0.00	1.00
543627	Int Math I CP	F	2.50	0.00	1.00
543627	Int Math I CP	С	0.00	0.00	1.00
545496	Int Math I CP	F	0.25	0.00	1.00
546019	Int Math I CP	NM	5.00	0.00	1.00
546585	Int Math I CP	F	0.00	0.00	1.00

Note. Of the 257 student enrollments in the ACSD school year, 135 student enrollments took

Algebra 1 related courses through ACSD.

## Table 9

Student Records (2022 - 23)

Masked ID Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
544656	Int Math 1 CP P	B-	5	5	1
544656	Int Math 1 CP P	B-	5	5	1
544656	Int Math I CP	В	5	5	1
544656	Int Math I CP	В	5	5	1
545415	Int Math I CP	В	5	5	1
545415	Int Math I CP	В	5	5	1
545415	Int Math I CP	В	5	5	1
545415	Int Math I CP	В	5	5	1
546105	Int Math I CP	С	5	5	1
546105	Int Math I CP	С	5	5	1
545096	Int Math 1 CP P	А	3	3	1
545096	Int Math I CP	С	3	3	1
545096	Int Math I CP	C-	1	1	1
545600	Int Math I CP	С	4	1	1
545600	Int Math I CP	С	4	1	1
545600	Int Math I CP	С	4	1	1
546202	Int Math 1 CP P	А	1	1	1
543179	Int Math I CP	B-	5	5	1
545600	Int Math I CP	A-	5	5	1
545600	Int Math I CP	A-	5	5	1
545600	Int Math I CP	A-	5	5	1
546307	Int Math I CP	А	5	5	1
546307	Int Math I CP	А	5	5	1
546307	Int Math I CP	А	5	5	1
546307	Int Math I CP	А	5	5	1
547373	Int Math I CP	С	5	5	1

Masked ID	~ ~ ~ .		~		
Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
547373	Int Math I CP	С	5	5	1
545600	Int Math I CP	B-	4.5	4.5	1
545600	Int Math I CP	B-	4.5	4.5	1
545600	Int Math I CP	B-	4.5	4.5	1
547373	Int Math I CP	С	4	4	1
547373	Int Math I CP	С	4	4	1
543179	Int Math I CP	А	5	3.5	1
548310	Int Math I CP	С	5	2.5	1
548310	Int Math I CP	С	5	2.5	1
545672	Int Math I CP	С	2	2	1
545672	Int Math I CP	С	2	2	1
545672	Int Math I CP	С	2	2	1
547373	Int Math I CP	В	2	2	1
547373	Int Math I CP	В	2	2	1
547378	Int Math I CP	С	5	2	1
543179	Int Math I CP	А	1.5	1.5	1
547378	Int Math I CP	В	5	1.5	1
541307	Int Math I CP	С	1	1	1
541307	Int Math I CP	C-	1	1	1
541307	Int Math I CP	С	1	1	1
541307	Int Math I CP	C-	1	1	1
545672	Int Math I CP	В	1	1	1
545672	Int Math I CP	В	1	1	1
545672	Int Math I CP	В	1	1	1
546109	Int Math I CP	D	1	1	1
546109	Int Math I CP	D	1	1	1
546109	Int Math I CP	D	1	1	1
546109	Int Math I CP	D	1	1	1
547373	Int Math I CP	С	1	1	1

Masked ID					
Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
547373	Int Math I CP	С	1	1	1
549054	Int Math I CP	С	1	1	1
549054	Int Math I CP	С	1	1	1
545600	Int Math I CP	В	0.5	0.5	1
545600	Int Math I CP	В	0.5	0.5	1
545600	Int Math I CP	В	0.5	0.5	1
547378	Int Math I CP	С	5	0.5	1
549046	Int Math I CP	D	0.5	0.5	1
549046	Int Math I CP	D	0.5	0.5	1
546307	Int Math I CP	D	5	0.25	1
546307	Int Math I CP	D	5	0.25	1
546307	Int Math I CP	D	5	0.25	1
546307	Int Math I CP	D	5	0.25	1
541690	Int Math I CP	А	5	5	1
541690	Int Math I CP	А	5	5	1
543454	Int Math I CP	C-	4.5	4.5	1
543454	Int Math I CP	C-	4.5	4.5	1
547402	Int Math I CP	А	3	3	1
545672	Int Math I CP	С	2.5	2.5	1
545672	Int Math I CP	С	2.5	2.5	1
545672	Int Math I CP	С	2.5	2.5	1
546429	Int Math I CP	C+	2.5	2.5	1
546429	Int Math I CP	C+	2.5	2.5	1
546958	Int Math I CP	В	2.5	2.5	1
546958	Int Math I CP	В	2.5	2.5	1
546958	Int Math I CP	В	2.5	2.5	1
543839	Int Math I CP	В	2.25	2.25	1
543839	Int Math I CP	В	2.25	2.25	1
543839	Int Math I CP	В	2.25	2.25	1

Masked ID					
Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
546307	Int Math I CP	В	2	2	1
546307	Int Math I CP	В	2	2	1
546307	Int Math I CP	В	2	2	1
546307	Int Math I CP	В	2	2	1
547156	Int Math I CP	B+	5	2	1
547156	Int Math I CP	B+	5	2	1
547402	Int Math I CP	C-	2	2	1
548493	Int Math I CP	С	2	2	1
548493	Int Math I CP	С	2	2	1
548493	Int Math I CP	С	2	2	1
549046	Int Math I CP	А	2	2	1
549046	Int Math I CP	А	2	2	1
546958	Int Math I CP	В	1.5	1.5	1
546958	Int Math I CP	В	1.5	1.5	1
546958	Int Math I CP	В	1.5	1.5	1
547122	Int Math I CP	А	1.5	1.5	1
547156	Int Math I CP	B+	1.5	1.5	1
547156	Int Math I CP	B+	1.5	1.5	1
541307	Int Math I CP	A-	1.25	1.25	1
541307	Int Math I CP	A-	1.25	1.25	1
541690	Int Math I CP	C-	1.25	1.25	1
541690	Int Math I CP	C-	1.25	1.25	1
544426	Int Math I CP	С	1.25	1.25	1
544426	Int Math I CP	С	1.25	1.25	1
547122	Int Math I CP	А	1.25	1.25	1
549013	Int Math I CP	C+	1.25	1.25	1
541307	Int Math I CP	D-	1	1	1
541307	Int Math I CP	С	3	1	1
541307	Int Math I CP	D-	1	1	1
Masked ID					
-----------	---------------	------	------------------	------------------	-------------------
Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
541307	Int Math I CP	С	3	1	1
543454	Int Math I CP	B+	1	1	1
543454	Int Math I CP	B+	1	1	1
545672	Int Math I CP	С	1	1	1
545672	Int Math I CP	С	1	1	1
545672	Int Math I CP	С	1	1	1
546958	Int Math I CP	A+	1	1	1
546958	Int Math I CP	A+	1	1	1
546958	Int Math I CP	A+	1	1	1
547156	Int Math I CP	В	1	1	1
547156	Int Math I CP	В	1	1	1
547402	Int Math I CP	В	1	1	1
541690	Int Math I CP	В	0.75	0.75	1
541690	Int Math I CP	C+	0.75	0.75	1
541690	Int Math I CP	В	0.75	0.75	1
541690	Int Math I CP	C+	0.75	0.75	1
543454	Int Math I CP	D-	0.5	0.5	1
543454	Int Math I CP	D-	0.5	0.5	1
545672	Int Math I CP	D-	0.5	0.5	1
545672	Int Math I CP	D-	0.5	0.5	1
545672	Int Math I CP	D-	0.5	0.5	1
546429	Int Math I CP	B-	0.5	0.5	1
546429	Int Math I CP	B-	0.5	0.5	1
547026	Int Math I CP	A+	0.5	0.5	1
547026	Int Math I CP	A+	0.5	0.5	1
547026	Int Math I CP	A+	0.5	0.5	1
549013	Int Math I CP	А	0.5	0.5	1
541307	Int Math I CP	А	0.25	0.25	1
541307	Int Math I CP	С	0.25	0.25	1

Masked ID					
Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
541307	Int Math I CP	А	0.25	0.25	1
541307	Int Math I CP	С	0.25	0.25	1
543839	Int Math I CP	В	0.25	0.25	1
543839	Int Math I CP	В	0.25	0.25	1
543839	Int Math I CP	В	0.25	0.25	1
546307	Int Math I CP	С	0.25	0.25	1
546307	Int Math I CP	B-	0.25	0.25	1
546307	Int Math I CP	В	0.25	0.25	1
546307	Int Math I CP	С	0.25	0.25	1
546307	Int Math I CP	B-	0.25	0.25	1
546307	Int Math I CP	В	0.25	0.25	1
546307	Int Math I CP	С	0.25	0.25	1
546307	Int Math I CP	B-	0.25	0.25	1
546307	Int Math I CP	В	0.25	0.25	1
546307	Int Math I CP	С	0.25	0.25	1
546307	Int Math I CP	B-	0.25	0.25	1
546307	Int Math I CP	В	0.25	0.25	1
547026	Int Math I CP	А	0.25	0.25	1
547026	Int Math I CP	А	0.25	0.25	1
547026	Int Math I CP	А	0.25	0.25	1
547122	Int Math I CP	A+	0.25	0.25	1
549054	Int Math I CP	С	0.25	0.25	1
549054	Int Math I CP	С	0.25	0.25	1
541307	Int Math I CP	F	0.75	0	1
541307	Int Math I CP	F	0.75	0	1
543454	Int Math I CP	F	1.5	0	1
543454	Int Math I CP	F	0.5	0	1
543454	Int Math I CP	F	0.5	0	1
543454	Int Math I CP	F	1	0	1

Masked ID	Course Title	Maula	Credit Attempted	Credit Completed	Derfermen er Lenel
Number	Course The	Mark	Credit Attempted	Credit Completed	Performance Level
543454	Int Math I CP	F	5	0	1
543454	Int Math I CP	F	1.5	0	1
543454	Int Math I CP	F	0.5	0	1
543454	Int Math I CP	F	0.5	0	1
543454	Int Math I CP	F	1	0	1
543454	Int Math I CP	F	5	0	1
548317	Int Math I CP	C-	5	5	1
548317	Int Math I CP	C-	5	5	1
547156	Int Math I CP	С	4.57	4.57	1
547156	Int Math I CP	С	4.57	4.57	1
543454	Int Math I CP	С	4	4	1
543454	Int Math I CP	С	4	4	1
541690	Int Math I CP	С	3.75	3.75	1
541690	Int Math I CP	С	3.75	3.75	1
543839	Int Math I CP	С	2.5	2.5	1
543839	Int Math I CP	С	2.5	2.5	1
543839	Int Math I CP	С	2.5	2.5	1
541307	Int Math I CP	С	4.25	2.25	1
541307	Int Math I CP	С	4.25	2.25	1
543454	Int Math I CP	С	5	2	1
543454	Int Math I CP	С	5	2	1
546958	Int Math I CP	В	3.5	2	1
546958	Int Math I CP	В	3.5	2	1
546958	Int Math I CP	В	3.5	2	1
546958	Int Math I CP	В	1.5	1.5	1
546958	Int Math I CP	В	1.5	1.5	1
546958	Int Math I CP	В	1.5	1.5	1
543839	Int Math I CP	В	5	1	1
543839	Int Math I CP	В	5	1	1

Masked ID	Course Title	Maula		Credit Completed	Deuferman es Level
Number	Course Thie	Mark	Credit Attempted	Credit Completed	Performance Level
543839	Int Math I CP	В	5	1	1
546109	Int Math I CP	С	2	1	1
546109	Int Math I CP	С	2	1	1
547156	Int Math I CP	С	0.5	0.5	1
547156	Int Math I CP	С	0.5	0.5	1
546585	Int Math I CP	D-	5	5	1
546171	Int Math I CP	C+	3.5	3.5	1
546171	Int Math I CP	C-	1.5	1.5	1
547254	Int Math I CP	D-	1	1	1
546171	Int Math I CP	F	0	0	1
546171	Int Math I CP	F	0	0	1
546585	Int Math I CP	F	0	0	1
548493	Int Math I CP	F	0	0	1
548493	Int Math I CP	F	0	0	1
548493	Int Math I CP	F	0	0	1
543815	Int Math I CP	C-	5	5	1
543815	Int Math I CP	С	5	5	1
543815	Int Math I CP	C-	5	5	1
543815	Int Math I CP	С	5	5	1
546157	Int Math I CP	В	5	5	1
546157	Int Math I CP	B-	5	5	1
546157	Int Math I CP	В	5	5	1
546157	Int Math I CP	B-	5	5	1
546157	Int Math I CP	В	5	5	1
546157	Int Math I CP	B-	5	5	1
546157	Int Math I CP	В	5	5	1
546157	Int Math I CP	B-	5	5	1
547196	Int Math I CP	B-	5	5	1
547196	Int Math I CP	C+	5	5	1

Masked ID	a				
Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
547198	Int Math I CP	С	5	5	1
547198	Int Math I CP	С	5	5	1
547198	Int Math I CP	С	5	5	1
547198	Int Math I CP	С	5	5	1
547198	Int Math I CP	С	5	5	1
547198	Int Math I CP	С	5	5	1
547199	Int Math I CP	С	5	5	1
547199	Int Math I CP	С	5	5	1
547199	Int Math I CP	С	5	5	1
547314	Int Math I CP	C-	5	5	1
547314	Int Math	F	0	0	1
548041	Int Math	В	0	0	1
548041	Int Math	В	0	0	1
546193	Int Math I CP	C+	5	5	1
546528	Int Math I CP	С	5	5	1
548765	Int Math I CP	D+	5	5	1
548765	Int Math I CP	D+	5	5	1
546193	Int Math I CP	C+	5	1	1
546193	Int Math I CP	F	3	0	1
546193	Int Math I CP	F	5	0	1
546193	Int Math I CP	F	5	0	1
546528	Int Math I CP	F	3	0	1
547199	Int Math I CP	В	5	5	1
547199	Int Math I CP	В	5	5	1
547199	Int Math I CP	В	5	5	1
547198	Int Math I CP	В	2.5	2.5	1
547198	Int Math I CP	В	2.5	2.5	1
547198	Int Math I CP	В	2.5	2.5	1
547198	Int Math I CP	В	2.5	2.5	1

Masked ID					
Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
547198	Int Math I CP	В	2.5	2.5	1
547198	Int Math I CP	В	2.5	2.5	1
547199	Int Math I CP	B+	2.5	2.5	1
547199	Int Math I CP	B+	2.5	2.5	1
547199	Int Math I CP	B+	2.5	2.5	1
547998	Int Math I CP	C+	2.5	2.5	1
547998	Int Math I CP	C+	2.5	2.5	1
547998	Int Math I CP	C+	2.5	2.5	1
547998	Int Math I CP	C+	2.5	2.5	1
546157	Int Math I CP	A-	5	5	1
546157	Int Math I CP	C-	5	5	1
546157	Int Math I CP	A-	5	5	1
546157	Int Math I CP	C-	5	5	1
546157	Int Math I CP	A-	5	5	1
546157	Int Math I CP	C-	5	5	1
546157	Int Math I CP	A-	5	5	1
546157	Int Math I CP	C-	5	5	1
546785	Int Math I CP	А	5	5	1
546785	Int Math I CP	А	5	5	1
547026	Int Math I CP	С	5	5	1
547026	Int Math I CP	D	5	5	1
547026	Int Math I CP	С	5	5	1
547026	Int Math I CP	D	5	5	1
547026	Int Math I CP	С	5	5	1
547026	Int Math I CP	D	5	5	1
547030	Int Math I CP	B-	5	5	1
547030	Int Math I CP	D	5	5	1
547030	Int Math I CP	B-	5	5	1
547030	Int Math I CP	D	5	5	1

Masked ID	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
Number					
547030	Int Math I CP	B-	5	5	1
547030	Int Math I CP	D	5	5	1
548490	Int Math I CP	С	2	2	1
543179	Int Math I CP	F	0	0	1
546109	Int Math I CP	F	0	0	1
546109	Int Math I CP	F	0	0	1

*Note.* Of the 538 student enrollments in the ACSD school year, 293 student enrollments took

Algebra 1 related courses through ACSD.

## Table 10

Student Earning 5 Credits or More With Grade D- or Higher (2016-2023)

Masked ID					
Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
543104	Int Math III CP	В	10.00	10.00	1.00
533689	Int Math II CP	А	5.00	5.00	2.00
534640	Int Math I CP	А	5.00	5.00	1.00
534640	Int Math I CP	А	5.00	5.00	1.00
546675	Int Math I CP	А	5.00	5.00	1.00
546785	Int Math I CP	А	5.00	5.00	1.00
534155	Integ Math II S	A-	5.00	5.00	1.00
546446	Int Math I CP	A+	5.00	5.00	1.00
406508	Int Math I S1	В	5.00	5.00	1.00
531884	Int Math I CP	В	5.00	5.00	1.00
533503	Int Math I CP	В	5.00	5.00	1.00
533689	Int Math I CP	В	5.00	5.00	2.00
535330	Int Math I CP	В	5.00	5.00	1.00
542434	Int Math 1 CP P	В	5.00	5.00	1.00
542652	Int Math I CP	В	5.00	5.00	1.00
542678	Int Math 1 CP P	В	5.00	5.00	1.00
543104	Int Math II CP	В	5.00	5.00	1.00
543201	Int Math 1 CP P	В	5.00	5.00	1.00
544942	Int Math 1 CP P	В	5.00	5.00	1.00
546943	Int Math I CP	В	5.00	5.00	1.00
544656	Int Math I CP	В	5	5	1
544656	Int Math I CP	В	5	5	1
545415	Int Math I CP	В	5	5	1
545415	Int Math I CP	В	5	5	1
545415	Int Math I CP	В	5	5	1

Masked ID					
Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
545415	Int Math I CP	В	5	5	1
533741	Int Math I S1	B-	5.00	5.00	1.00
542834	Int Math I CP	B-	5.00	5.00	1.00
543179	Int Math I CP	B-	5.00	5.00	1.00
543286	Int Math I CP	B-	5.00	5.00	1.00
543603	Int Math I CP	B-	5.00	5.00	1.00
544656	Int Math 1 CP P	В-	5	5	1
544656	Int Math 1 CP P	B-	5	5	1
534155	Integ Math II S	B+	5.00	5.00	1.00
130153	Int Math I CP	С	5.00	5.00	1.00
451413	Int Math I CP	С	5.00	5.00	1.00
451968	Int Math I S1	С	5.00	5.00	1.00
531884	Int Math I CP	С	0.50	5.00	1.00
532167	Int Math I S2	С	5.00	5.00	1.00
532973	Int Math I S1	С	5.00	5.00	1.00
533608	Algebra 1 S1	С	5.00	5.00	1.00
533608	Algebra 1 S2	С	5.00	5.00	1.00
533866	Int Math I S1	С	5.00	5.00	1.00
535073	Int Math I CP	С	5.00	5.00	1.00
535229	Integ Math II S	С	5.00	5.00	1.00
540152	Int Math I CP	С	5.00	5.00	1.00
540369	Int Math I CP	С	5.00	5.00	1.00
540369	Int Math I CP	С	5.00	5.00	1.00
540621	Int Math I CP	С	5.00	5.00	1.00
541501	Int Math I CP	С	5.00	5.00	1.00
541650	Int Math I CP	С	5.00	5.00	1.00
543104	Int Math II CP	С	5.00	5.00	1.00
543162	Int Math II CP	С	5.00	5.00	1.00

Masked ID					
Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
543199	Int Math I CP	С	5.00	5.00	1.00
543815	Int Math I CP	С	5.00	5.00	1.00
545397	Int Math 1 CP P	С	5.00	5.00	1.00
545426	Int Math I CP	С	5.00	5.00	1.00
545496	Int Math I CP	С	5.00	5.00	1.00
546528	Int Math I CP	С	5.00	5.00	1.00
546105	Int Math I CP	С	5	5	1
546105	Int Math I CP	С	5	5	1
531493	Int Math I CP	C-	5.00	5.00	1.00
542114	Int Math 1 CP P	C-	5.00	5.00	1.00
543815	Int Math I CP	C-	5.00	5.00	1.00
546019	Int Math I CP	C-	5.00	5.00	1.00
546165	Int Math I CP	C-	5.00	5.00	1.00
533903	Int Math I S2	C+	5.00	5.00	1.00
534373	Int Math I CP	C+	5.00	5.00	1.00
546122	Int Math I CP	C+	5.00	5.00	1.00
546122	Int Math I CP	C+	5.00	5.00	1.00
546436	Int Math I CP	C+	5.00	5.00	1.00
448259	Int Math I S1	D	5.00	5.00	1.00
455760	Int Math I CP	D	5.00	5.00	1.00
457340	Int Math I CP	D	5.00	5.00	1.00
531493	Int Math I S2	D	5.00	5.00	1.00
531650	Int Math I S1	D	5.00	5.00	1.00
533503	Int Math I CP	D	5.00	5.00	1.00
534333	Integ Math II S	D	5.00	5.00	1.00
534926	Int Math 1 CP P	D	5.00	5.00	1.00
534926	Int Math I S1	D	5.00	5.00	1.00
535092	Int Math I CP	D	5.00	5.00	1.00

Masked ID					
Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
535092	Int Math I CP	D	5.00	5.00	1.00
535197	Int Math I CP	D	5.00	5.00	1.00
535351	Int Math I CP	D	5.00	5.00	1.00
540132	Int Math 1 CP P	D	5.00	5.00	1.00
541082	Int Math I CP	D	5.00	5.00	1.00
541501	Int Math I CP	D	5.00	5.00	1.00
541650	Int Math I CP	D	5.00	5.00	1.00
541672	Int Math I CP	D	5.00	5.00	1.00
543603	Int Math I CP	D	5.00	5.00	1.00
546165	Int Math I CP	D	5.00	5.00	1.00
534634	Int Math I CP	D-	1.00	5.00	1.00
534756	Int Math I CP	D-	5.00	5.00	1.00
535092	Int Math I CP	D-	5.00	5.00	1.00
541672	Int Math I CP	D-	5.00	5.00	1.00
542459	Int Math I CP	D-	5.00	5.00	1.00
542958	Int Math I CP	D-	5.00	5.00	1.00
542634	Int Math I CP	D+	5.00	5.00	1.00
543251	Int Math I CP	D+	5.00	5.00	1.00
532200	Int Math I S1	NM	5.00	5.00	1.00

*Note.* Of the 358 student enrollments in the ACSD from the 2016-17, 2017-18, 2018-2019, 2021-22, and 2022-23 school years, 100 student enrollments earned 10 credits (a full year of Algebra 1 instruction) and earned a grade of D- or higher, which equates to meeting the CA high algebra graduation requirement. Among these students, only one student scored a two, which equates to the "nearly met" level on the CAASPP math assessment.

#### Appendix K

### **Verification of Interview Transcription**

Dear Participant,

Thank you for your participation in the individual interview. Attached is a copy of the transcription of that interview. Please respond to this email confirming that you have received the written transcription. Please document any changes to the transcription as a "comment." If you do not have any comments to the transcription, please note that in the response email. If after two weeks I do not receive confirmation from you, that will constitute acceptance of the transcript.

If you have any questions or comments, I can be reached at Sincerely,

D. Sung Choe Doctoral Candidate

Attachment: Written transcript

# Appendix L

# **Screening Results**



Do you possess a single subject credential? 14 responses



Do you possess a mathematics credential or mathematics-added authorization? 14 responses



Do you possess a multiple-subject credential? 14 responses



267

How long have you been in the teaching profession? 14 responses



How long have you worked in alternative education? 14 responses



## Appendix M

### **Survey Results**



Students with learning disabilities in alternative education do well on the math portion of the CAASPP assessment test.



Students with learning disabilities in alternative education score proficient or above on the math portion of the CAASPP assessment.

11 responses



Students with learning disabilities in alternative education score proficient or above on the math portion of the CAASPP assessment. 11 responses



Students with learning disabilities in alternative education score proficient or above on the math portion of the CAASPP assessment.

11 responses



Students with learning disabilities in alternative education score below proficient on the math portion of the CAASPP assessment.



Students with learning disabilities in alternative education score far below proficient on the math portion of the CAASPP assessment.

11 responses



Students with learning disabilities entering alternative education have foundational skills to acquire CAASPP math content.



Students with learning disabilities in alternative education have adequate instructional time to prepare for the CAASPP math assessment.

11 responses



Students with learning disabilities should receive at least one hour of dedicated instructional time daily to learn foundational skills for the CAASPP math assessment. <sup>11 responses</sup>



Students with learning disabilities should receive at least two hours of dedicated instructional time daily to learn foundational skills for the CAASPP math assessment. 11 responses



Students with learning disabilities in alternative education come prepared with Algebra 1 concepts addressed in the CAASPP assessment. 11 responses



Students with learning disabilities in alternative education understand how to access mathematics instructional material independently.

11 responses



Teachers need a mathematics credential to provide mathematics instruction to support students with learning disabilities in alternative education. <sup>11 responses</sup>



Teachers need a background in mathematics to provide mathematics instruction to support students with learning disabilities in alternative education. <sup>11</sup> responses



Teachers receive high-quality professional development in administering the CAASPP test. 11 responses



Teachers receive adequate algebra content training to support students with learning disabilities in alternative education.

11 responses



Teachers receive adequate professional development time to collaborate with others on mathematics topics.



Teachers receive regular training on mathematics curricula throughout the academic year. 11 responses



Students with learning disabilities in alternative education have access to technology to support mathematics learning.



Students with learning disabilities in alternative education have access to technology to support mathematics learning.

11 responses



Teachers should receive mathematics training during the summer break. 11 responses



Students with learning disabilities in alternative education have access to technology to support mathematics learning.

11 responses



Students with learning disabilities in alternative education understand how to use technology in learning mathematics.



Students with learning disabilities in alternative education prefer paper and pencil over the computer when working on mathematics problems. 11 responses



Students with learning disabilities in alternative education prefer direct instruction when learning mathematics.



Technology hinders the mathematics learning of students with learning disabilities in alternative education.

11 responses



Instructional math videos provide additional support for students with learning disabilities in alternative education.



Students with learning disabilities enter the alternative education setting with foundational math skills to learn algebra concepts.

11 responses



Students with learning disabilities in alternative education possess a proficient understanding of addition.



Students with learning disabilities in alternative education possess a proficient understanding of subtraction.

11 responses



Students with learning disabilities in alternative education possess a proficient understanding of multiplication.



Students with learning disabilities in alternative education possess a proficient understanding of division.

11 responses



Students with learning disabilities in alternative education possess a proficient understanding of orders of operations.



Students with learning disabilities in alternative education possess a proficient understanding of ratios and proportions (fractions).

11 responses



Students with learning disabilities in alternative education possess a proficient understanding of percentages.



Students with learning disabilities in alternative education possess a proficient understanding of decimals.

11 responses



Students with learning disabilities in alternative education possess a proficient understanding of the number system.



Students with learning disabilities in alternative education possess a proficient understanding of geometry (perimeter and area of a square, rectangle, and triangle). 11 responses



Students with learning disabilities in alternative education possess a proficient understanding of solving basic expressions (2x + 1=7). 11 responses



Students with learning disabilities in alternative education possess a proficient understanding of the distributive property (a[b+c] = ab + ac).

11 responses



Students with learning disabilities in alternative education should have two consecutive years of mathematics preparation before taking the CAASPP math assessment. 11 responses


Students with learning disabilities in alternative education do not remain enrolled long enough to access mathematics instruction to reach proficiency levels. 11 responses



Students with learning disabilities in alternative education should be able to demonstrate algebra proficiency through an alternative measure to the CAASPP. 11 responses



The IEP's specific learning disability (SLD) designation is adequate to provide math instructional guidance for students with learning disabilities in AE settings. <sup>11</sup> responses



# Appendix N

### **Student Archival Records**

# Student Records (2016 - 17)

Masked ID	Course Title	Mark	Cradit Attempted	Cradit Completed	Parformanca Laval
Number	Course The	WIAI K	Credit Attempted	Credit Completed	Ferrormance Lever
406508	Int Math I S1	В	5.00	5.00	1.00
451968	Int Math I S1	С	5.00	5.00	1.00
531650	Int Math I S1	D	5.00	5.00	1.00
531884	Int Math I CP	В	5.00	5.00	1.00
531884	Int Math I CP	С	0.50	5.00	1.00
532200	Int Math I S1	NM	5.00	5.00	1.00
532973	Int Math I S1	С	5.00	5.00	1.00
533503	Int Math I CP	D	5.00	5.00	1.00
533503	Int Math I CP	В	5.00	5.00	1.00
533608	Algebra 1 S1	С	5.00	5.00	1.00
533608	Algebra 1 S2	С	5.00	5.00	1.00
533741	Int Math I S1	B-	5.00	5.00	1.00
533866	Int Math I S1	С	5.00	5.00	1.00
534634	Int Math I CP	D-	1.00	5.00	1.00
531493	Int Math I S1	А	5.00	3.00	1.00
532552	Int Math I S1	C-	3.00	2.50	1.00
532973	Int Math I S1	С	3.00	2.50	1.00
533741	Int Math I S1	A-	4.00	2.50	1.00
406508	Int Math I S1 P	F	0.00	2.00	1.00
407139	Int Math I S1	С	2.00	2.00	1.00
407139	Int Math I S1	С	1.00	2.00	1.00
530336	Int Math I S1	С	2.50	2.00	1.00
531649	Int Math I S1	D	2.00	2.00	1.00
531649	Int Math I S1	F	0.50	2.00	1.00
531649	Int Math I S1	F	0.00	2.00	1.00

Masked ID					
Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
532552	Int Math I S1	C-	2.00	2.00	1.00
532763	Int Math I S1	D	1.00	2.00	1.00
531493	Int Math I S2	D	5.00	1.00	1.00
534458	Int Math I S2	D	5.00	0.50	1.00
534714	Int Math I S2	D	5.00	0.50	1.00
406508	Integrated Math	С	1.00	0.00	1.00
406508	Integrated Math	С	1.00	0.00	1.00
407139	Int Math I S2	С	2.00	0.00	1.00
407139	Int Math I S2		1.00	0.00	1.00
407139	Integrated Math	NG	0.00	0.00	1.00
407139	Integrated Math	F	0.00	0.00	1.00
420732	Int Math I S2	А	5.00	0.00	1.00
420732	Integrated Math	D	2.00	0.00	1.00
420732	Int Math I S2	С	1.00	0.00	1.00
451968	Int Math I S2	С	5.00	0.00	1.00
531878	Int Math I S2	F	0.00	0.00	1.00
532200	Int Math I S2	C+	1.00	0.00	1.00
532200	Int Math I S2	С	1.00	0.00	1.00
532552	Int Math I S2	C-	3.00	0.00	1.00
532552	Int Math I S2	D	2.00	0.00	1.00
532763	Int Math I S2	С	5.00	0.00	1.00
532973	Int Math I S2	С	5.00	0.00	1.00
533503	Int Math I S2	NM	0.00	0.00	1.00
533648	Integrated Math	С	2.50	0.00	1.00
533648	Integrated Math	С	2.50	0.00	1.00
533903	Int Math I S2	C+	5.00	0.00	1.00
534333	Int Math I S2	F	0.00	0.00	1.00
534714	Int Math I S2	D	2.00	0.00	1.00
534738	Int Math I S2	F	0.00	0.00	1.00

*Note.* Of the 122 student enrollments in the 2016-17 ACSD school year, 58 student enrollments took Algebra 1 related courses through ACSD.

## Student Records (2017 - 18)

Masked ID Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
457340	Int Math I CP	D	5.00	5.00	1.00
532167	Int Math I S2	С	5.00	5.00	1.00
534926	Int Math 1 CP P	D	5.00	5.00	1.00
534926	Int Math I S1	D	5.00	5.00	1.00
535092	Int Math I CP	D	5.00	5.00	1.00
535197	Int Math I CP	D	5.00	5.00	1.00
540132	Int Math 1 CP P	D	5.00	5.00	1.00
540152	Int Math I CP	С	5.00	5.00	1.00
540369	Int Math I CP	С	5.00	5.00	1.00
540369	Int Math I CP	С	5.00	5.00	1.00
531420	Int Math I CP	D	5.00	3.00	1.00
532655	Int Math I CP	D	2.50	2.50	1.00
532655	Int Math I S1	C-	2.50	2.50	1.00
541126	Int Math 1 CP P	В	5.00	2.50	1.00
541126	Int Math 1 CP P	В	2.50	2.50	1.00
531420	Int Math I CP	D	2.00	2.00	1.00
532655	Int Math I CP	C+	2.00	2.00	1.00
532655	Int Math I S2	С	2.00	2.00	1.00
540152	Int Math I CP	D-	2.00	2.00	1.00
417457	Int Math I CP	В	4.00	1.50	1.00
531981	Int Math I CP	В	5.00	1.50	1.00
532259	Int Math I CP	А	5.00	1.50	1.00
532773	Int Math I S1	C-	1.50	1.50	1.00
531981	Int Math I S2	В	5.00	1.00	1.00
532167	Int Math I S1	C-	1.00	1.00	1.00
532773	Int Math I CP	С	1.00	1.00	1.00
532919	Int Math I CP	В	1.00	1.00	1.00

Masked ID		26.1			
Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
534839	Int Math I S1	D	1.00	1.00	1.00
535176	Int Math I S1	В	1.00	1.00	1.00
541020	Int Math I CP	С	1.00	1.00	1.00
532655	Int Math I CP	С	0.50	0.50	1.00
455760	Int Math I S2	F	0.00	0.00	1.00
457340	Int Math I CP	F	0.00	0.00	1.00
531420	Int Math I S2	F	0.00	0.00	1.00
532919	Int Math I CP	F	5.00	0.00	1.00
533746	Int Math I CP	F	0.00	0.00	1.00
533746	Int Math I S1	NM	0.00	0.00	1.00
533746	Int Math I S1	F	0.00	0.00	1.00
534839	Int Math I CP	F	5.00	0.00	1.00
534839	Int Math I CP	F	5.00	0.00	1.00
535006	Int Math I S1	F	0.00	0.00	1.00

*Note.* Of the 95 student enrollments in the 2017-18 ACSD school year, 41 student enrollments took Algebra 1 related courses through ACSD.

## Student Records (2018 - 19)

Masked ID Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
448259	Int Math I S1	D	5.00	5.00	1.00
451413	Int Math I CP	С	5.00	5.00	1.00
455760	Int Math I CP	D	5.00	5.00	1.00
531493	Int Math I CP	C-	5.00	5.00	1.00
531493	Int Math I S2	D	5.00	5.00	1.00
533689	Int Math I CP	В	5.00	5.00	2.00
533903	Int Math I S2	C+	5.00	5.00	1.00
534640	Int Math I CP	А	5.00	5.00	1.00
534640	Int Math I CP	А	5.00	5.00	1.00
534756	Int Math I CP	D-	5.00	5.00	1.00
535073	Int Math I CP	С	5.00	5.00	1.00
535092	Int Math I CP	D	5.00	5.00	1.00
535092	Int Math I CP	D-	5.00	5.00	1.00
535330	Int Math I CP	В	5.00	5.00	1.00
535351	Int Math I CP	D	5.00	5.00	1.00
541501	Int Math I CP	D	5.00	5.00	1.00
541501	Int Math I CP	С	5.00	5.00	1.00
541650	Int Math I CP	D	5.00	5.00	1.00
541650	Int Math I CP	С	5.00	5.00	1.00
542459	Int Math I CP	D-	5.00	5.00	1.00
542652	Int Math I CP	В	5.00	5.00	1.00
542834	Int Math I CP	B-	5.00	5.00	1.00
448259	Int Math 1 CP P	С	4.50	4.50	1.00
533095	Int Math I CP	C-	4.00	4.00	1.00
533689	Int Math I CP	В	5.00	4.00	2.00
541382	Int Math I CP	С	4.00	4.00	1.00
541742	Int Math I CP	D-	4.00	4.00	1.00

Masked ID					
Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
541020	Integrated Math	D	3.50	3.50	1.00
451941	Int Math I S1 P	С	3.00	3.00	1.00
534511	Int Math 1 CP P	B-	4.00	3.00	1.00
535330	Int Math I CP	С	5.00	3.00	1.00
541149	Int Math I CP	B-	3.00	3.00	1.00
532041	Int Math I CP	D	2.50	2.50	1.00
535073	Int Math I CP	D-	2.50	2.50	1.00
535073	Int Math I CP	B-	2.50	2.50	1.00
541382	Int Math I CP	D	2.50	2.50	1.00
451941	Int Math I S1	D	2.00	2.00	1.00
531975	Int Math I CP	С	2.00	2.00	1.00
532041	Int Math I CP	С	2.00	2.00	1.00
535007	Int Math 1 CP P	А	5.00	2.00	1.00
535229	Int Math I S2	D	2.00	2.00	1.00
541149	Int Math 1 CP P	В	2.00	2.00	1.00
541329	Int Math I CP	А	5.00	2.00	1.00
541382	Int Math I CP	C-	2.00	2.00	1.00
531975	Int Math I CP	С	1.50	1.50	1.00
532041	Int Math I CP	D	2.50	1.50	1.00
532259	Int Math I CP	А	5.00	1.50	1.00
532259	Int Math I CP	А	3.50	1.50	1.00
534399	Int Math I CP	B+	5.00	1.50	1.00
535073	Int Math I CP	С	1.50	1.50	1.00
540011	Int Math I CP	C-	1.50	1.50	1.00
541031	Int Math I CP	D	1.50	1.50	1.00
541329	Int Math I CP	А	1.50	1.50	1.00
532041	Int Math I CP	С	1.00	1.00	1.00
532041	Int Math I S2	В	1.00	1.00	1.00
533095	Int Math I CP	A-	1.00	1.00	1.00

Masked ID					
Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
534368	Int Math I CP	В	1.00	1.00	1.00
534511	Int Math 1 CP P	В	5.00	1.00	1.00
534634	Int Math I CP	D-	1.00	1.00	1.00
535007	Int Math I CP	А	5.00	1.00	1.00
535073	Int Math I S1	D	1.00	1.00	1.00
535204	Int Math I CP	C-	1.00	1.00	1.00
535204	Int Math I CP	D	1.00	1.00	1.00
535204	Int Math I CP	С	5.00	1.00	1.00
541020	Int Math I CP	С	1.00	1.00	1.00
541031	Int Math I CP	С	1.00	1.00	1.00
541031	Int Math I CP	C-	1.00	1.00	1.00
541501	Int Math I CP	D-	1.00	1.00	1.00
541650	Int Math	D-	1.00	1.00	1.00
542572	Int Math I CP	С	1.00	1.00	1.00
542588	Int Math I CP	D-	1.00	1.00	1.00
448259	Int Math I CP	С	0.50	0.50	1.00
451413	Int Math I CP	В	0.50	0.50	1.00
531975	Int Math I CP	В	5.00	0.50	1.00
531975	Int Math I CP	С	3.50	0.50	1.00
533764	Int Math I CP	В	5.00	0.50	1.00
533764	Int Math I CP	В	1.00	0.50	1.00
541020	Int Math I CP	A-	0.50	0.50	1.00
541380	Int Math I CP	В	0.50	0.50	1.00
541380	Int Math I CP	B-	2.50	0.50	1.00
455760	Int Math I S2	F	0.00	0.00	1.00
530134	Int Math I CP	NM	0.00	0.00	1.00
532041	Int Math I CP	F	0.00	0.00	1.00
532041	Int Math I CP	F	0.00	0.00	1.00
532041	Int Math I CP	F	0.00	0.00	1.00

Masked ID Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
532907	Int Math I CP		10.00	0.00	1.00
533095	Int Math I CP	F	0.00	0.00	1.00
534368	Int Math I CP	F	0.00	0.00	1.00
534368	Int Math I CP	F	5.00	0.00	1.00
534368	Int Math I CP	F	5.00	0.00	1.00
534376	Int Math I CP	F	0.00	0.00	1.00
534376	Int Math I CP	F	0.00	0.00	1.00
534376	Int Math I CP	F	0.00	0.00	1.00
534376	Int Math I CP	F	0.00	0.00	1.00
534376	Int Math I CP	F	0.00	0.00	1.00
534634	Int Math I CP	F	5.00	0.00	1.00
535204	Int Math I CP	F	0.00	0.00	1.00
535351	Int Math I CP	F	5.00	0.00	1.00
541742	Int Math I CP	F	0.00	0.00	1.00
542380	Int Math I CP	F	5.00	0.00	1.00
542588	Int Math I CP	F	0.00	0.00	1.00
542898	Int Math I CP	F	0.00	0.00	1.00
543216	Int Math I CP	F	0.00	0.00	1.00

*Note.* Of the 277 student enrollments in the ACSD school year, 114 student enrollments took Algebra 1 related courses through ACSD. Student 533689 received a 2 on the performance level, which equates to the below proficient level.

## Student Records (2021 - 22)

Masked ID Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
130153	Int Math I CP	С	5.00	5.00	1.00
534373	Int Math I CP	C+	5.00	5.00	1.00
540621	Int Math I CP	С	5.00	5.00	1.00
541082	Int Math I CP	D	5.00	5.00	1.00
541672	Int Math I CP	D-	5.00	5.00	1.00
541672	Int Math I CP	D	5.00	5.00	1.00
542114	Int Math 1 CP P	C-	5.00	5.00	1.00
542434	Int Math 1 CP P	В	5.00	5.00	1.00
542634	Int Math I CP	D+	5.00	5.00	1.00
542678	Int Math 1 CP P	В	5.00	5.00	1.00
542958	Int Math I CP	D-	5.00	5.00	1.00
543179	Int Math I CP	B-	5.00	5.00	1.00
543199	Int Math I CP	С	5.00	5.00	1.00
543201	Int Math 1 CP P	В	5.00	5.00	1.00
543251	Int Math I CP	D+	5.00	5.00	1.00
543286	Int Math I CP	B-	5.00	5.00	1.00
543603	Int Math I CP	D	5.00	5.00	1.00
543603	Int Math I CP	B-	5.00	5.00	1.00
543815	Int Math I CP	C-	5.00	5.00	1.00
543815	Int Math I CP	С	5.00	5.00	1.00
544942	Int Math 1 CP P	В	5.00	5.00	1.00
545397	Int Math 1 CP P	С	5.00	5.00	1.00
545426	Int Math I CP	С	5.00	5.00	1.00
545496	Int Math I CP	С	5.00	5.00	1.00
546019	Int Math I CP	C-	5.00	5.00	1.00
546122	Int Math I CP	C+	5.00	5.00	1.00
546122	Int Math I CP	C+	5.00	5.00	1.00

Masked ID					
Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
546165	Int Math I CP	D	5.00	5.00	1.00
546165	Int Math I CP	C-	5.00	5.00	1.00
546436	Int Math I CP	C+	5.00	5.00	1.00
546446	Int Math I CP	A+	5.00	5.00	1.00
546528	Int Math I CP	С	5.00	5.00	1.00
546675	Int Math I CP	А	5.00	5.00	1.00
546785	Int Math I CP	А	5.00	5.00	1.00
546943	Int Math I CP	В	5.00	5.00	1.00
540621	Int Math I CP	B-	4.00	4.00	1.00
544380	Int Math I CP	C-	4.00	4.00	1.00
546055	Int Math I CP	С	3.75	3.75	1.00
130156	Int Math I CP	С	3.50	3.50	1.00
541858	Int Math I CP	C-	3.50	3.50	1.00
543179	Int Math I CP	А	5.00	3.50	1.00
543627	Int Math I CP	D	3.50	3.50	1.00
546171	Int Math I CP	C+	3.50	3.50	1.00
541082	Int Math I CP	С	3.00	3.00	1.00
541672	Int Math I CP	C-	3.00	3.00	1.00
542958	Int Math I CP	А	3.00	3.00	1.00
543286	Int Math I CP	A-	3.00	3.00	1.00
545911	Int Math I CP	С	3.00	3.00	1.00
130155	Int Math I CP	B+	2.75	2.75	1.00
534373	Int Math I CP	А	2.50	2.50	1.00
541858	Int Math I CP	С	3.50	2.50	1.00
543201	Int Math 1 CP P	А	2.50	2.50	1.00
543201	Int Math I CP	А	5.00	2.50	1.00
543286	Int Math I CP	С	2.50	2.50	1.00
543734	Int Math I CP	B+	5.00	2.50	1.00
543734	Int Math I CP	А	2.50	2.50	1.00

Masked ID					
Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
544964	Int Math I CP	B-	2.50	2.50	1.00
534373	Int Math I CP	В	2.25	2.25	1.00
534373	Int Math I CP	B-	2.00	2.00	1.00
543089	Int Math I CP	C-	2.00	2.00	1.00
543251	Int Math I CP	D-	2.00	2.00	1.00
545911	Int Math I CP	В	5.00	2.00	1.00
546139	Int Math I CP	A-	2.00	2.00	1.00
545598	Int Math I CP	А	5.00	1.75	1.00
545911	Int Math I CP	A-	1.75	1.75	1.00
545911	Int Math I CP	С	5.00	1.75	1.00
130153	Int Math I CP	А	1.50	1.50	1.00
130156	Int Math I CP	В	1.50	1.50	1.00
543179	Int Math I CP	А	1.50	1.50	1.00
543627	Int Math I CP	D-	1.50	1.50	1.00
545908	Int Math I CP	А	1.50	1.50	1.00
545911	Int Math I CP	А	5.00	1.50	1.00
546139	Int Math I CP	А	5.00	1.50	1.00
546171	Int Math I CP	C-	1.50	1.50	1.00
541858	Int Math I CP	B-	1.25	1.25	1.00
544964	Int Math I CP	A-	1.25	1.25	1.00
547122	Int Math I CP	А	1.25	1.25	1.00
130155	Int Math I CP	А	1.00	1.00	1.00
534373	Int Math I CP	D-	2.00	1.00	1.00
540621	Int Math I CP	D	1.00	1.00	1.00
541082	Int Math I CP	B+	5.00	1.00	1.00
541082	Int Math I CP	D	2.00	1.00	1.00
542634	Int Math I CP	D-	1.00	1.00	1.00
542958	Int Math I CP	А	1.00	1.00	1.00
543089	Int Math I CP	А	1.00	1.00	1.00

Masked ID					
Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
543199	Int Math I CP	D-	1.00	1.00	1.00
543251	Int Math I CP	С	1.00	1.00	1.00
543734	Int Math I CP	В	5.00	1.00	1.00
543734	Int Math I CP	C-	4.00	1.00	1.00
544380	Int Math I CP	A-	1.00	1.00	1.00
545289	Int Math 1 CP P	D	5.00	1.00	1.00
545598	Int Math I CP	A-	5.00	1.00	1.00
545598	Int Math I CP	A-	1.00	1.00	1.00
546055	Int Math I CP	А	5.00	1.00	1.00
546139	Int Math I CP	С	1.00	1.00	1.00
546987	Int Math I CP	A+	1.00	1.00	1.00
130155	Int Math I CP	С	0.75	0.75	1.00
541858	Int Math I CP	B-	0.75	0.75	1.00
543199	Int Math I CP	А	0.75	0.75	1.00
534373	Int Math I CP	А	0.50	0.50	1.00
541858	Int Math I CP	C-	1.00	0.50	1.00
541858	Int Math I CP	D	0.50	0.50	1.00
542114	Int Math I CP	А	5.00	0.50	1.00
543089	Int Math I CP	С	0.50	0.50	1.00
544380	Int Math I CP	D-	0.50	0.50	1.00
544380	Int Math I CP	А	0.50	0.50	1.00
544964	Int Math I CP	А	0.50	0.50	1.00
545289	Int Math 1 CP P	В	4.00	0.50	1.00
545496	Int Math I CP	D	0.50	0.50	1.00
545496	Int Math I CP	C-	0.50	0.50	1.00
534373	Int Math I CP	B-	0.25	0.25	1.00
534373	Int Math I CP	D	0.25	0.25	1.00
543251	Int Math I CP	А	0.25	0.25	1.00
546055	Int Math I CP	A-	5.00	0.25	1.00

Masked ID		M 1			
Number	Course Thie	Mark	Credit Attempted	Credit Completed	Performance Level
546139	Int Math I CP	А	0.25	0.25	1.00
547122	Int Math I CP	A+	0.25	0.25	1.00
541672	Int Math I CP	NC	0.00	0.00	1.00
541858	Int Math I CP	F	0.25	0.00	1.00
542634	Int Math I CP	Ι	0.00	0.00	1.00
543089	Int Math I CP	F	1.00	0.00	1.00
543089	Int Math I CP	F	1.50	0.00	1.00
543179	Int Math I CP	F	0.00	0.00	1.00
543199	Int Math I CP	F	1.00	0.00	1.00
543199	Int Math I CP	NM	1.00	0.00	1.00
543199	Int Math I CP	NM	0.50	0.00	1.00
543199	Int Math I CP	F	0.75	0.00	1.00
543603	Int Math I CP	F	0.00	0.00	1.00
543603	Int Math I CP	F	0.00	0.00	1.00
543627	Int Math I CP	F	0.50	0.00	1.00
543627	Int Math I CP	F	3.50	0.00	1.00
543627	Int Math I CP	F	2.50	0.00	1.00
543627	Int Math I CP	С	0.00	0.00	1.00
545496	Int Math I CP	F	0.25	0.00	1.00
546019	Int Math I CP	NM	5.00	0.00	1.00
546585	Int Math I CP	F	0.00	0.00	1.00

Note. Of the 257 student enrollments in the ACSD school year, 135 student enrollments took

Algebra 1 related courses through ACSD.

Student Records	(2022 -	23)
-----------------	---------	-----

Masked ID Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
544656	Int Math 1 CP P	B-	5	5	1
544656	Int Math 1 CP P	B-	5	5	1
544656	Int Math I CP	В	5	5	1
544656	Int Math I CP	В	5	5	1
545415	Int Math I CP	В	5	5	1
545415	Int Math I CP	В	5	5	1
545415	Int Math I CP	В	5	5	1
545415	Int Math I CP	В	5	5	1
546105	Int Math I CP	С	5	5	1
546105	Int Math I CP	С	5	5	1
545096	Int Math 1 CP P	А	3	3	1
545096	Int Math I CP	С	3	3	1
545096	Int Math I CP	C-	1	1	1
545600	Int Math I CP	С	4	1	1
545600	Int Math I CP	С	4	1	1
545600	Int Math I CP	С	4	1	1
546202	Int Math 1 CP P	А	1	1	1
543179	Int Math I CP	B-	5	5	1
545600	Int Math I CP	A-	5	5	1
545600	Int Math I CP	A-	5	5	1
545600	Int Math I CP	A-	5	5	1
546307	Int Math I CP	А	5	5	1
546307	Int Math I CP	А	5	5	1
546307	Int Math I CP	А	5	5	1
546307	Int Math I CP	А	5	5	1
547373	Int Math I CP	С	5	5	1
547373	Int Math I CP	С	5	5	1

Masked ID					
Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
545600	Int Math I CP	B-	4.5	4.5	1
545600	Int Math I CP	B-	4.5	4.5	1
545600	Int Math I CP	B-	4.5	4.5	1
547373	Int Math I CP	С	4	4	1
547373	Int Math I CP	С	4	4	1
543179	Int Math I CP	А	5	3.5	1
548310	Int Math I CP	С	5	2.5	1
548310	Int Math I CP	С	5	2.5	1
545672	Int Math I CP	С	2	2	1
545672	Int Math I CP	С	2	2	1
545672	Int Math I CP	С	2	2	1
547373	Int Math I CP	В	2	2	1
547373	Int Math I CP	В	2	2	1
547378	Int Math I CP	С	5	2	1
543179	Int Math I CP	А	1.5	1.5	1
547378	Int Math I CP	В	5	1.5	1
541307	Int Math I CP	С	1	1	1
541307	Int Math I CP	C-	1	1	1
541307	Int Math I CP	С	1	1	1
541307	Int Math I CP	C-	1	1	1
545672	Int Math I CP	В	1	1	1
545672	Int Math I CP	В	1	1	1
545672	Int Math I CP	В	1	1	1
546109	Int Math I CP	D	1	1	1
546109	Int Math I CP	D	1	1	1
546109	Int Math I CP	D	1	1	1
546109	Int Math I CP	D	1	1	1
547373	Int Math I CP	С	1	1	1
547373	Int Math I CP	С	1	1	1

Masked ID					
Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
549054	Int Math I CP	С	1	1	1
549054	Int Math I CP	С	1	1	1
545600	Int Math I CP	В	0.5	0.5	1
545600	Int Math I CP	В	0.5	0.5	1
545600	Int Math I CP	В	0.5	0.5	1
547378	Int Math I CP	С	5	0.5	1
549046	Int Math I CP	D	0.5	0.5	1
549046	Int Math I CP	D	0.5	0.5	1
546307	Int Math I CP	D	5	0.25	1
546307	Int Math I CP	D	5	0.25	1
546307	Int Math I CP	D	5	0.25	1
546307	Int Math I CP	D	5	0.25	1
541690	Int Math I CP	А	5	5	1
541690	Int Math I CP	А	5	5	1
543454	Int Math I CP	C-	4.5	4.5	1
543454	Int Math I CP	C-	4.5	4.5	1
547402	Int Math I CP	А	3	3	1
545672	Int Math I CP	С	2.5	2.5	1
545672	Int Math I CP	С	2.5	2.5	1
545672	Int Math I CP	С	2.5	2.5	1
546429	Int Math I CP	C+	2.5	2.5	1
546429	Int Math I CP	C+	2.5	2.5	1
546958	Int Math I CP	В	2.5	2.5	1
546958	Int Math I CP	В	2.5	2.5	1
546958	Int Math I CP	В	2.5	2.5	1
543839	Int Math I CP	В	2.25	2.25	1
543839	Int Math I CP	В	2.25	2.25	1
543839	Int Math I CP	В	2.25	2.25	1
546307	Int Math I CP	В	2	2	1

Masked ID					
Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
546307	Int Math I CP	В	2	2	1
546307	Int Math I CP	В	2	2	1
546307	Int Math I CP	В	2	2	1
547156	Int Math I CP	B+	5	2	1
547156	Int Math I CP	B+	5	2	1
547402	Int Math I CP	C-	2	2	1
548493	Int Math I CP	С	2	2	1
548493	Int Math I CP	С	2	2	1
548493	Int Math I CP	С	2	2	1
549046	Int Math I CP	А	2	2	1
549046	Int Math I CP	А	2	2	1
546958	Int Math I CP	В	1.5	1.5	1
546958	Int Math I CP	В	1.5	1.5	1
546958	Int Math I CP	В	1.5	1.5	1
547122	Int Math I CP	А	1.5	1.5	1
547156	Int Math I CP	B+	1.5	1.5	1
547156	Int Math I CP	B+	1.5	1.5	1
541307	Int Math I CP	A-	1.25	1.25	1
541307	Int Math I CP	A-	1.25	1.25	1
541690	Int Math I CP	C-	1.25	1.25	1
541690	Int Math I CP	C-	1.25	1.25	1
544426	Int Math I CP	С	1.25	1.25	1
544426	Int Math I CP	С	1.25	1.25	1
547122	Int Math I CP	А	1.25	1.25	1
549013	Int Math I CP	C+	1.25	1.25	1
541307	Int Math I CP	D-	1	1	1
541307	Int Math I CP	С	3	1	1
541307	Int Math I CP	D-	1	1	1
541307	Int Math I CP	С	3	1	1

Masked ID					
Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
543454	Int Math I CP	B+	1	1	1
543454	Int Math I CP	B+	1	1	1
545672	Int Math I CP	С	1	1	1
545672	Int Math I CP	С	1	1	1
545672	Int Math I CP	С	1	1	1
546958	Int Math I CP	A+	1	1	1
546958	Int Math I CP	A+	1	1	1
546958	Int Math I CP	A+	1	1	1
547156	Int Math I CP	В	1	1	1
547156	Int Math I CP	В	1	1	1
547402	Int Math I CP	В	1	1	1
541690	Int Math I CP	В	0.75	0.75	1
541690	Int Math I CP	C+	0.75	0.75	1
541690	Int Math I CP	В	0.75	0.75	1
541690	Int Math I CP	C+	0.75	0.75	1
543454	Int Math I CP	D-	0.5	0.5	1
543454	Int Math I CP	D-	0.5	0.5	1
545672	Int Math I CP	D-	0.5	0.5	1
545672	Int Math I CP	D-	0.5	0.5	1
545672	Int Math I CP	D-	0.5	0.5	1
546429	Int Math I CP	B-	0.5	0.5	1
546429	Int Math I CP	B-	0.5	0.5	1
547026	Int Math I CP	A+	0.5	0.5	1
547026	Int Math I CP	A+	0.5	0.5	1
547026	Int Math I CP	A+	0.5	0.5	1
549013	Int Math I CP	А	0.5	0.5	1
541307	Int Math I CP	А	0.25	0.25	1
541307	Int Math I CP	С	0.25	0.25	1
541307	Int Math I CP	А	0.25	0.25	1

Masked ID					
Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
541307	Int Math I CP	С	0.25	0.25	1
543839	Int Math I CP	В	0.25	0.25	1
543839	Int Math I CP	В	0.25	0.25	1
543839	Int Math I CP	В	0.25	0.25	1
546307	Int Math I CP	С	0.25	0.25	1
546307	Int Math I CP	B-	0.25	0.25	1
546307	Int Math I CP	В	0.25	0.25	1
546307	Int Math I CP	С	0.25	0.25	1
546307	Int Math I CP	B-	0.25	0.25	1
546307	Int Math I CP	В	0.25	0.25	1
546307	Int Math I CP	С	0.25	0.25	1
546307	Int Math I CP	B-	0.25	0.25	1
546307	Int Math I CP	В	0.25	0.25	1
546307	Int Math I CP	С	0.25	0.25	1
546307	Int Math I CP	B-	0.25	0.25	1
546307	Int Math I CP	В	0.25	0.25	1
547026	Int Math I CP	А	0.25	0.25	1
547026	Int Math I CP	А	0.25	0.25	1
547026	Int Math I CP	А	0.25	0.25	1
547122	Int Math I CP	A+	0.25	0.25	1
549054	Int Math I CP	С	0.25	0.25	1
549054	Int Math I CP	С	0.25	0.25	1
541307	Int Math I CP	F	0.75	0	1
541307	Int Math I CP	F	0.75	0	1
543454	Int Math I CP	F	1.5	0	1
543454	Int Math I CP	F	0.5	0	1
543454	Int Math I CP	F	0.5	0	1
543454	Int Math I CP	F	1	0	1
543454	Int Math I CP	F	5	0	1

Masked ID					
Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
543454	Int Math I CP	F	1.5	0	1
543454	Int Math I CP	F	0.5	0	1
543454	Int Math I CP	F	0.5	0	1
543454	Int Math I CP	F	1	0	1
543454	Int Math I CP	F	5	0	1
548317	Int Math I CP	C-	5	5	1
548317	Int Math I CP	C-	5	5	1
547156	Int Math I CP	С	4.57	4.57	1
547156	Int Math I CP	С	4.57	4.57	1
543454	Int Math I CP	С	4	4	1
543454	Int Math I CP	С	4	4	1
541690	Int Math I CP	С	3.75	3.75	1
541690	Int Math I CP	С	3.75	3.75	1
543839	Int Math I CP	С	2.5	2.5	1
543839	Int Math I CP	С	2.5	2.5	1
543839	Int Math I CP	С	2.5	2.5	1
541307	Int Math I CP	С	4.25	2.25	1
541307	Int Math I CP	С	4.25	2.25	1
543454	Int Math I CP	С	5	2	1
543454	Int Math I CP	С	5	2	1
546958	Int Math I CP	В	3.5	2	1
546958	Int Math I CP	В	3.5	2	1
546958	Int Math I CP	В	3.5	2	1
546958	Int Math I CP	В	1.5	1.5	1
546958	Int Math I CP	В	1.5	1.5	1
546958	Int Math I CP	В	1.5	1.5	1
543839	Int Math I CP	В	5	1	1
543839	Int Math I CP	В	5	1	1
543839	Int Math I CP	В	5	1	1

Masked ID	Course Title	Moult	Cradit Attornated	Credit Completed	Dorformon og Laval
Number	Course The	Mark	Credit Attempted	Credit Completed	Performance Level
546109	Int Math I CP	С	2	1	1
546109	Int Math I CP	С	2	1	1
547156	Int Math I CP	С	0.5	0.5	1
547156	Int Math I CP	С	0.5	0.5	1
546585	Int Math I CP	D-	5	5	1
546171	Int Math I CP	C+	3.5	3.5	1
546171	Int Math I CP	C-	1.5	1.5	1
547254	Int Math I CP	D-	1	1	1
546171	Int Math I CP	F	0	0	1
546171	Int Math I CP	F	0	0	1
546585	Int Math I CP	F	0	0	1
548493	Int Math I CP	F	0	0	1
548493	Int Math I CP	F	0	0	1
548493	Int Math I CP	F	0	0	1
543815	Int Math I CP	C-	5	5	1
543815	Int Math I CP	С	5	5	1
543815	Int Math I CP	C-	5	5	1
543815	Int Math I CP	С	5	5	1
546157	Int Math I CP	В	5	5	1
546157	Int Math I CP	B-	5	5	1
546157	Int Math I CP	В	5	5	1
546157	Int Math I CP	B-	5	5	1
546157	Int Math I CP	В	5	5	1
546157	Int Math I CP	B-	5	5	1
546157	Int Math I CP	В	5	5	1
546157	Int Math I CP	B-	5	5	1
547196	Int Math I CP	B-	5	5	1
547196	Int Math I CP	C+	5	5	1
547198	Int Math I CP	С	5	5	1

Masked ID		N 1			
Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
547198	Int Math I CP	С	5	5	1
547198	Int Math I CP	С	5	5	1
547198	Int Math I CP	С	5	5	1
547198	Int Math I CP	С	5	5	1
547198	Int Math I CP	С	5	5	1
547199	Int Math I CP	С	5	5	1
547199	Int Math I CP	С	5	5	1
547199	Int Math I CP	С	5	5	1
547314	Int Math I CP	C-	5	5	1
547314	Int Math	F	0	0	1
548041	Int Math	В	0	0	1
548041	Int Math	В	0	0	1
546193	Int Math I CP	C+	5	5	1
546528	Int Math I CP	С	5	5	1
548765	Int Math I CP	D+	5	5	1
548765	Int Math I CP	D+	5	5	1
546193	Int Math I CP	C+	5	1	1
546193	Int Math I CP	F	3	0	1
546193	Int Math I CP	F	5	0	1
546193	Int Math I CP	F	5	0	1
546528	Int Math I CP	F	3	0	1
547199	Int Math I CP	В	5	5	1
547199	Int Math I CP	В	5	5	1
547199	Int Math I CP	В	5	5	1
547198	Int Math I CP	В	2.5	2.5	1
547198	Int Math I CP	В	2.5	2.5	1
547198	Int Math I CP	В	2.5	2.5	1
547198	Int Math I CP	В	2.5	2.5	1
547198	Int Math I CP	В	2.5	2.5	1

Masked ID					
Number	Course little	Mark	Credit Attempted	Credit Completed	Performance Level
547198	Int Math I CP	В	2.5	2.5	1
547199	Int Math I CP	B+	2.5	2.5	1
547199	Int Math I CP	B+	2.5	2.5	1
547199	Int Math I CP	B+	2.5	2.5	1
547998	Int Math I CP	C+	2.5	2.5	1
547998	Int Math I CP	C+	2.5	2.5	1
547998	Int Math I CP	C+	2.5	2.5	1
547998	Int Math I CP	C+	2.5	2.5	1
546157	Int Math I CP	A-	5	5	1
546157	Int Math I CP	C-	5	5	1
546157	Int Math I CP	A-	5	5	1
546157	Int Math I CP	C-	5	5	1
546157	Int Math I CP	A-	5	5	1
546157	Int Math I CP	C-	5	5	1
546157	Int Math I CP	A-	5	5	1
546157	Int Math I CP	C-	5	5	1
546785	Int Math I CP	А	5	5	1
546785	Int Math I CP	А	5	5	1
547026	Int Math I CP	С	5	5	1
547026	Int Math I CP	D	5	5	1
547026	Int Math I CP	С	5	5	1
547026	Int Math I CP	D	5	5	1
547026	Int Math I CP	С	5	5	1
547026	Int Math I CP	D	5	5	1
547030	Int Math I CP	B-	5	5	1
547030	Int Math I CP	D	5	5	1
547030	Int Math I CP	B-	5	5	1
547030	Int Math I CP	D	5	5	1
547030	Int Math I CP	B-	5	5	1

Masked ID	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
Number		mark	Creat I thempted	erean compreted	
547030	Int Math I CP	D	5	5	1
548490	Int Math I CP	С	2	2	1
543179	Int Math I CP	F	0	0	1
546109	Int Math I CP	F	0	0	1
546109	Int Math I CP	F	0	0	1

Note. Of the 538 student enrollments in the ACSD school year, 293 student enrollments took

Algebra 1 related courses through ACSD.

Masked ID					
Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
543104	Int Math III CP	В	10.00	10.00	1.00
533689	Int Math II CP	А	5.00	5.00	2.00
534640	Int Math I CP	А	5.00	5.00	1.00
534640	Int Math I CP	А	5.00	5.00	1.00
546675	Int Math I CP	А	5.00	5.00	1.00
546785	Int Math I CP	А	5.00	5.00	1.00
534155	Integ Math II S	A-	5.00	5.00	1.00
546446	Int Math I CP	A+	5.00	5.00	1.00
406508	Int Math I S1	В	5.00	5.00	1.00
531884	Int Math I CP	В	5.00	5.00	1.00
533503	Int Math I CP	В	5.00	5.00	1.00
533689	Int Math I CP	В	5.00	5.00	2.00
535330	Int Math I CP	В	5.00	5.00	1.00
542434	Int Math 1 CP P	В	5.00	5.00	1.00
542652	Int Math I CP	В	5.00	5.00	1.00
542678	Int Math 1 CP P	В	5.00	5.00	1.00
543104	Int Math II CP	В	5.00	5.00	1.00
543201	Int Math 1 CP P	В	5.00	5.00	1.00
544942	Int Math 1 CP P	В	5.00	5.00	1.00
546943	Int Math I CP	В	5.00	5.00	1.00
544656	Int Math I CP	В	5	5	1
544656	Int Math I CP	В	5	5	1
545415	Int Math I CP	В	5	5	1
545415	Int Math I CP	В	5	5	1
545415	Int Math I CP	В	5	5	1
545415	Int Math I CP	В	5	5	1
533741	Int Math I S1	В-	5.00	5.00	1.00

Student Earning 10 Credits with Grade D- or Higher (2016-2023)

Masked ID					
Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
542834	Int Math I CP	B-	5.00	5.00	1.00
543179	Int Math I CP	B-	5.00	5.00	1.00
543286	Int Math I CP	B-	5.00	5.00	1.00
543603	Int Math I CP	B-	5.00	5.00	1.00
544656	Int Math 1 CP P	B-	5	5	1
544656	Int Math 1 CP P	B-	5	5	1
534155	Integ Math II S	B+	5.00	5.00	1.00
130153	Int Math I CP	С	5.00	5.00	1.00
451413	Int Math I CP	С	5.00	5.00	1.00
451968	Int Math I S1	С	5.00	5.00	1.00
531884	Int Math I CP	С	0.50	5.00	1.00
532167	Int Math I S2	С	5.00	5.00	1.00
532973	Int Math I S1	С	5.00	5.00	1.00
533608	Algebra 1 S1	С	5.00	5.00	1.00
533608	Algebra 1 S2	С	5.00	5.00	1.00
533866	Int Math I S1	С	5.00	5.00	1.00
535073	Int Math I CP	С	5.00	5.00	1.00
535229	Integ Math II S	С	5.00	5.00	1.00
540152	Int Math I CP	С	5.00	5.00	1.00
540369	Int Math I CP	С	5.00	5.00	1.00
540369	Int Math I CP	С	5.00	5.00	1.00
540621	Int Math I CP	С	5.00	5.00	1.00
541501	Int Math I CP	С	5.00	5.00	1.00
541650	Int Math I CP	С	5.00	5.00	1.00
543104	Int Math II CP	С	5.00	5.00	1.00
543162	Int Math II CP	С	5.00	5.00	1.00
543199	Int Math I CP	С	5.00	5.00	1.00
543815	Int Math I CP	С	5.00	5.00	1.00

Masked ID					
Number	Course Title	Mark	Credit Attempted	Credit Completed	Performance Level
545397	Int Math 1 CP P	С	5.00	5.00	1.00
545426	Int Math I CP	С	5.00	5.00	1.00
545496	Int Math I CP	С	5.00	5.00	1.00
546528	Int Math I CP	С	5.00	5.00	1.00
546105	Int Math I CP	С	5	5	1
546105	Int Math I CP	С	5	5	1
531493	Int Math I CP	C-	5.00	5.00	1.00
542114	Int Math 1 CP P	C-	5.00	5.00	1.00
543815	Int Math I CP	C-	5.00	5.00	1.00
546019	Int Math I CP	C-	5.00	5.00	1.00
546165	Int Math I CP	C-	5.00	5.00	1.00
533903	Int Math I S2	C+	5.00	5.00	1.00
534373	Int Math I CP	C+	5.00	5.00	1.00
546122	Int Math I CP	C+	5.00	5.00	1.00
546122	Int Math I CP	C+	5.00	5.00	1.00
546436	Int Math I CP	C+	5.00	5.00	1.00
448259	Int Math I S1	D	5.00	5.00	1.00
455760	Int Math I CP	D	5.00	5.00	1.00
457340	Int Math I CP	D	5.00	5.00	1.00
531493	Int Math I S2	D	5.00	5.00	1.00
531650	Int Math I S1	D	5.00	5.00	1.00
533503	Int Math I CP	D	5.00	5.00	1.00
534333	Integ Math II S	D	5.00	5.00	1.00
534926	Int Math 1 CP P	D	5.00	5.00	1.00
534926	Int Math I S1	D	5.00	5.00	1.00
535092	Int Math I CP	D	5.00	5.00	1.00
535092	Int Math I CP	D	5.00	5.00	1.00
535197	Int Math I CP	D	5.00	5.00	1.00

Masked ID	Course Title	Maala	Condite Attenueted	Credit Completed	Deuferman es Level
Number	Course Thie	магк	Credit Attempted	Credit Completed	Performance Level
535351	Int Math I CP	D	5.00	5.00	1.00
540132	Int Math 1 CP P	D	5.00	5.00	1.00
541082	Int Math I CP	D	5.00	5.00	1.00
541501	Int Math I CP	D	5.00	5.00	1.00
541650	Int Math I CP	D	5.00	5.00	1.00
541672	Int Math I CP	D	5.00	5.00	1.00
543603	Int Math I CP	D	5.00	5.00	1.00
546165	Int Math I CP	D	5.00	5.00	1.00
534634	Int Math I CP	D-	1.00	5.00	1.00
534756	Int Math I CP	D-	5.00	5.00	1.00
535092	Int Math I CP	D-	5.00	5.00	1.00
541672	Int Math I CP	D-	5.00	5.00	1.00
542459	Int Math I CP	D-	5.00	5.00	1.00
542958	Int Math I CP	D-	5.00	5.00	1.00
542634	Int Math I CP	D+	5.00	5.00	1.00
543251	Int Math I CP	D+	5.00	5.00	1.00
532200	Int Math I S1	NM	5.00	5.00	1.00

*Note.* Of the 358 student enrollments in the ACSD from the 2016-17, 2017-18, 2018-2019, 2021-22, and 2022-23 school years, 100 student enrollments earned 10 credits (a full year of Algebra 1 instruction) and earned a grade of D- or higher, which equates to meeting the CA high algebra graduation requirement. Among these students, only one student scored a two, which equates to the "nearly met" level on the CAASPP math assessment.

# Appendix O

# Themes and Sub-Themes (Table 11)

Themes & Subthemes

Theme	Subtheme	Subtheme	
Curriculum	Teachers' content	Pedagogical knowledge	
Instruction and Technology	Differentiating instruction	Personalizing instruction	
The IFD Designation	Dyscalculia	Modifications and	
The IEF Designation	Dyscalculta	Accommodations	

#### **Appendix P**

#### **Final Report to ACSD**

D. Sung Choe Phone: 949-783-8988 Email: dschoe@liberty.edu

Executive Director	
Alternative Education	Division
	-

Dear Dr.

As part of my agreement with **and and a second seco** 

The Executive Summary follows on the next pages.

Again, thank you for your support and leadership. If there is any way I can support RCOE to address the curricular and pedagogical recommendations from this dissertation's research, please do not hesitate to contact me.

**D. Sung Choe** Doctoral Candidate Liberty University DATE

cc:

# **EXECUTIVE SUMMARY**

#### **Introduction/Title of Research**

Title: Educators' Perceptions for Low Performance on Mathematics State Assessment Among High School Algebra Students with Learning Disabilities in an Alternative Education Program in California.

The problem is that high school algebra students with LD in AE programs perform below or far below basic levels on the California State mathematics standards test despite receiving passing grades in the related algebra course.

The purpose of this case study was to understand educators' perceptions regarding factors that influence high-school algebra students with LD in an AE setting to score below and far below basic proficiency levels on the California math standards test despite receiving credit for the algebra course. These performance levels are referred to as Level 1 (Standard Not Met) and Level 2 (Standard Nearly Met).

#### **Central Research Question**

The central research question of this case study was: What are educators' perspectives on possible explanations for the low performance on mathematics state assessments among high school algebra students with learning disabilities in AE settings despite receiving graduation credit for Algebra 1?

#### Methodology

The methodology used was an intrinsic case study approach employing a survey, individual interviews, and student archival records. No students or their family members were contacted. All identifying information was masked to ensure confidentiality. From a participant pool of 60 teachers and administrators, 14 responded to a screening questionnaire. Of the 14 respondents, 11 completed the survey, and 10 participated in the interviews. The IT department provided student data. All student identification information was masked; the IT department assigned the students random numbers. Student archival records of semester math grades and their math state assessment scores were provided from the 2016-17 school year to the present. No information was available for the 2020-21 school year due to COVID-10 restrictions. Of the 1288 student enrollments in Algebra 1 and corresponding math courses, 641 students received directed instruction from RCOE teachers. Student data was delimited based on five credits earned out of five credits attempted, earning a grade of D- or higher.

#### **Findings**

The findings pronounced the theme of curriculum and instruction, emphasizing teachers' content and pedagogical knowledge and differentiating and personalizing instruction for students. Educators noted the importance and need for teacher training in foundational math concepts, instructional strategies, and the concept of dyscalculia. Educators noted the heavy reliance on technology (videos from Canvas and YouTube) to provide mathematics instruction to their students. Of the 641 student enrollments, only one student earned a Level 2 mark (standard nearly met) on the math portion of the CAASPP. All other students earned a Level 1 (standard not met). Compared to the previous CAST test, these rankings would be below proficiency (Level 2) and far below proficiency (Level 1).

#### Recommendations

The following recommendations are offered based on these findings.

- 1. Professional development should target teachers' content knowledge of foundational math topics.
- 2. Professional development should focus on the concepts of dyscalculia.
- 3. Teachers should be trained to appropriately use technology in their instructional practices related to math concepts.
- 4. Training should be provided for implementing appropriate scaffolded and differentiated mathematics instruction.

This page intentionally left blank.